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INTRODUCTION

ECO 347 - Development Economics | is a branch anBmics which
deals with the efficient allocation of scarce rases. Its major concern
Is the sustenance of economic growth over timetheroto improve the
standard of living of the masses that live in ptwvan developing
countries. In other to achieve this purpose, on¢hef main goals of
development economics is the formulation of pupbdicies designed to
bring about sustainable economic growth and dewedop. This Course
material has been prepared to facilitate an iigitit grasp of the subject
matter and would aid you in having a broad know&edeg problems
affecting the less-developed countries and somsailgessolutions to
these problems.

WHAT YOU WILL LEARN IN THIS COURSE

In this course, you will be introduced to the didicie of development
economics and you will be exposed to the basic nstaieding of the
concepts of development economics that are reldeaninderstanding
development problems of Less Developed Countri€&Xk). You will
be taught why these countries are poor, the dewedop and growth
theories designed by renowned economists and ithplications to the
LDC’s will also be taught and then you will learrovh best these
countries can achieve sustainable development.

COURSE CONTENT

This course will expose you to the structure andbj@ms of less-
developed countries (Nigeria inclusive) in the wlorlt builds on the
foundation of elementary Economics in understandaad life situations
faced by these countries and topics covered incltige concepts and
determinants of economic growth and developmentucsiral
diversities and common characteristics of Less-lxpexl Countries
(LDCs) and; the theories of growth and development.

COURSE AIMS

The aim of the course is to give a better undedstanof Development
Economics. The aims will be achieved by:

o introducing you to the basic concepts of econoneizetbpment
and growth

o teaching you what determines growth i.e. why sometries are
developed and others are not

o exposing you to the structural differences andihgic common

characteristics of the less-developed countries
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o bringing to your knowledge some growth and develepim
theories and models and how relevant they are éaking the
hold of poverty in the less- developed countries.

COURSE OBJECTIVES

To achieve the aims of this course, there are thasgectives which the
course is out to achieve, though there are setlgattives for each unit.
These objectives are included at the beginningwofig you should read
them before you start working through the unit. Yoay want to refer
to them during your study of the unit to check ayuryprogress. The
objectives serves as study guides, such that stwdeid know if he is
able to grasp the knowledge of each unit throughs#ts objectives

Below are the wider objectives of the course ashalew By meeting
these objectives you should have achieved the airtiee course.

On successful completion of the course you shoealdlde to:

. define the concept of economic growth and economic
development as scholarly established

o enumerate the importance of the study of econonuwi

o describe how economic growth is measured

o differentiate  between economic growth and economic
development

o explain why there can be growth without development

. list and explain the common characteristics ofléss-developed
countries

. mention and explain the differences between the-developed
countries

state the different indicators of underdevelopment

identify the obstacles to development

describe how sustainable development can be achieve

analyse Modern Economic growth

state some of the theories and models of growth and
development, and also know their applicability éindtations to

a country like Nigeria.

WORKING THROUGH THIS COURSE

You have to work through all the study units in dwurse. There are
four modules and sixteen study units in all. Tocassfully complete
this course, you are required to read the studisureferenced books
and other materials on the course. Each unit comtaelf-assessment
exercise. At some points in the course, you willrbéguired to submit
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assignments for assessment purposes. At the ethe cburse there is a
final examination. This course should take aboutvEgks to complete
and some components of the course are outlinedrutinde course

material subsection.

COURSE MATERIALS
Major components of the course are:

Course Guide

Study Units
Textbooks
Assignment File
Presentation Schedule

akrwNE

STUDY UNITS
The breakdown of the four modules and 16 studysiarié as follows:

Module 1  Concepts and Determinants of Economic Gwth and
Development

Unit 1 Concept of Economic Growth

Unit 2 Determinants of Growth

Unit 3 Concept of Economic Development
Unit 4 Sustainable Development

Module 2  Diversity in Structures and Common Charateristics of
Less- Developed Countries

Unit 1 The Less-Developed Countries

Unit 2 Common Characteristics and Strudtraersity of Less
developed Countries

Unit 3 Major Obstacles to Economic Devel@nin

Unit 4 Meaning and Characteristics of MadEconomic Growth

Module 3  Survey ofSome Selected heories of Economic
Development

Unit 1 Adam Smith’s Theory

Unit 2 W.W. Rostow’s Stages of Economic wito
Unit 3 The Marxian Theory

Unit 4 Lewis’s Theory of Unlimited Supplies Labour
Units Balanced and Unbalanced Growth Tiesor

vi
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Module 4 Some Economic Growth Models

Unit 1 Harrod-Domar Growth Model
Unit 2 The Solow Model
Unit 3 The New Endogenous Growth Theory

Each Study unit will take at least two hours, amdiniclude the
introduction, objective, main content, self-asse=#m exercise,
conclusion, summary and reference. Other areasebana the Tutor-
Marked Assessment (TMA) questions. Some of the-asd&ssment
exercise will necessitate discussion, brainstornang argument with
some of your colleagues. You are advised to do rsoorder to
understand and get acquainted with historical amdeat economic
events as well as notable periods and dates.

There are also textbooks under the reference dred @n-line and off-
line) resources for further reading. They are metmtgive you
additional information- if you can lay your hands any of them. You
are required to study the materials; practice #leassessment exercise
and tutor-marked assignment (TMA) questions foratgge and indepth
understanding of the course. By doing so, the dti#arning objectives
of the course would have been achieved.

TEXTBOOKS AND REFERENCES

Every unit contains a list of references and furtieading. Try to get as
many as possible of those textbooks and matersédl The textbooks
and materials are meant to deepen your knowledgbeotourse. The
following materials are recommended:

Agenor, P. & Montiel, P. J. (2008pevelopment Macroeconomid8™
ed.). Princeton: Princeton University Press.

Brundtland Report (1987)Towards Sustainable Development in Our
Commomn Future.Oxford University Press, Oxford United
Nations World Commission on Environment and Develept,
pp. 43 — 66.

Fashola, M. A. (2001)Macroeconomics Theory Highlights and Policy
Extensions for Less-Developed Economid® ed.). Lagos:
Concepts Publishers Ltd.

Friedman, J. (1972). General Theory of Polarisesgelpment. In: N.

M. Hansen (Ed.),Growth Centres in Regional Ecenomic
Development New York: The Free Press.

Vii
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Goldsteinin, J. S. (1985). “Basic Human Needs: Piateau Curve.”
World Development/ol. 13.

Haller, A. P. (2012). “Concepts of Economic Growtbhallenges of
Crisis and of Knowledge.” Economy Trans-disciplinary
Cognition,Vol. 15, issue 1/2012.

Hicks & Streeten (1979). “Indicators of Developmente Search for a
Basic Need, Yardstick, World DevelopménElsevier Vol.7(6).

Jhingan, M. L. (2007)The Economics of Development and Planning
(39" ed.). Delhii Vrinda Publicatons (P)  Ltd.

Kindleberger, C. P. (1965)Economic Developmeni2™ ed.). New
York: McGraw-Hill.

Nafziger, E. W. (2006)Economic Developmen(4™ ed.). New York:
Cambridge University Press.

Okun, B. & Richardson, R. W. (1962)Studies in Economic
Development. New York: Holt, Rinehart.

Olajide, O. T. (2004)Theories of Economic Development and Planning.
Lagos: Pumark Nigeria Ltd.

Rodney, W. (2009)How Europe Underdeveloped AfricAbuja: Panaf
Publishing Inc.

Romer, P. (2007)rom The Concise Encyclopedia of Economi2sR.
Henderson, (Ed.). Liberty Fund.
www.ecolib.org/library/Enc/Economic
Growth.Accessedn 9/9/2013

Simon, K. (1973). Modern Economic Growth: Findiragsl Reflections.
The American Economic Reviewol. 63, No. 3 (June, 1973).

http://www.sfu.ca/~dandolfa/Kuznets. Accessed en9/2013

Todaro, M. P. & Smith, S. C. (2008conomic Developmentd" ed.).
Boston: Addison Wesley.

Todaro, M. P. & Smith, S. C. (201Bconomic Developmen(t1 1" ed.).
England: Pearson Education Ltd.
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ASSIGNMENT FILE

In this file, you will find all the details of the&vork you must submit to
your tutor for marking. The marks you obtain frohese assignments
will count towards the final mark you obtain forighcourse. Further
information on assignments will be found in the i§asent File itself

and later in thiourse Guiden the section on assessment.

There are four assignments in this course. The dourse assignments
will cover:

Assignment 1 — All TMASs’ Question in Units 1 — 4 (dule 1)
Assignment 2 — All TMAS’ Question in Units 1 — 4 (dule 2)
Assignment 3 — All TMAS’ Question in Units 1 — 5 (dule 3)
Assignment 4 — All TMAS’ Question in Units 1 — 3 (dule 4)

PRESENTATION SCHEDULE

The Presentation Schedule included in your courgeemals gives you
the important dates for the completion of tutor-kear assignments and
attending tutorials. Remember, you are requiredsubmit all your
assignments by the due date. You should guard stgaifing behind in
your work.

ASSESSMENT

Your assessment will be based on tutor-marked as&gts (TMAS)
and a final examination which you will write at thed of the course.

In attempting the assignments, you are expectegppdy information,

knowledge and techniques gathered during the colliftee assignments
must be submitted to your tutor for formal Assessima accordance
with the deadlines stated in the Presentation Sdbednd the

Assignment File. The work you submit to your tutmr assessment will
count for 30% of your total course mark.

At the end of the course, you will need to sit forfinal written
examination of two hours’ duration. This examinatiwill count for
70% of your total course mark.

TUTOR-MARKED ASSIGNMENT (TMA)

Every unit contains at least one or two assignmefus are advised to
work through all the assignments and submit thema$sessment. Your
tutor will assess the assignments and select fduchwill constitute

the 30% of your final grade. The tutor-marked assignts may be

iX
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presented to you in a separate file. Just knowftiagvery unit there are
some tutor-marked assignments for you. It is imgraryyou do them and
submit for assessment.

When you have completed each assignment, sendgethter with a

TMA form, to your tutor. Make sure that each assignt reaches your
tutor on or before the deadline given in the Predem File. If for any

reason, you cannot complete your work on time, adniour tutor

before the assignment is due to discuss the pbssibi an extension.

Extension will not be granted after the due datéess there are
exceptional circumstances.

FINAL EXAMINATION AND GRADING

At the end of the course, you will write a finalaexination which will
constitute 70% of your final grade. In the examworatwhich shall last
for two hours, you will be requested to answerdhgeestions out of at
least five questions. All areas of the course bellassessed.

Revise the entire course material using the timevden finishing the
last unit in the module and that of sitting for fireal examination. You
might find it useful to review your self-assessmenercises, tutor-
marked assignments and comment on them beforextimieation. The
final examination covers information from all paofsthe course.

COURSE MARKING SCHEME

The table presented indicates the total marks ()@0RAcation.

Assignment Marks

Assignments (Best three assignmer@%
out of four that is marked)

Final Examination 70%

Total 100%

COURSE OVERVIEW

The Table presented below indicates the units, munalb weeks and
assignments to be taken by you to successfully tmpghe course,
ECO 347 - Development Economics |

Units | Title of Work Weeks'’s Assessment
Activities (end of unit)

Course Guide

Module 1  Concepts and Determinants of Economic i@wth and
Developmen

X
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1 Concepts of Economic Growth Week 1 Assignment|1

2 Determinants of Growth Week 2 Assignment L

3 Concept of EconomicWeek 3 Assignment 1
Development

4 Sustainable Development Week 3 | Assignment 1

Module 2 Diversity in Structures and Common Cheacteristics of
Less-Developed Countries

1 The Less-Developed Countriegs Week 4 Assignment 2

2 Common Characteristics antVeek 5 Assignment 2
Structural Diversity of Less
developed Countries

3 Major Obstacles to EconomidVeek 6 Assignment 2
Development
4 Meaning and Characteristics |0lVeek 7 Assignment 2

Modern Economic Growth

Module 3 A Survey of Some Selected Theories of Eaamic
Development

1 Adam Smith’s Theory Week 8 Assignment 3

2 W. W Rostow's Stages o0Week 9 Assignment 3
Economic Growth

3 The Marxian Theory Week 10 Assignment 8

4 Lewis’'s Theory of Unlimited Week 11 Assignment 3
Supplies of Labour

5 Balanced and Unbalancetveek 12 Assignment 3

Growth Theories

Module 4 Some Economic Growth Mode

1 Harrod-Domar Growth Model| Week 13 Assignment ¢
2 The Solow Model Week 14 Assignment 4
3 The New Endogenous GrowthVeek 15 Assignment 4
Theory
Total 15 weeks

HOW TO GET THE MOST FROM THIS COURSE

In distance learning the study units replace thgausity lecturer. This

is one of the great advantages of distance learyiog can read and
work through specially designed study materialgoair own pace and at
a time and place that suit you best. Think of itreading the lecture
instead of listening to a lecturer. In the same Wat a lecturer might
set you some reading to do, the study units tell yhen to read your
books or other material, and when to embark onudson with your

colleagues. Just as a lecturer might give you arlass exercise, your
study units provides exercises for you to do at@ppate points.

Xi
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Each of the study units follows a common formate Tinst item is an
introduction to the subject matter of the unit doav a particular unit is
integrated with the other units and the coursewbae. Next is a set of
learning objectives. These objectives let you kivalmat you should be
able to do by the time you have completed the wwu should use
these objectives to guide your study. When you Haushed the unit
you must go back and check whether you have adhithes objectives.
If you make a habit of doing this you will signidictly improve your
chances of passing the course and getting thegbesd.

The main body of the unit guides you through treuneed reading from
other sources. This will usually be either from ysat books or from a
reading section. Some units require you to undergakctical overview
of historical events. You will be directed when yoeed to embark on
discussion and guided through the tasks you must do

The purpose of the practical overview of some aertaistorical
economic issues are in twofold. First, it will enba your understanding
of the material in the unit. Second, it will givewy practical experience
and skills to evaluate economic arguments, and rstated the roles of
history in guiding current economic policies andalkes outside your
studies. In any event, most of the critical thirgkskills you will develop
during studying are applicable in normal workingagirce, so it is
important that you encounter them during your stsdi

Self-assessments are interspersed throughout itse and answers are
given at the end of the units. Working through éhessts will help you

to achieve the objectives of the unit and preparefpr the assignments
and the examination. You should do each self-assa#sexercises as
you come to it in the study unit. Also, ensure taster some major
historical dates and events during the courseuolystg the material.

The following is a practical strategy for workingrough the course. If
you run into any trouble, consult your tutor. Rerbemthat your tutor's
job is to help you. When you need help, don't hésito call and ask
your tutor to provide it.

Read this Course Guide thoroughly

Organise a study schedule. Refer to the "Coursevievé for more
details. Note the time you are expected to spendamh unit and how
the assignments relate to the units. Importantrmétion, e.g. details of
your tutorials, and the date of the first day of gemester is available
from study centre. You need to gather togethethallinformation in one
place, such as your dairy or a wall calendar. Wieatanethod you

Xii
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choose to use, you should decide on and write ur ypovn dates for
working breach unit.

Once you have created your own study scheduleyeiything you can
to stick to it. The major reason that studentsifaihat they get behind
with their course work. If you get into difficulsewith your schedule,
please let your tutor know before it is too lateHelp.

Turn to Unit 1 and read the introduction and thgcives for the unit.

Assemble the study materials. Information about twjtai need for a
unit is given in the "Overview' at the beginningezfch unit. You will
also need both the study unit you are working oth @ane of your set
books on your desk at the same time.

Work through the unit. The content of the unitlit¥®s been arranged
to provide a sequence for you to follow. As you kvtitrrough the unit
you will be instructed to read sections from yoet books or other
articles. Use the unit to guide your reading.

Up-to-date course information will be continuouslglivered to you at
the study centre.

Work before the relevant due date (about four wdeHere due dates),
get the Assignment File for the next required assignt. Keep in mind
that you will learn a lot by doing the assignmecasefully. They have
been designed to help you meet the objectives ef dburse and,
therefore, will help you pass the exam. Submitagignments no later
than the due date.

Review the objectives for each study unit to confithat you have
achieved them. If you feel unsure about any ofoiiectives, review the
study material or consult your tutor.

When you are confident that you have achieved gsusbjectives, you
can then start on the next unit. Proceed unit by thnough the course
and try to pace your study so that you keep yotioseschedule.

When you have submitted an assignment to your fietomarking do
not wait for it return “before starting on the nextits. Keep to your
schedule. When the assignment is returned, paycyplart attention to
your tutor's comments, both on the tutor-markedgassent form and
also written on the assignment. Consult your tagsoon as possible if
you have any questions or problems.

Xiii
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After completing the last unit, review the coursel grepare yourself
for the final examination. Check that you have agbd the unit

objectives (listed at the beginning of each unik) ¢he course objectives
(listed in this Course Guide).

FACILITATORS/TUTORS AND TUTORIALS

There are some hours of tutorials (2-hours sessmoesided in support
of this course. You will be notified of the datéisnes and location of
these tutorials. Together with the name and phameber of your tutor,
as soon as you are allocated a tutorial group.

Your tutor will mark and comment on your assignnsemieep a close
watch on your progress and on any difficulties waght encounter, and
provide assistance to you during the course. Yostmail your tutor-

marked assignments to your tutor well before the date (at least two
working days are required). They will be marked ymur tutor and

returned to you as soon as possible.

Do not hesitate to contact your tutor by telephaeail, or discussion
board if you need help. The following might be amtstances in which
you would find help necessary.

Contact your tutor if:

. you do not understand any part of the stuiiys or the assigned
reading

. you have difficulty with the self-assessmexercises

. you have a question or problem with an assigrim&ith your
tutor's comments on an assignment or with the goadif an
assignment.

You should try your best to attend the tutorialkisTis the only chance
to have face to face contact with your tutor anésk questions which
are answered instantly. You can raise any probleoowntered in the
course of your study. To gain the maximum benefinf course

tutorials, prepare a question list before attendivegm. You will learn a

lot from participating in discussions actively.

SUMMARY

ECO 347 — Development Economics | is a branch ah&mics which

deals with the efficient allocation of scarce rases. Its major concern
Is the sustenance of economic growth over timetheroto improve the
standard of living of the masses that live in ptwvan developing

Xiv
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countries. The course material has been preparedadilitate an
intelligent grasp of the subject matter and wouldl you in having a
broad knowledge on problems affecting the lessddgesl countries
and some possible solutions to these problems.

ECO 347 will be very useful to you in your academpursuit and will

help you to gain an in-depth knowledge of what tgwaent is all

about. On successful completion of the course, ymuld have

developed critical thinking skills for efficient dreffective discussion of
economic development issues. However, to gain dréob the course
please try to apply everything you learn in therseuto term paper
writing in other related courses. We wish you sssceith the course
and hope that you will find it both interesting amgeful.

XV
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MODULE 1 CONCEPTS AND DETERMINANTS OF
ECONOMIC GROWTH AND

DEVELOPMENT
Unit 1 Concept of Economic Growth
Unit 2 Determinants of Growth
Unit 3 Concept of Economic Development
Unit 4 Sustainable Development

UNIT 1 CONCEPT OF ECONOMIC GROWTH
CONTENTS

1.0 Introduction
2.0 Objectives
3.0 Main Content
3.1  What is Economic Growth?
3.2  Why Study Economic Growth?
3.3 Measurement of Economic Growth
3.4 Advantages and Disadvantages of Econonoavr
4.0 Conclusion
5.0 Summary
6.0  Tutor-Marked Assignment
7.0 References/Further Reading

1.0 INTRODUCTION

Economic growth is the sustainable increase intoked amount of the
goods and services (output) produced in an econovey time. Most
times, economic growth is used as a means of krgpwiow well a
country is doing because more output means mode, traore revenue
and more consumption. It is an indication of howy Bn economy is
growing, but this does not show how better it itigg. In this unit, the
concept of Economic growth will be properly expkdnto you, its
importance is analysed and you will also be tadgbtadvantages and
disadvantages of the concept.

20 OBJECTIVES

At the end of this unit, you should be able to:

o define the concept of economic growth as schokstablished
o enumerate the importance of the study of econonaieiip
o describe how economic growth is measured
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o state the advantages and disadvantages of ecogoomwith.
3.0 MAINCONTENT
3.1 What is Economic Growth?

Economic growth is a term that almost everyone least familiar with-
whether they have studied economics or not. Mosplgewho use the
term have a lean idea of what it means, but tocam@mist, it takes a
deeper and more concise meaning.

To an economist, economic growth is the sustaimexlease in the
National Income (NI) or the total output of all gisoand services
produced in an economy. It is an increase in tipacé of an economy
to produce goods and services, compared from onedpef time to
another.

Kuznets (1973), a Nobel laureate in economics,ndefia country’s
economic growth as “a long-term rise in capacitgupply increasingly
diverse economic goods to its population, this gngwcapacity based
on advancing technology and the institutional ardkological

adjustments that it demands”. This means that foreaonomy to
achieve growth there should be advancement in tdogny

accompanied by institutional and attitudinal adjests.

Economic growth according to Todaro and Smith (2086the steady
process by which the productive capacity of theneawy is increased
over time to bring about rising levels of nationatput and income.

Economic growth therefore occurs whenever peoge tasources and
efficiently rearrange them in ways that make themremproductive
overtime. It is the continuous improvement in tia@acity to satisfy the
demand for goods and services, resulting from asmwd production
scale, and improved productivity i.e. innovations products and
processes.

In sum, we can say economic growth means new ptsedonore outputs
and wider choice for consumers.

SELF-ASSESSMENT EXERCISE

In your own words, define economic growth.
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3.2 Why do we Study Economic Growth?

Growth is an important economic goal because itmadhere is more
material abundance brought about by efficient mansmt of scarce
resources. Growth therefore lessens the burdencafcisy in any
economy.

The study of economic growth provides learners viitith theoretical
and empirical understanding of how different fastoombine together
to provide the right framework for a country's long growth. We also
study economic growth to know how to use existirgsources
efficiently (avoiding costly waste) and invest iewnones.

The study of economic growth is important for gawaent/policy
makers to take necessary steps in formulating gr@nhancing policies
and to make amendments where it is necessary.

Economic growth provides a necessary, although sofficient
condition for the development of an economy - withgrowth, there
will be no development. So therefore, the studgrmiwvth is important
to understand how a country can achieve development

Since economic growth is largely about innovatiaich is also the
key to non-material progress in such areas as rikigomment, health,
and education, economic growth is not just stufbedhe sake of output
increase, but for a general progress in the economy

From the study of economic growth, we are tauglagply the different
economic growth theories (propounded by the dewslogountries) to
suit our own problems and interests.

SELF-ASSESSMENT EXERCISE

Give three reasons why you think economic growttukhbe studied.
3.3 Measurement of Economic Growth

How do we know whether an economy is growing or?ndhe basic
thing to do is to get the sum total of all the geaad services produced
within the economy in the current year and compiavath that of the
previous year.

The next question will then be- how can these prtglbe summed up
given the fact that they come in different weigaitsl dimensions? The
solution to this is to sum up based either on thearket prices in the
same currency or an indexing system which usesptage changes in

3
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physical outputs of the goods and services reldbve given base year.
In measuring economic growth, the most common nietised is the
Gross Domestic Product (GDP) or its related indicgtsuch as Gross
National Product (GNP) or Gross National Income (GNhich are
derived from the GDP calculation. The GDP is ddfiras the market
value of the goods and services produced by a pguand it is
calculated from a country's national accounts whtelte annual data on
incomes, expenditure and investment for each settiie economy.

There are three different ways of measuring GDP

. the income approach
. the value-added approach
. the expenditure approach

The income approach, as the name implies measu@ex® incomes,
the value-added approach measures the total valdedato the goods
and services at each step of production, and tpershkture approach
measures the expenditure on goods and servicdsedny, each of these
approaches should lead to the same result, soeifothitput of the
economy increases, incomes and expenditures shiocildase by the
same amount. The problem here however, is that wiseamgy market
prices to calculate GDP, inflation rates shouldcbasidered especially
for those countries that have high and persistarftaion rates like the
less developed countries.

In taking care of inflation, the GDP deflator iseds GDP deflator
measures the ratio of nominal GDP to the real nreasti GDP. The
formula for calculating the deflator is:

GDP deflator = Nominal GDP x 100
Real GDP

To get the real GDP, we adjust nominal GDP to s&t@unt of inflation
which would otherwise make growth rates appear niigher than they
really are, especially during periods of high itifla.

Real GDP = Nominal GDP x100
GDP Deflator

The nominal GDP is usually higher than the real Gig#Rause of price
changes. The work of the GDP deflator thereforgoisdeflate the
nominal GDP into a real measure i.e., it takesatidh out of GDP. The
real GDP is always given in terms of a base yedritis the value the
nominal GDP would have been if there was no prltanges from the
base year.

4
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Consider a numeric example: If nominal GDP is N 500,000, and real
GDP is N 240,000, then the GDP deflator will be,N500,000
/N250,000 X 100 =N200).

GDP Growth Rate Calculation (Arithmetic of Growth)
Hypothetical illustration (1)

If for example, the real GDP in Nigeria for 20090a2010 were N12.7
trillion and N13.1 trillion respectively, calculatee growth rate in the
economy.

Solution

GDP growth rat@(Y) =AY/Y = (¥ =Ye1) / Yo coeeieii i e,
1)

Where g(Y)= GDP growth rate ; Y amd¥ = GDP and change in GDP
respectively;

Y. =the value of the GDP in the current year ang previous year’s
GDP.

So subtracting the 2009 figure from the 2010 figuesults in a
difference of N 0 .4 trillion.

Divide this difference by the previous year's r&DP that is N 0.4
trillion by N12.7 trillion, which gives you an anaugrowth rate of
0.031.

It is conventional to multiply by 100 and expredse tresult in
percentage.

We can then say that the economy experienced atlgnate of 3% in
2010.

We could also wish to know the average annual gra#GDP during a
period of time say 5, 10 or even more years. Is ttase, we use a
compound interest kind of formula because growtlkusiulative like
the compound interest rate.

The formula is given as:Y; - (Yo + 0Yo = , Y
[ e) (2)

WhereY, - GDP in the Y year under study; ) GDP in the first year of
study and g is growth rate as in equation (1).
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Hypothetical illustration 2

Suppose for example we wish to calculate the aeeagwth rate of
output/national income (which off course can betggotfrom GDP
calculation) from 2000 to 2010 which is a periodLOfyears. Given that
GDP at 1990 constant price (1990 as the base igeb)4. 30 trillion in
year 2000 and N18.71 trillion in 2010. Calculate #@nnual average
growth rate for the period.

In calculating the annual average growth rate, goly need the first
and the last year’s rates.

Using the above formula to solve, we have:

Y= Yo(1+g)

18.71=14.30(1+dY

Where year 0 is 2000 and year t is 2010, whichtenayear period.
Therefore growth rate g = (18.71/14.38)1 = 0.027

So the annual GDP growth rate during the decaéeri%o.

The growth rate formula in this context can thuswigten as(Yy/Yo)
1)x100 =g

1

SELF-ASSESSMENT EXERCISE
List and explain the different ways economic growdim be measured.
3.3.1 Limitations of the GDP Method

Despite the fact that the GDP is the most widelgdusneans of
measuring economic growth, it has the followingitations:

1) Some Cash transactions that take place outsideecdraed
market places are not included in GDP statistias @ such the
actual value of growth cannot be ascertained.

2) Goods and services produced but not exchanged foreym
known as "nonmarket production”, are not measuretn
though they have value. For example, if you paouryhouse by
yourself, instead of allowing a professional tonpat, the value
of this service will not be included in GDP.

3) In calculating the real GDP, the GDP deflamused and since
the GDP deflator is based on estimates of inflatates, it will
be subject to statistical estimation errors.

4) The measure fails to take into consideratian ¢hanges in the
growth of population. If a rise in real growtheas accompanied
by a much faster rise in population growth, thka per capita
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GDP (GDP Divided by the number of people in the untoy)
would be very low and as such there will be no ecaio growth.

5) GDP figures do not take into consideration tbiect of
externalities e.g. noise pollution and industpallution.

Due to the above limitations, the index of prodoictmethod seems to
be more appropriate in measuring growth.

The index of production method is based on physagbut and not on
the prices of goods and services like the GDP &edefore it is not
affected by the fluctuation in prices of goods amdvices. This index
selects the major industries for growth analysid you could have for
example the index of industrial output, index ofiagitural output or a
composite index of agricultural and industrial autprhe index of each
industry is measured by the changes in the physcgbut in that
industry relative to a given base year.

SELF-ASSESSMENT EXERCISE

The GDP method is the most widely used means oSunagey economic
growth despite its limitations. Mention these liatibns

3.4 Advantages and Disadvantages of Economic Growth
Advantages of Economic Growth

1. Higher living standards - since growth means a sustainable
increase in the total utput of goods and servigeslyced in a
country, consumers are able to enjoy more goodssandces,
increased income and a general improvement ingigtandard.

2. Employment effects - growth stimulates more jobs in an
economy and this would address the issue of ungmyaot.
3. Lower Government borrowing - Economic growth boosts tax

revenues and provides the government with extra emaio
improve public services such as education and hesaie. It helps
to reduce government borrowing and makes it eafera
government to reduce the size of their budget defic

4. Environmental protection - growth can also help provide the
funds to protect the environment such as low-carheestment,
innovation/research and development, in the use of more
efficient and environmental friendly production pesses.
Countries with higher growth rates can afford theuly of
protecting the environment.
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Economic growth is a condition that all nationsidgeso achieve, but
when the growth rate becomes too rapid, it bringsua great costs,
some of which are listed below.

Disadvantages of Economic Growth

1. Working hours — sometimes there are fears that a fast-growing
economy places increasing demands on the hourspttle
work and can upset work-life balance

2. Environmental issues- a fast growing economy can put pressure
on the environment in terms of depletion of the -nemewable
natural resources, and damage caused by indiestoabmic
activities on the environment e.g. air, water aos@ pollutions.

3. Inequality- Not all of the benefits of economic growth areely
distributed. There could be a rise in national autput also
growing income and wealth inequality in the socidtigere could
also be regional differences in the distributionrigsing income
and spending.

4, Risk of inflation -if the economy grows too quickly there is the
danger of inflation as spending would likely groaster than
production. This means that the demand races aifahd ability
of the economy to supply goods and services. Peyduben take
advantage of this by raising prices of their goads services.

SELF-ASSESSMENT EXERCISE

List and explain three advantages and three disaagas of economic
growth.

4.0 CONCLUSION

Economic growth as we earlier on stated at thenpegg of this unit, is

the increase in the total amount of the goods ardices (output)

produced in an economy over time. Economic growtimgs about

innovation, increases output, raises income, cseatenployment

opportunity and when this growth is sustained,staedard of living of

the people will improve. However, a rapid growthterasshould be

avoided because it could lead to several problenongmwhich is

inflation. The knowledge of the concept of growthvery important

because it is through this knowledge that we ate &b calculate the
actual growth rate of an economy and then know wileaessary steps
policy makers can take to adjust growth ratesdesirable level.
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5.0 SUMMARY

In this first unit of our study, we studied the cept of growth, we went
ahead to look at reasons why we study growth and ihacould be

measured. We also got to know that economic groeh not just
advantages but also has disadvantages as well@acdneluded the unit
by saying that the knowledge of the concept of ghow good because it
will aid policy makers to be able to adjust growdte to a desirable
level.

6.0 TUTOR-MARKED ASSIGNMENT

1. Developing nations desire to achieve Economoevth. What are
the negative sides of a rapid economic growth?
2. The GDP method of measuring economic growtlighowidely

used has some limitations, mention and explain @pragriate
alternative method that can be used.
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1.0 INTRODUCTION

The process of economic growth is a highly comgilegnomenon and
is influenced by numerous and varied factors wrach grouped into
economic and non-economic factors. It is true #rateconomy needs
economic factors like capital, human resourcesuraatresources,
technology and enterprise to grow, but the non-esoa factors such as
political, social and cultural factors are alsoessml ingredients for
growth to take place.

Capital is a necessary but not a sufficient cooditior progress. The
supply of natural resources, the growth of scientiind technological
knowledge are all important in the growth processdzonomic growth
is not possible so long as social institutions,itpall conditions and
moral values in a nation do not encourage growththis section, we
will look at the economic and non- economic facttitat determine
growth.

20 OBJECTIVES

At the end of this unit, you should be able to:

o explain determinants of economic growth
o describe Economic factors that determine growth
. analyse non-economic factors that determine ecangrowth.

10
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3.0 MAIN CONTENT

3.1 Determinantsof Economic Growth

The determinants of economic growth are factors dha at work in an
economy that give rise to the expansion of produmctiapacity through
the fuller and more efficient utilisation of avdila production capacity.
Generally speaking, factors such as sound and atkedpirastructural
development, expansion of effective demand thraihghexpansion of
government fiscal policy and price stabilisatiosmydurable social order
for investment (especially security of lives andgerty) and appropriate
type and rate of capital formation, are all impottéor an economy to
grow. These factors can however be grouped andusied under
economic and non-economic factors like we havewbelo

SELF-ASSESSMENT EXERCISE

What is the meaning of the term determinants oheaac growth?
3.2 Economic Factors

The factors of production are regarded by econemést the main
economic factors that determine growth. The follayvare some of the
important economic factors which determine econagnawth.

Natural Resources

The principal factor affecting the development of @onomy is the
natural resources or land. In economics, “Landgeénerally taken to
include the land area and the quality of the $oikst wealth, good river
system, minerals and oil resources, good climatie, Feor economic
growth to take place, the existence of naturaluesss in abundance is
essential. A country deficient in natural resourceay not be in a
position to develop rapidly, as natural resourcesrecessary but not
sufficient condition for economic growth. The reasr this is that
having these resources is not what makes a natrow,gbut the
effective utilisation is what counts. In less deysd countries, natural
resources are unutilised, underutilised or missati, and this is one of
the reasons for their backwardness. Most developadtries do not just
depend on the mere availability of natural resosirtieey take necessary
steps to develop these resources through techialofgictors to make
them perform better.

A country considered to be poor in resources taaayd be considered
rich in resources at a future date not just becanese resources are
found, but possibly because new methods have lmegrd ffor the use of

11
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the old resources. Also a country without any kneesources can even
import raw materials and mineral resources froneotiountries and by
effectively using these resources, the country @&iminate the
deficiencies of their lack of natural resourcese Thain point to note
here is that with or without natural resources antxy can still grow.
Natural resources can only give rise to growth wtiexy are properly
exploited through improved techniques so that wastminimised as
much as possible and they could be utilised fangér time.

Capital Formation

One other major factor for development of an econdm Capital
formation. Capital can be defined as the stockhyfsical reproducible
factors of production, and capital formation is thée of investment in
both physical and human capital in an economy. Tagain, Capital
accumulation is the net additions or amassing pitabhstock and for
any economy to grow, it needs to increase/amassafigal stock both
physical and human capital.

Since capital formation is giving up a portion oéalth now by way of
investing, so as to reap better rewards in futthve rate at which this is
done and increased upon will determine the growitthe economy.
Capital formation starts with savings and a courttrgt has a low
propensity to save (like the less developed coesitrivould find it
difficult to increase its stock of capital.

The low rate of savings in less developed counigsedue to low per
capita income of the people, which may not be thiseerely by

voluntary savings. For the rate of per capita gwito be increased in
such a situation, emphasis would have to be placetbrced savings
which will reduce consumption and thereby releasang)s for capital

formation.

Forced savings can be possible through the impl&atien of a proper
fiscal policy. In this regard, taxation, deficitnéincing and public
borrowings are better instruments in the handshef $tate to collect
savings and accumulate capital. In addition to d@hethe external
resources like foreign loans and grants, and laegports can also help
these economies in capital formation.

The capital formation is key to economic growthpessally in less
developed economies.

It is capital formation that leads to technologicptogress and

technological progress in turn leads to speciaisadnd the economies
of large-scale production. It is from capital fotioa we have

12
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equipments, machines and tools and equipmenthiéoever increasing
labour force and it is also capital formation thehds to effective
exploitation of natural resources, industrial grovand expansion of
markets in an economy.

Division of Labour and Scale of production

Division of labour is the breaking down of a wonlogess into different
number of tasks, with each task performed by arsgpaerson or group
of persons. Breaking down work into simple, repetittasks brings
about specialisation because by doing a partidalsk over and over
again one becomes perfect in it (practice makeeq@@r With division

of labour and specialisation, there is a reductiorproduction time,

productivity rises and then there is also the athga of lower

production costs and a less expensive final prodigcta result of
economies of large-scale production which furthelp& in industrial

development. However, division of labour dependstlton size of the
market and the size of the market depends on thel & economic

progress (general level of production, means afsjrartation, size of
demand etc).

When there is an improvement in modern means ofspartation,
communication and power, the markets (both domestid foreign)
would be expanded. Expanded markets means an secirascale of
production and this means greater specialisati@hdawvision of labour.
Therefore for less developed countries to growrethghould expand
their markets through the adoption of modern meaingansport and
communications so that division of labour and sgateduction can be
achieved.

Organisation

Organisation is an important factor for successaiy organisation
because it involves the optimum use of factors addpction in
economic activities. Organisation increases thalycbvity of capital
and labour, and the person in charge of ensuriagthiese two factors of
production are effectively and efficiently usedhs entrepreneur.

An Entrepreneur is the brain behind the successarof business
enterprise and this makes him/her an importanpfactcessary for the
overall economic growth. He/she possesses thetyalidi recognise
opportunities for successful introduction of newneoodities, new
techniques, and new sources of supply, and to ddeeifme necessary
plants and equipments, management and labour &mderganise them
into a growing concern which gives rise to indudisation.

13
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Industrialisation leads to economic growth and stdalisation cannot
take place without the organisational skills of émrepreneurs. For the
less developed countries to achieve growth theylghoreate the right
environment to encourage entrepreneurship anccémnsbe achieved by
improving the financial, legal, social, researcld draining institutions
and also improving the infrastructural facilitiesadable in the country.

Technological Progress

The technological changes are the most essenttdrfain the process
of economic growth, because even capital accunomlas not possible
without technical progress. Technical progress Ive® changing the
methods of production as a result of new technigofesesearch or
innovation. Put simply, it is the research into tlee of new and better
methods of production or the improvement of the mkthods. The use
of new techniques and innovation in production dpraibout significant
increase in productivity and also in per capitaome. Technological
progress therefore increases the ability to get aaeneffective and
rewarding use of natural and other resources fareasing production.
For Less Developed Countries (LDCs) to grow rapidlyhe short run,
they need to import modern technology from the aded countries
because they cannot wait until they themselvesnnee modify the
technology of advanced countries. But they sholdd &y to develop
technology that would suit their own economy in libreg run.

Structural Changes

This involves the transformation of traditional iagitural society to a
modern industrial economy through the radical andnscious
transformation of existing institutions, sociaitaties, and motivations.

Most LDCs have a very large primary sector whichthe basic
production sector comprising of activities such fasming, forestry,
fishing and mining and very small secondary antiamr sectors which
are characterised by the processing of raw maseanatl rendering of
services respectively. These LDCs have a large ootiop of their
population than is really required working in thgriaultural sector and
as a result, the sector is characterised by suralsur with zero
Marginal Physical Product of Labour (MPPL).

Structural change in these economies would have tm the form of a
transfer of population from the primary sectorhe secondary and then
to tertiary sectors and this would bring about @uation in the number
of people depending on agriculture as a sourcengbl@/ment and
income.

14
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The secondary and tertiary sectors would improveicalgural
production (by producing better tools and machir@sil this would
increase agricultural earnings, rural demand fersamer goods would
also rise and the industrial sector will also expas a result of this
chain reaction.

In summary, Structural changes would lead to irgirepemployment
opportunities, higher labour productivity, expldited of new resources
and improved technology. In LDCs the agriculturel amdustry sectors
are supposed to complement each other for overalvth to be

achieved.

SELF-ASSESSMENT EXERCISE

List and explain three economic factors that deteeneconomic growth
in an economy.

3.3 Non-Economic Factors

Growth in an economy does not depend solely onaltendance of
enough resources nor is it solely an economic pinenon. Economic
growth occurs as a result of economic and non-eoandactors. The
economic factors mentioned above and non-econoaatifs such as
social, cultural, psychological, human, politicahda administrative
factors are supposed to waokri passufor the growth of any economy.
In this section, we will discuss some of the esaéntoneconomic
factors which determine the economic growth of eanemy.

Political and Administrative Factors

Political stability and strong administration amsential and helpful in
modern economic growth. It is because of polit&@lbility and strong
administration that countries like the U.K. the IAS Germany, France
and Japan have reached their current level of bigheonomic growth
in the world since the 19th century. Most less tlgwed countries are
characterised by weak administrative and politstalictures and that is
why they have remained backwards as far as gravtbncerned.

The behavior of government plays an important nolereating the right
environment for business development. The grealer freedom

allowed, the more entrepreneurship will prosperchigcal progress,
factors mobility and large size of market are intaot factors that can
stimulate growth but in a situation where therpaétical instability and

high rate of corruption, there will be no growtto,Sor growth to be
achieved, the government must provide the righdafisnd monetary
policies and also, an enabling environment for iesses to succeed.

15
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Social and Psychological Factors

Modern economic growth process has been influernmedocial and

psychological factors. The growth of most developmmlintry was

brought about by their values, Social attitudes| gpes of institutions
they operate. The LDC’s, on the other hand are schnenveloped and
guided by traditional customs, outdated ideologesl values, and
obsolete attitudes that are not conducive for tleeionomic growth.

Thus, there is need to change or modify these lsanth psychological
factors for the rapid economic growth in these ¢oes. Modification

here would have to take the form of rationalitytioughts and actions
through a deliberate cultivation of scientific fattle and application of
modern technology in order to increase productjvitgise living

standards, and bring about social and economidisgtian.

Human Factor

Economic growth depends on the quality of the hunesources of the
economy and not the quantity. The quality in thasitext means their
efficiency in handling the other resources at tliegposal for growth
purpose. This quality is acquired through the iase=in the skills,
knowledge and capacities of all people of the aguahd this process is
called human capital formation.

A country with a high rate of skilled, knowledgealaind healthy people
is bound to achieve growth through their abilityetgloit, develop, and
utilise scarce resources.

It is the educated and trained labour force witghhproductivity
efficiency that can lead an economy to rapid growtBC’s should
therefore seek to increase the size of its skfilechan resources. This is
especially important to these economies becaugsehthee the quantity
(huge population) and investing in them to imprdieir skills and
knowledge would go a long way in making their eaores grow.

SELF-ASSESSMENT EXERCISE

What are the non-economic factors determining econgrowth?

40 SUMMARY

In this unit, you have been introduced to the wssiaeterminants of
economic growth. You have also been made to knoat these

determinants are grouped into two broad heading&chwlare the
economic and the non-economic factors of growtlemenants.
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It has been clearly stated to you that althoughett@nomic factors are
very important for any country to achieve growthithout the non-
economic factors the whole growth process cannotdigeved. So
therefore both factors are very important in thengh process.

5.0 CONCLUSION

In this unit, you realised that the economic and-aoonomic factors are
both very important factors in determining growthaamation with none
of them being more superior to the other as regatdgree of
importance. While it may be true that capital fotio natural

resources and technological progress are majoor&athat can expand
the output of an economy rapidly, without politicstiability, skilled

manpower and sound social values, all resourcesedetowards
achieving growth would go to waste because you reeited man

power with sound social values to effectively arfliciently utilise

scarce resources in a stable and business friengdiyonment.

6.0 TUTOR-MARKED ASSIGNMENT
1. List and explain six determinants of growth-threereunder the
two broad factors.

2. Out of the two broad factors, which is the most amant
determinant of growth? Explain.
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1.0 INTRODUCTION

Economic development can be said to be the sublaimacrease in the
total or average outputs of all goods and serviteduced in a country,
accompanied by desirable social and institutiohahges. This is to say
that development is growth accompanied by certasirdble changes.
For any economy to develop, it has to experiencaswable growth
which is a necessary but not a sufficient conditidime desirable
changes which lead to the overall improvement enliting conditions
of the citizens in a country are numerous and @reythe reasons why
we can have growth without development.

In this unit, we would be looking at the varioudidéons of economic
development, the objects will be studied, we wotllen go ahead to

discuss obstacles to economic development andyfiyau would be
taught the concept of growth without development.

20 OBJECTIVES

At the end of this unit, you should be able to:

o define and understand the meaning of economic dprrednt
. identify the objectives of development
o explain the concept of growth without development.
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3.0 MAIN CONTENT
3.1 Meaning of Economic Development

Economic development in traditional terms can bens¢éo mean

achieving sustainable rates of growth of income gaguita to enable a
nation expand its output at a rate faster than ghmwvth rate of

population. The level and rates of the real peritaagross national
income (GNI adjusted for inflation) are then usedrteasure the overall
economic well-being of the citizens of a nationisTiaditional view of

economic development is narrow in the sense thdbéss not directly
take into consideration the inequality in incomstlbution, the rate of
widespread poverty and the rate of unemploymentha economy.

Modern Economist are of the opinion that of what issthe increase in
per capita income when there is little or no im@noent (and even
decline) in employment level, equality and realoime per capita. As a
result of these observations, during the 1970’sctivecept of economic
development came to be redefined in terms of réslucr elimination

of poverty, inequality and unemployment.

With these factors missed out by the traditiondinteon or view of
economics at the back of their minds, modern ecastsmeasoned that
development must therefore be conceived as a nméitsional process
involving major changes in social structures, paputtitudes, and
national institutions as well as the acceleratibeapnomic growth, the
reduction of inequality, and the eradication of g@ay. In defining
Development therefore, the whole process of ddsiraihange in
addition to economic growth must be present. Hawrpglained what
development is, we can now proceed to define time.te

SELF-ASSESSMENT EXERCISE

Explain the traditional and modern views of econodevelopment.

3.2 Definitions of Economic Development

Economic development is sometimes taken to meantgrd he truth is

that they both have different meanings, wattonomic growth having a
narrower concept than economic development. We hheady defined

growth in our first unit as the sustainable incessthe total amount of
the goods and services (output) produced in anagogrover time.

What is Economic Development?

Economic development has been defined in diffeneats and as such,
it is difficult to choose any single definition vdii may be regarded as
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entirely satisfactory. However, below are a few thke different

definitions of economic development. Jhingan (200efines

development as economic growth plus change. Thdoausees

development as being related to qualitative changesonomic wants,
goods, incentives, institutions, productivity andowledge or upward
movement of the entire social system. This debnitsees development
as growth and qualitative changes in the entirdabaystem. This

means development brings about desirable changgsirtiprove the

lives of the people (ibid).

According to Kindleberger (1965), it implies bothora output and
changes in the technical and institutional arrareggnby which it is
produced and distributed. In same vein, Friedmath ldansen (1972),
defined it as an innovative process leading to thteuctural
transformation of social system. Innovation anadfarmation of social
system are the key points in this definition. Tdirdtions above imply
that development is about growth and change.

Okun and Richardson (1962), also defined econoenveldpment along
the growth perspective as “a sustained, secularowgment in material
well-being, which we may consider to be reflected@n increasing flow
of goods and services.

In same vein, Rodney (2009) sees economic develapasea situation
where members of a society jointly increase thapacity for dealing

with the environment. According to him, this capador dealing with

the environment is dependent on the extent to wihielt understand the
laws of nature, on the extent to which they put thaderstanding into
practice by devising tools (technology) and on thanner in which

work is organised. However, Rodney sounds a sticmgion on the

narrow way economic development is viewed. To heapnomic

growth goes beyond just economic affair, arguiregher that it should
seen as an overall social process which is dep¢ng®n the outcome
of man’s efforts to deal with his natural environmhe

Viewing development broadly, Todaro (2008) defiitess the sustained
elevation of an entire society and social systewatds a better or more
humane life. He believes that there are three alges of development
and these core values are life-sustenance, sekasand freedom to
choose. Life sustenance here means the basic nesess$ life which

are clothes, food and shelter. Self-esteem deals avsense of worth
and self respect. Not being used as a tool by stfogrtheir own ends.
And finally, freedom to choose/Freedom from sem#&uhere means
increase in the range of human choices, not bemgdb by culture,

tradition, other people, misery, institution or dwggic beliefs. Freedom
cannot be without limits but it has to do with animisation of external
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constraints in the pursuit of social goals callesdelopment. From these
definitions, we can conclude that development isjust about increase
in the output of goods and services, but it is allsout how the increase
improves the quality or the living standard of theople. So we can
rightly say that economic development is about llb&#erment of the
people and not mere quantitative representationtargfe figures of
goods and services produced in the economy.

SELF-ASSESSMENT EXERCISE

Define development by Todaro and explain his comduas of
developments.

3.3 The Objectives of Development

In the previous unit, we discovered that econonaeetbpment means
growth plus desirable social and institutional s Since the
definition of growth is universally accepted as ingvto do with output
increase, what then are desirable changes? Eweigty has what it
views as desirable, what is desirable to societyrtray actually not be
to society “B”. Desirability is therefore relativenaking development
both a physical reality and a state of mind in Wwhtbe society has.
Whatever the specific components of these desirablenges are,
development in all societies must have at least ftlewing three

objectives:

1) To increase the availability and widen the ribsition of basic
life-sustaining goods such as food, shelter, anteption.

2) To raise level of living standard. This invadvéen addition to
higher income, the provision of more jobs, bet@uaation, and
greater attention to cultural and human valuespfaivhich will
serve not only to enhance material well-being &t 0 generate
greater individual and national self-esteem.

3) To expand the range of economic and socialcelsoavailable to
individuals and nations by freeing them from serdé@ and the
dependence not only in relation to other people raattbn-states
but also to the forces of ignorance and human miser

From the above objectives, development can thusaliketo be a process
of satisfying the basic needs of the people, rgitieir self-esteem and
enlightenment aspirations and endowing them with dapacity to
sustain their achievements.

SELF-ASSESSMENT EXERCISE

List and explain the objectives of developmentng aociety.
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3.3.1 Criteriafor Development

Based on the objectives of development, the folhgnsan be said to be
the criteria for development:

1) Development must be people oriented

2) It has to be a long term process

3) Development creates the capacity for peopleetself reliant

4) It must not be abstract that is, it must be eolable and
measurable.

3.4 Measurement of Economic Development

There are different measures of economic developmah of them
having different shortcomings. Be that as it makjohever method one
would want to use to access whether a countryvsldping or not, care
should be taken to minimise the shortcomings ashnagqoossible.

Economic development can be measured in the fatigwiays:

1) GNP and GNP per capita approach — These are termed
“Income Approaches” because they aim at measuring
productivity and incomes of people over a periodiwfe. The
GNP approach measures the real national incomeaoperiod of
time. It considers the changes in a country’s totaput of final
goods and services in real terms. As for the GNP gapita
approach, it is like the GNP measurement only,akkes into
consideration the population factor and therefteeneasurement
is based on what income an individual receivesobuhe entire
available income. This measure is better than thi# @Gethod
because it solves one of the limitations the GNB bf not
considering the population growth rate in economgpulation
growth rate is important in the measurement of enun
development because the real per capita incomddbeuhigher
than growth rate of population for there to be dewment in the
economy. The GNP and the GNP per capita methodsiyealy
on increase in income as their means of measurentkeat
measures however do not consider the fact thatinbigase in
income could be in the hand of a few, making theome
inequitably distributed and as such not developrmeented.

Also, the measures fails to take into account gnoisl associated with
basic needs like nutrition, health, sanitation,swog etc.

Furthermore, the improvement in living standardsi¢h is key to
development) by providing basic needs cannot besored with GNP
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or GNP per capita. However despite these limitatiahe real GNP per
capita still remains the most widely used measufeeconomic
development.

2) Welfare

In this method of measurement, economic developnsewtwed as a
process whereby there is an increase in the cortsuampf goods and
services of individuals mainly as a result of imge in income. This
measurement looks at the increase in consumptiandofidual in an

economy but since consumption of goods and servscbased on taste
and preferences of individuals, how can the weahhese outputs be
measured when preparing the welfare index of a#l imdividuals?

Again, it is not correct to say that with the ireese in national income,
the economic welfare of the people might have imedo It is possible
(like we said earlier on) that when income in theremy is not

equitably distributed, the rich will continue totgecher and the poor,
poorer. Thus increase in economic welfare cannosdd to lead to
economic development when only a few people arefiterg from the

increase in consumption of goods and services.

Finally, mere increase in output or even outputipeividual cannot and
should not be equated with economic welfare oradoeelfare if due

considerations have not been given to value jud¢ggnmegarding income
distribution, composition of output, tastes, reastcand other particular
changes associated with the overall increase inelancome

3) Social Indicators

Due to the inability of the above measures to aapto totality, the
“desirable change” aspect of development, someaumts have tried
to measure it in terms of social indicators. Somadicators are usually
referred to as the basic needs for development,tlaesk basic needs
focus on alleviation of poverty by providing thesimahuman necessities
to the poor. Examples of the basic needs are fdothes, health care,
education, water, sanitation and housing. The tipeavision of these
needs affects poverty in a faster and cheaper \way the above
strategies. The basic advantage of the social atalis is that they are
concerned with ends. Ends here are human develdpménthe means
to this end is economic development.

However, different basic needs have their diffenadicators, but the
problem with these indicators is that there is m@animity among
economists as to the number and type of items tanbkided in
measuring development and this is a major limitatod this method.
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For example, Hicks and Streeten (1979), considsiredocial indicators
for basic needs and they are:

1. Health as a basic need with Life expectancy athbas its
indicator

2. Education, as basic needs and indicator as theacitetaken as
the primary school enrolment as a percentage afilptpn

3. Food as basic need with Calories supply per heawasator

4. Water supply as basic needs and Infant mortality @ercentage
of population with access to portable water adridecator

5. Sanitation as a need and Infant mortality and peecgee of
population with access to sanitation and finally,
6. Housing with no indicator.

Other economists have used different numbers ofamor for example;

Goldsteinin (1985) used only infant mortality inshindex. Another

limitation of the social indicators method is ttfa¢y are concerned with
current welfare and are not future related.

Lastly, they involve value judgments. Thereforawoid this problem of
value judgment and also for simplicity sake, ecomstenand UN
organisations use GNP per capita as the measureecohomic
development.

SELF-ASSESSMENT EXERCISE
List and explain the different ways development banmeasured?

3.5 Digtinctions between Economic Growth and Economic
Development

Economic growth and economic development are somestiwrongly
used interchangeably. Below is a tabular repretientaof their
differences.

Table 1.1: Distinctions between Economic Growth and Economic
Development

Economic Growth Economic

Development
Definition The sustained increas&conomic Growth
in the aggregateaccompared by

output or supply ofdesirable social and
goods and servicesnstitutional changes
produced in a count

Effect Quantitative: Brings Qualitative and
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about guantitative Quantitative:  Brings
increase in theabout qualitative and
economy quantitative changes in

the economy and

society

Applicability/
Relevance

Growth theories ar
associated with
developed countrieg
Though widely usec
in all countries of the
world, economic
growth is a more
relevant measureme
for progress in
developed countries.

eDevelopment theorieg)
nare specific to the
5. developing
I because

> development is mor

2 progress and quality ¢
ntife in

A\1%4 m

countrie
econom

Q D o v

relevant to measurin

-

developing
nations.

Concept

Narrower concept

Broader concept

Measurement

Increase in GDP |
capita

béfuman Developmen

—~+

Index (HDI) which is
a composite statistigs
of the life expectancy,
education, and income
indices

Source: Compiled by the developer from Fashola (2001) and Haller

(2012)

SELF-ASSESSMENT EXERCISE

Differentiate between economic growth and econaieimelopment

3.6 Why Growth without Development?

Having clearly stated the differences between econagyrowth and
economic development, and also knowing that gras/é precondition
for development, that is to say it is a necessary ot a sufficient
condition for development. We will now go furtherdee why there can
be growth without development or stating it diffettg, why is growth
not a sufficient condition for development? Thetdas that may lead to
the phenomenon of growth without development aesqmted below.

1) Population growth and distribution: In an economy where
population growth rate is greater than the GNP ¢norate, the
income per head (per capita income) would be losabse per
capita income is total income divided by the popara
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Representing it mathematically, we have:

Per capita GNP = GNP/Population i.e. y=Y/N.

Where y= Per capita income, Y= Total Income and™?dpulation

The more the N keeps growing above the Y, the ldvery would be.

A low per capita income signifies a low standardlieihg because it
means that the population in the economy exceededbnomic growth
rate and this situation cannot lead to economi@ld@ment.

2) Environmental Degradation: Every country operates in an
environment where it uses scarce resources to\acleieonomic
growth. In the bid to achieve growth, resourcesmfrahe
environment are used in economic activities. Theirenment
therefore, represents our source of sustenanceevwthese
resources are sometimes overused or even destribyedgh
careless economic activities. Economic growth tHaes not
therefore consider the conservation of the sourceowor
livelihood would not lead to a sustainable growtl as such will
not also lead to development. It can only lead uturkless
growth.

Example of environmental degradation includes: Destation, Soil
erosion, Overgrazing, Desertification, Air pollutiofrom industrial
effluents and vehicular emissions, Water pollutfoom raw sewage,
runoff of agricultural pesticides and spillages aislb Huge/ growing
population which overstrains natural resources.

3) Sectoral Imbalance in Development: Growth can only lead to
development when there is progress in all or alrath$he sectors
of the economy. Growth must be comprehensive, atdnbed
covering all the sectors. If however some sectoenaglected or
do not experience growth, the people may have alesirable
standard of living. For instance, an economy wiglralopmental
focus biased in favour of few sectors like the amild financial
sectors with little or no attention paid to seayrinfrastructure,
agriculture, rural development, education etc, faill to develop.

The growth witnessed in the few sectors will noabée to transform the
entire economy because the backwardness experiamd¢kd neglected
sectors would eventually negatively affect and dptim a halt the growth
in the few favoured sector.

4) Moral Decadence and Religious Fanatism: Impressive growth
in an economy is nothing without moral values. Aurmioy,
having the majority of its population as fraudulemticked,
inconsiderate, and dishonest people will not be d@blachieve
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development because all these moral problems camsofre the
sustainability of any economic growth achieved. rAvgth along
this part can be termed as ruthless growth.

As regards religion, the attitude of the peopleamg how it is practiced
is key for any meaningful development to take pldicthere is religious

intolerance vividly present among the citizens abantry, then there is
bound to be religious crisis. Religion is suppogetde a wise guide that
should be used to influence people to be morallyghp and Godly and

not as a tool to create disunity among the pedfde.growth to lead to
development, these factors have to be considereg. development

strategy that does not consider these factorsdeflhitely fail.

5) Income Inequalities: The dividends of economic growth would
not be enjoyed by the majority if there is a huge between the
rich and the poor. In a situation where the weafth nation is in
the hands of a few rich, while majority wallow iroyerty, the
increase in the GNP will not lead to development.

SELF-ASSESSMENT EXERCISE

Economic growth is a necessary but not a sufficieomdition for
development. Explain the phenomenon of growth witttevelopment.

4.0 CONCLUSION

In this unit, economic development was thoroughated. From our
discussions in the unit, we can now clearly stht¢ though economic
growth and economic development are most often sgadnymously,
they are quite different, with economic growth lgean precondition for
economic development. Economic development is didimiensional
process that goes beyond economic growth and iegdhve entire social
system. It is about the betterment of the humandiid how this can be
fulfilled and sustained. It is true that economimwth can lead to
economic development but a growth rate that is adarby
overpopulation, imbalance in sectoral growth rakest, of moral values,
Inequality in income distribution and environmerdalradation will not
lead to economic development. Therefore, developnsrategists
should place great consideration on factors thatfoastrate or negate
development plans.

50 SUMMARY

The unit discussed in details, the meaning, dé&dimjtobjectives and
measurement of development. It also looked at tstendtions between
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growth and development and finally concluded bycuassing the
phenomenon of growth without development.

6.0 TUTOR-MARKED ASSIGNMENT

Define development and list the criteria for ecomrdevelopment
based on the generally perceived objectives ofldpugent.
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1.0 INTRODUCTION

Sustainable development is a concept of receninofiigt used in 1980
by the World Conservation Strategy. The word suasfaility in our

everyday English could be said to mean the attitgrolong or to keep
in existence. Sustainable development in economiosks at

development in this perspective. The concept wasl asd defined for
the first time by the Brundtland Report, releasgdhe United Nations
which was entitled Our Common Future, of the WdZldmmission on
the Environment and Development in 1987, and tlais become the
most widely recognised definition of the concept. this unit, the
definition given in the Brundtland Report would k&ated and you
would be explicitly taught the concept of sustaleagrowth.

2.0 OBJECTIVES

At the end of this unit, you should be able to:

o explain sustainable development

. state the objectives of sustainable development

o analyse environmental problems associated with amagile
development

. discuss causes of Environmental deregulation

. describe policies of sustainable development asityla

. explain measurements of sustainable development.
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3.0 MAIN CONTENT

3.1 Meaning of Sustainable Development

There are many different definitions of sustainat#&elopment but the
most widely recognised is the one given by the Btiamd Reports
(1987). The report gave the definition as “meetthg needs of the
present generation without compromising the neefisthe future

generations” From this definition, sustainable depment means
development that would better the lives of the peomw and in the
future. Sustainable development is closely related economic
development because they both lay emphasis on thatian of

sustainable improvement in the quality of life df people through
increases in real income per capita, improvemergduacation, health
and general quality of life and improvements in lfgyaof natural

environmental resources. The difference betweenmthis that

sustainable development is economic development twes not
decrease overtime. Sustainable development isaldess/elopment that
iIs long lasting and contributes to the quality afe | through

improvements in natural environment.

SELF-ASSESSMENT EXERCISE

What do you understand by sustainable development?

3.2 Objectives of Sustainable Development

The primary objective of sustainable developmernibismake life better
for the present generation as well as the futureeggion with a focus
on the preservation of the natural resource basestaBable
development has several other objectives amonghaduie: increasing
economic growth and meeting basic needs; betterofgdople’s health
and education opportunities; giving everyone a chao participate in
public life; helping to ensure clean environmentd apromoting
intergenerational equity.

In sustainable development, meeting the needsh@fpeople in the
present generation is essential in order to sustenneeds of future
generations because it aims at maximising the eegfits of economic
development, subject to maintaining the stock btre environmental
and natural resources assets overtime.

As regards the preservation of resources (enviroteheand natural
resources), economist view Sustainability in twaspectives -Weak
sustainability and strong sustainability. Strongstaunability requires
that the natural capital stock should not decreaatile weak
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sustainability requires that the total value of @b&l, human and natural
capital stock should not decrease. Breaking it ddwWeak sustainability
holds the position that physical capital stock sabstitute for natural
capital stock and as such the rate of changewdldpment is generally
positive over some selected time horizon, whil®rgr sustainability
assumes that physical capital stock and naturaitataptock are
complementary, but not interchangeable. In summa&ystainable
development is development that meets the neettgeqgiresent without
compromising the ability of future generations teantheir own needs.

SELF-ASSESSMENT EXERCISE

What are the objectives of sustainable development?
3.3 Environmental Problemsin Less Developed Countries

Every country has its own peculiar environmentabligmges. The
environmental problems experienced by a countredémn its stage of
development, economic structure, existing prodactezhniques and its
environmental policies. For example (generally &pep, as a result of
industrialisation, the developed countries are dac®jorly with the
problem of pollution (air, water and noise) whil@éat of most
developing countries are poor sanitation and latlkclean drinking
water caused by underdevelopment. Shown here isalalar
representation of some of the environmental probjetauses and their
effects in an underdeveloped country.

Table 1.2: Environmental Problems, Causes and Effects.

Environmental Causes Effects

Problems

Air Pollution Urbanisation as {aDirt dust and
result of economi¢Poisonous gase
development angdcausing acid rain,
industrial growth. depletion of ozone

Leading to Industrieslayer, and posing as
emitting gases fromhealth risk to humans
their production when inhaled for a
processes, carbgrlong period.
monoxide from cars,
smoke from cooking
with wood and coal,
and fumes fol
generator set

Water Pollution Economic growthPolluted and untreated
leading to flushing o| water cause

31



ECO 347

DEVELOPMENT ECONOMICS |

waste down  thewaterborne diseases
domestic sewageand also Endangers
industrial waste aquatic and maring
containing organic creatures
pollutants and
chemical wastes and
then spillages.

Solid and HazardousUnregulated urbanBlocked drains spread

Wastes

growth without prope
consideration given t
disposal,
transportation,
treatment of solig
waste

rcommunicable
pdiseases and pollu
water resources.

e

Deforestation

Population growth a
Industrialisation

leading to felling of
trees and destructio
natural plant growth

nBestruction of the
plant and animal lifg
of the area leading t
Hocalised flooding in
hilly and adjoining
areas.

(@)

Soil Degradation

Wind and Water(Ra

and Rivers
aggravated by
Deforestation,

overgrazing and stef
farming in hilly areas

iMVind and Soll
erosion reducing so
fertility

-

Loss of Bio-diversity

Economic an
population growth
leading to expansio
of agriculture and th
Reckless exploitatio
of forest and minerg

Extinction of plant,
animal and

nmicrobiological

Bspecies

X

I

wealth

Source: Todaro and Smith (2006)

SELF-ASSESSMENT

EXERCISE

List six environmental problems in LDCs and expldiree.

3.4 Causes of Environmental Degradation

Environmental degradation is the deterioration bé tenvironment
through depletion of natural resources. It can bhased by several
factors like rapid population growth, poverty, unisation etc. Below
are some of the factors causing environmental diegjen.
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1) Rapid population growth. This is a major caokenvironmental
degradation. The rapid rate of growth leads togased pressure
on the available scarce resources resulting ipalution, water
pollution, and soil degradation.

2) Poverty causes and is caused by environmerdggtadation.
Poverty leads to overexploitation of resources.oAldegraded
environmental leads to poverty as the people whalkek little or
no resources to use for their livelihood. This ¥&re more so in
less developed countries because they dependIdicechatural
resources as their main source of livelihood.

3) Urbanisation. Rapid and unplanned urbanisaticauses
environmental degradation because, it puts pressurethe
available scarce resources, giving rise to slurhanty towns,
pollution, and poor waste management.

4) Agricultural development. Intensive farming atessive use of
fertilizers and pesticides have caused overexpiortaf land and
water resources. Over exploitation causes landadiadjon in the
form of erosion, water logging and salination.

5) Industrialisation. Rapid industrialisation cessair, water and
noise pollution because these industries, in aagryout their
productive activities produce fumes, use mineraoueces as
sources of energy and this depletes the naturaluress and
degrades the environment.

SELF-ASSESSMENT EXERCISE

List and explain the causes of environmental degrad
3.5 Padliciesof Sustainable Development

In the above section, we found out that rapid pafoh growth,

agriculture, Urbanisation, Industrialisation, amang other factors are
causes of environmental degradation in less deedlopountries.
Environmental degradation is harmful to the humaalth and can also
affect economic activities negatively. These negatieffects of

environmental degradation can be reduced by theeprionplementation
and execution of economic and environmental pdiciand

environmental investments.

These policy measures and investments should ainmachteving
economic development and sustainability
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Below are a few policy measures capable of stremgtiy sustainable
development:

1)

2)

Reducing poverty- Development projects should aim at
providing employment opportunities to the poor; Itieafamily
planning services and education facilities sho@akpanded and
made accessible to the poor; and also, investmenbaisic
amenities like supply of drinking water, sanitatitacilities etc.
should be carried out by the government as allethesuld
improve the welfare of the people and the enviramme

Removing subsidiess Government can reduce Environmental
degradation at no financial cost by removing thbssglies for
resources used by private and public sectors.

Subsidies on the use of electricity, fertilizersstcides, petrol, diesel,
kerosene, water irrigation etc. should be remoweds to discourage
their misuse.

3)

4)

5)

6)

34

Clarification and extension of property rights - Lack of
property rights over excessive use of resourcesisleto
degradation of the environment. This would lead ttee
overgrazing of public and private lands, deforéstat and
overexploitation of minerals, fish, etc. By clarfg and
assigning ownership titles and tenure rights twate owners,
these environmental problems would be solved.

Economic incentives- This has to do with providing incentives in
the form of variables fees to resources usersherdguantity of
pollutants in the air, water and land use. Users given
incentives in the form of rebates if less thanghession standard
of waste or pollution is generated.

Public participation- Government should aim at encouraging
public awareness and participation by conductingné& and
informal education programmes relating to environtak
management. The more the public know about thgefartheir
activities pose to their environment, the more ftariney would
be in the use of resources.

Participation in global environmental effortss The issue of
environmental protection is of global importancecdese it
affects the developed as well as the undevelopadtdes of the
world. As a result, there are several internati@moaiventions and
agreements on protection and conservation whichyes@untry
is expected to follow. It is advisable for all coues to join and
participate fully in the unified battle against shcommon
menace.
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SELF-ASSESSMENT EXERCISE

Environmental degradation is harmful to the humaaltfh and can also
affect economic activities negatively. What are plodicy measures put
in place to address it in your country?

3.6 Measurement of Sustainable Development

Sustainable development is not so easy to measamalyirbecause it
involves the valuation of environmental damage emchparing it with
costs of preventing it. We will discuss four way$ measuring
sustainable development.

1) Measuring Natural Capital Stock

The necessary condition for sustainable developneerthat natural

capital stock should be conserved and improveds irf@ans that capital
stock should remain at least constant. Measuraigral stock as far as
sustainability is concerned involves the calculatod the cost —benefit
analysis of changes in the natural capital stookcasiomic activities are
carried out. For example the keeping of land claaa safe is a benefit
while the damage of polluted environment is a cost.

2) Natural Resources or Green Accounting

This method permits the measurement of income dten by taking

into account the economic damage and depletiohamatural resource
base of an economy. The computation of gross ratmutput (GNP) in

this approach would be replaced by a measure adnadtoutput that

includes the economic cost of degrading naturabuees which are
required to produce goods and services directlindirectly. Thus we

would have an equation like NNP=GNPy D

Where NNP is the Net national Product ang B depreciation in
monetary value of natural assets during the year.

3) Social Discount Rate

Environmental degradation leads to costs, while ranimg the
environment leads to benefits of the resources. Udsel measurement of
the effects of the costs and benefits of the ressuused on the present
and future generations is by the use of a rate isfodnt where a
discounting of all costs and benefits are done.
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4) Measuring Environmental Values

This method is concerned with comparing the besefif the
environmental protection with the costs of incugrin That is to say the
damage is evaluated and compared with the costeokpting it. Here,
there are different methods used in evaluation the World
Development report 1992, suggests the following fapproaches and
there are the Market Prices approach the costsptdicement approach,
the surveys approach and the surrogate marketsagpr

a) Market prices approach — In this approach, the adverse effects
of the damaged environment on human health and d¢dss
productivity are evaluated using the market valles.example,
the damages due to soil erosion, deforestationagécevaluated
using market prices and also, welfare losses ngjatib health
risks due to polluted environment are measured ripome
foregone because of illness or premature death.

b) Costs of replacement- The investment people and firms make in
the installation of alternate devices to avert svinental
damages of air, water and land can provide an astirof the
environmental damage (but the effects of damagesmatabe
evaluated by using this method)

C) Surveys- Surveys relating to the effects of environmentahdge
and effects to improve environment are being usadeiveloping
countries to determine the amenity value of spemidandmarks.

d) Surrogate markets- Surrogate market is a concept that one uses
when one cannot directly estimate the market prfoesertain
environmental goods. So the value of another maskesed as a
proxy. Valuation in this case is done on other ratgkand the
result is interpreted in relation to the negatiiec of the
damaged done in the environment. For example ituatian of
the cost of environmental damage, the value of @pety
situated in the affected area is used as a praxthéovalue of the
damaged environment.

SELF-ASSESSMENT EXERCISE

List and explain at least three ways of measuringtasnable
development.

40 CONCLUSION
Sustainable development is a concept that recogiee fact that the
natural environment is the foundation for humanvisat and well-

being. A world in which resources are scarce ancepy is widespread
will always be prone to environmental problems oses. Sustainable
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development therefore, requires meeting the baseds of all and
extending to all, the opportunity to satisfy thagpirations for a better
life.

In sum, sustainable development is a process bghathie exploitation
and use of resources for developmental purposdsewhance both
current and future potential to meet human needsaapirations. The
goals of economic and social development thereiaust be defined in
terms of sustainability in all countries.

50 SUMMARY

This unit has discussed the concept of sustairdgalelopment, looking
at the meaning, objectives, and environmental probl in less
developed countries, causes of environmental d&ego, policies of
sustainable development and finally how sustainaleleelopment can
be measured. In conclusion, all nations should ysuts development
pattern that is sustainable.

6.0 TUTOR-MARKED ASSIGNMENT

1. What are some of the environmental problemedduy the less
developed countries?

Explain looking at the effects and causes.

What is the difference between economic devetyp and
sustainable development?

2.
3.
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UNIT 1 THE LESS-DEVELOPED COUNTRIES
CONTENTS
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1.0 INTRODUCTION

Generally speaking, development economics deats pvitblems of the
developing nations, and examples of such probleraspaverty and
hunger. Less Developed Countries (LDC) which calib be referred
to as developing, or third world countries, havetaie characteristics
that qualify them as such. They are usually natiamth low living
standard and low Human Development Index (HDI) tretato the
developed countries. There are different indicateingch could be used
to determine whether a country is developing oretlgped. These
indicators are classified into economic or non -enic factors.

economic factors have to do with the per capit@nme while the non-
economic factors are those that measure the qualilye that are not
income related e.g. the life expectancy, literael etc.

In summary, less developed countries are, in géraantries that have
not achieved a significant degree of industrialsatrelative to their
populations. This unit brings to light what the ntetess developed
means. Learners are also expected to understandntheators of
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development in order to know whether a countryeigatioped or not and
then you would be given examples of countries bedng to both the
developed and developing class. In sum, learnerddmoe taught the
true meaning of the concept “Less developed colrgnd all that it

entails.

2.0 OBJECTIVES

At the end of this unit, you should be able to:

o explain what is meant by the concept “Less developmintry”
and know the different words used interchangeabisoiig and
right)

o list the different indicators of underdevelopment

o state which countries fit into the less developedntry category,

why they do so and also identify the five most deped
countries and five least developed countries inatbdd today.

3.0 MAIN CONTENT

3.1 Meaning of Less Developed Country

Less developed countries are usually countries lwithliving standard

and underdeveloped industrial base. Less developedierdeveloped,
developing, poor, backwards and even third worldintoes are all

terms with the same meaning. However, less devdlgpentries, and
undeveloped countries are terms wrongly used ingsrgeably.

Underdeveloped countries are countries that are, packwards and are
in the process of industrialisation, while undepeld countries are pre-
industrial countries that have no prospects of iigweent and examples
are Antarctica and some parts of Sahara. As forutiderdeveloped
countries, examples are Nigeria, Pakistan, and tdman

Poor countries are countries with low level of papita income, while
backward is a static term but it is more appropriaind respectable to
call a country developing or less developed rathan being poor or
backward.

In this unit, less developed, developing, poor,arddveloped and third
world are terms that would be used interchangeably.

SELF-ASSESSMENT EXERCISE

What is the meaning of less developed country? tValeathe different
names that can be used interchangeable for th@term
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3.2 Indicators of Underdevelopment

There are several indicators that can show howuatcp is performing.
These indicators give us an idea of how well a tryuis doing. That is,
they tell us whether a country is underdevelopedemeloped and there
are no particular criteria used to judge the statea country’s
performance because underdevelopment can be sesn different
angles. It could be seen from the angle of ignaandiseases,
deprivation etc. Be that as it may, the followingicators can give us an
idea of the level of underdevelopment in a country.

1) The ratio of population to land area tellswisether the area is
sparsely or densely populated. This indicator dugsshow how
poor or how rich a country is. A country with hightio of
population to area means it is densely populateddoes not
mean it is poor. For example, Singapore has a hagio of
population to area and yet it is rich and meanwhgeme
countries have empty spaces signifying a low rahd yet they
are poor. So this indicator is vague and unreliable

2) Ratio of industrial output to total output, whi can also be
viewed as a ratio of industrial population to tqiapulation. This
ratio shows how industrialised a country is. A ltevel of this
ratio indicates that the country is not highly istfialised and
therefore underdeveloped and a high level showisthieacountry
is developed. However this ratio tends to increaghk increase
in per capita income indicating that industrialisatis a result of
economic prosperity and not the other way roundaiAgif for
example, the increase in income is used to sulesidieconomic
urban industries, the overall per capita income ld/aeduce,
making this indicator an inappropriate criterion r fo
underdevelopment.

3) The ratio of capital to per head of populatit@termines the level
of capital in relation to the population. A counis/said to be
underdeveloped when the capital per capita is ln& $shows a
lack of capital. But again this criterion is faultg an indicator of
underdevelopment because the lack of capital alisnenot
sufficient to say whether a country is underdevetbr not,
reasons being that (a) if capital deficiency istals an indicator
for underdevelopment, other socio economic facki&es human
endowments are neglected and (b) Capital per hefciahcy is
not related to the absolute size of a country’skstaf capital but
to the ratio of capital to population.

4) The next indicator is poverty. Like was mené&dnearlier on,
underdevelopment is synonymous with poverty. Anawetbped
country is a country that is characterised by n@®gerty not
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caused by temporal misfortune but by wrong and lebso
methods of utilising of available resources.

5) Also, the United Nations Development PrograrlDP) uses the
level of human development, including health andication
attainments. The Human development index is arcatdr that
takes into consideration the economic and non-aoandactors
of human lives. Human development Index is a corm@os
statistics of the life expectancy, education, amcbme indices
used to rank countries. A country with low life expancy, low
literacy rate and low per capita income relativehe developed
countries can be said to underdeveloped.

6) The low level of per capita real income of tnederdeveloped
countries compared with the advanced countries.cBeita real
income tells us the inflation adjusted income perspn. The
problem with this indicator is that it takes onlpeoaspect of
underdevelopment into consideration, and that egg, while
ignoring other aspects like why consumption leaéslow. Also,
data on per capita national income are often ndsheg
inaccurate and unreliable especially in the devetppountries.

However, despite the problems associated with tite dsed for per
capita income, the method is the most widely usédtator.

SELF-ASSESMET EXERCISE

Identify five measures that one can use to tell ttyea country is
underdeveloped

3.3 HDI Ranking of Some Countries

There is Poverty everywhere in the world, partidylan South Asia,
Africa and Latin America countries, witfrica countries topping the
list of the least developed.

Going by the 2013 Human development report, the &udevelopment
index ranking in 2012, showed that Niger and DemocrRepublic of

Congo were least with a per-capita GDP (PPP) af tlean 365 dollars.
Burundi, Zimbabwe and Liberia come just before th&ime first non-

African country to be found among the world’s pair@ations is

Afghanistan, with just over a thousand dollars. HR2inking, along with

values of life expectancy at birth, educational ponents, income and
non-income values are presented in table 2. 1.ndmeincome HDI is

calculated to provide an additional means of camssatry comparison
achievements in the non income dimensions. Heaia ebridged version
of the 2012 HDI ranking of countries showing thestfifive countries

and the five least countries in the world.
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Table 2.1 Human Development Index and its Components showing
5top and 5 least Countries in the World

HDI Human | Life Mean | Expec | Gross | Non-
S/ | Rank Develop | expecta |years |ted Nation | inco
N ment ncy of years | al me
Index at birth | school | of incom | HDI
(HDI) ing school | e
ing (GNI)
per
capita
Norway | 0.955 81.3 12.6 17.5 |48,688| 0.97
1 7
2 | Australia| 0.938 82.0 12.0 19.6 |34,340| 0.97
8
3 | United |0.937 78.7 13.3 16.8 43,480 0.95
States 8
4 0.921 80.8 11.6 16.9 37,282 0.94
Netherla 5
nds
5 0.920 80.6 12.2 16.4 35,431 0.94
Germany 8

18 | Burkina | 0.343 55.9 1.3 6.9 1,202 |0.33

3 | Faso 2
18| Chad 0.340 49.9 1.5 7.4 1,258 |0.32
4 4
18 0.327 50.7 1.2 9.2 906
5 | Mozamb 0.32
ique 7
18 | Congo, | 0.304 48.7 3.5 8.5 319 0.40
6 | Democra 4
tic
Republic
18 | Niger 0.304 55.1 1.4 4.9 701 0.31
6 3

Source: Human Development Report (2013).
SELF-ASSESSMET EXERCISE

From the 2012 HDI ranking, list the two richest athe@ two poorest
countries. On your own, find out the HDI rank oluy@ountry.
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4.0 CONCLUSION

From our discussion in this unit, we found out tthet Less developed
countries, can also be referred to as developinguraterdeveloped
countries. The terms refer to a country or cousttiat have low living
standards and underdeveloped industrial base. @¢hais that can be
used are backward, poor or third world but it issinoften called
developing or underdeveloped countries which amss |derogatory
names.

Underdeveloped countries are countries that are, packwards and are
in the process of industrialisation and examples Migeria, Pakistan,
Uganda and India. Different indicators can be usetell us how poor
or undeveloped a country is, either by looking la €conomic or
noneconomic aspect of the lives of the peopledoumntry. It is true that
poverty can be found in every country of the wobldt the intensity and
manner in which it presents itself in the less ¢i@yed countries
especially Africa, is alarming.

African countries are the poorest and least deeglogountries in the
world and a clear evidence of this is their lowkiag compared to other
countries of the world in the Human Developmenteba@HDI). From
the abridged HDI ranking presented in this unit, eiecovered that
Africa countries occupy the least positions in taeking which looks at
average achievements in three basic dimensions afmah
development—a long and healthy life, knowledge artecent standard
of living.

5.0 SUMMARY

This unit has introduced you to the meaning oftdren less developed
countries. You were exposed to the various synonghthe word and

you also found out that some words used for it @rengly used

interchangeably. There are different indicatorst tbauld give us a
picture as to whether a country is developed orlbping and these
indicators were explained in this unit.

To further understand the topic properly, a tabées \wresented showing
top five countries and five least countries of Warld using the human
capital index as an indicator for the economic #mel noneconomic
performance of different countries. From the tabie realised that
African countries did poorly in the Human developmeanking,
showing that we are still backwards in relationthe industrialised
nations of the world.
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6.0 TUTOR-MARKED ASSIGNMENT

1. Underdeveloped and less-developed can be nsadhangeably
to describe a country. State whether the statemdnie or false
and give reason(s) for your answer.

2. Is Nigeria a developed or developing countryst land explain
three indicators to buttress your points.
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1.0 INTRODUCTION

The Less developed countries in the world have comfeatures which
are peculiar to them because they all share thee qaowerty status
characterised by low per capita income, high depeayl ratio and low
standard of living.

Despite this general poverty status and the manynwan features they
share, the less developed countries are in so wang different from
one another because they are culturally differed have different
economic, political and social settings. In thistuthe various common
characteristics and the diverse nature of the dese&loped countries
would be explained to you.

2.0 OBJECTIVES

At the end of this unit, you should be able to:

. list and explain the common characteristics oflédss developed
countries

. mention and explain the differences between the tieveloped
countries of the world

. differentiate between the economic and non-econatviersity

of the less developed countries.
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3.0 MAIN CONTENT

3.1 Common Characterstics of Less Developed Cadues
The less developed countries are characterised by:

1) Low per capita income and general povertyThe level of the
per capita income in developing countries is exalgmow
compared to that of the developed world. A Coutitg Niger
has a GNI per capita of 701 dollars, compared \&ittountry
like the United States or Norway that have GNI papita of
43,480 and 48,688 dollars respectively. These éggo a long
way in revealing what is obtainable in these caastr

2) Deficiency of capital equipmentThe less developed countries
are usually referred to as “capital poor” countriesause they
lack sufficient physical capital. Not only are thiewv on capital
stock, the rate of capital formation is also very ldue to the low
rate of investment in these countries, which isallgtabout 5 to
8 % of their national income as against that of deseloped
countries like Canada with 15 to 18%. With a low papita
income in LDCs, they are hardly able to meet the In@cessities
of life and as a result, whatever little incomeythave go into
satisfying these necessities and little or nothsnigft for savings.

3) Rapid rate of population growth: It is true that Developing
countries differ in size of population because sdmge large
population size and are poor while others have allssize and
are still poor. Be that as it may, one very comrobaracteristic
of the less developed countries is rapid rate pugadion growth.
With a reduction in the world’s death rate due devamcement in
medical science and no significant reduction irthbnates, the
population of these countries keeping swelling.tTiavhy these
countries (e.g. India) are facing the problem ofpyation
explosion.

4) Unemployment and under-employment: When Population
grows rapidly without the economic growth keepirag® with it,
then there is bound to be unemployment in the udraas and
disguised unemployment in rural areas. This is exabbse more
people from the rural areas would move in large loens to the
few cities in search of jobs that are not availatle to lack of
economic growth, then also, the over populatiotherrural areas
means that more people than necessary are engaged i
agricultural activities. These two situations wowgive rise to
unemployment and underemployment in the urban arad areas
respectively.

5) High dependence on Agriculture: Agriculture is the main
occupation of most people in the developing word.great
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majority of the people in most LDCs are engagedgncultural
and allied occupations. The reason for this ovgreddence is
because non-agricultural occupations in these cesnhave not
grown enough to accommodate the ever increasinglgaiqn.
With a characterised deficiency of capital equipmemd
population increase, the increased labour forcee hav choice
but to get involved in the agricultural sector ##®r over
burdening the sector giving rise to a low output pead.

However we should note that despite the less dpedlocountries’
having majority of their population in the agriautl sector, the
developed countries have a much more advancedudigral sector and
as such they have more output than the develomngtaes who have
more people involved in agricultural activities.

6)

7)

8)

9)

Under utilisation of resources: The resources in the less
developed countries are generally underutilisedabse they
have not been able to tap them fully. The reasohg these
resources have not been fully tapped could berasudt of lack
of capital equipments and skilled personnel. Beeaofsthese
short comings, most of the resources in LDCs appdd by
foreign companies who exploit the people in theglam
Excessive dependence on expoithe developing countries are
known to export raw materials (instead of usingnthéor
production) and import manufactured goods. Thisepatof trade
puts them at a disadvantaged position as the gthmysexport
are usually cheaper than what they import. Excessependence
on these manufactured goods makes these countriasrable
and any little shock adversely affects their teahgade.

Low level of technology and skills: The less developed
countries still use primitive methods of technologiyd this is
compound by lack of skilled personnel. These twogéaous
combinations give rise to inefficient productioropesses where
the output produced is less than optimal level.

Economic backwardness: The less developed countries are
usually backwards. Backwardness reflects in théakogolitical
and economic lives of people from LDCs. Their ediacasystem
is far behind what the developed countries havesandre their
legal, financial and all the other institutions.eThackwardness
manifests itself in high illiteracy level, factanmobility, lack of
entrepreneurship, ignorance in economic matters etc

Other Common Characteristics of Less Developed Coures are:

Relatively high death rates
A low life expectancy
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. Lower proportion of population is enrolled in edtica

. Low level of living standard

. Poor health due to poor nutrition, lack of accesfatilities such
as clean water and proper sanitation.

. Health care provisions are often poor as well.

SELF-ASSESSMENT EXERCISE
Identify and explain five characteristics of legveloped countries.
3.2  Structural Diversity in Less-Developed Coumtes

Less developed countries are commonly classifie@p@s countries

with low per capita income and low standard ofrngi However, it

should be noted that the developing countries atehomogeneous in
nature, they are highly diverse in their structanel the differences can
be seen in the following areas: (1) size and inctewel (2) historical

background of the countries (3) resource (physiaad human)

endowments of the countries, (4) relative imporégamd public and

private sectors in these countries (5) nature dtistrial sector in the
countries (6) degree of dependence on externaloaacnand political

forces (7) distribution of power in a country (&hmic and religious

composition.

Now let us consider each of these components basextonomic and
non-economic differences of Less Developed cowntrie

SELF-ASSESSMENT EXERCISE

Despite their similarities, the less developed toes have lots of
differences.

Mention six of these differences.

3.3 Economic and Non-Economic Related DiversityniLess
Developed Countries

3.3.1 Economic Diversity

(1) Size and income levelThe developing countries are diverse in
physical size, in population and in GNP per cagitd these three
factors are very important determinants of the eoan position
of a country. Some developing countries are large @opulated
like Brazil, India, Pakistan, China, Egypt and Nige while
others are small like Paraguay, Nepal, Jordan, @&mad.
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Although, the high population and low level of ime® in most
developing countries, means that their GNP pertaapould be
low, this large population and large geographicag also present
potentials to these countries in terms of availgbdf human and
natural resources, they have a high prospect ofgbself reliant
and also it means the country would have a largekeha
However it also has disadvantages of poor admatigé control
and regional imbalances. Then for the small coest(small in
size and population), they have the disadvantagesmited
markets, the shortage of human and physical rescamd little
prospects of significant economic self reliance.wdwer, it
should be noted that the size of a country doeslatgrmine its
per capita income, and the degree of equity irridigion of its
national income.

(2) Resource endowment (Physical and Human Resoes):
Naturally, the growth of any economy is determia@ubng other
things by the level of physical and human resourgesountry
rich in natural resources and in skilled humansldouost likely
achieve growth than a country without these ressurelowever,
these resources on their own do not guarantee atitogrowth
because other factors like political instabilitypcgl strife,
corruption etc. could act against the benefithebe resources.

Geographical factors and climate can also playngortant role in the
success or failure of development efforts. For edamlandlocked
countries are at a disadvantaged position comptretheir coastal
counterparts and this factor determines their ecooactivities. By and
large, the quality, quantity and attitudes of themlan resource play a
major role in determining the difference betweenrddes because it is
their skills knowledge and the way they go abodutit(ale) utilising
resources at their disposal that makes the difterettitude here
covers cultural outlook; attitude towards work; idesfor self
improvement; access to information; willingnesstaovate; desire; and
administrative skills.

(3) Relative importance of the public and the priate sectors:
Most of the less developed countries have mixedn@&wic
systems, that is to say, they depend upon a mixtupaiblic and
private sectors in respect of allocation of resesrcand
production of goods. However, Latin American andutBeast
Asian nations have larger private sectors thanSésian and
African nations due to historical and political seas.
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Economic Policies are different. Countries withgipublic sector have
direct government investment projects, and largal nworks programs.
Countries with large private sector have special #lowance to

encourage private sector investment. Also, the ekegof foreign

ownership in the private sector is another impdrfantor to consider
when differentiating among LDCs. In certain LDCer#n is a greater
role played by foreign private investments. Formegke, while countries
Malaysia, Thailand, and Taiwan have attracted tdt$oreign private

investment, most African countries have attraciiie lof none of these
investments.

A large foreign-owned private sector usually creagzonomic and
political opportunities as well as problems notrfdun countries where
foreign investors are less prevalent.

The different roles of public and private sectersan economy lead to
the adoption of different economic policies in thegss developed
countries.

(4) Nature of industrial structure: As regards industrial structures,
the developing countries also differ. The Latin Aicen
countries with long history of independence anchbigincomes
have higher structures than African and Asian aoest

(5) External dependence on developed countries ¢&omic,
Political and Cultural): Developing countries depend on
developed countries for manufactured goods as vasll
technologies while they (LDCs) export raw materitdsthese
countries. They also depend and are influencedhdset countries
politically and culturally. The external dependené@ country is
related to its size, resource endowments, andigadlihistory.
Most times the technologies gotten from these ezl
countries are hardly appropriate for the LDCs. unhssituation,
the growth of LDCs is highly dependent upon theawadr of
developed countries. The LDCs not only depend ufmpeign
goods and technologies, but they are highly infbeehby the
foreign values, patterns of consumption and atisudowards
life, work and self. This transmission phenomenandgs mixed
blessings to most LDCs, especially which are higdatybitious
for self-reliance. But it has also been observed-the degree of
such dependence also varies from country to country

SELF-ASSESSMENT EXERCISE

Explain four economic structural differences irslegveloped countries.
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3.3.2Non-Economic Diversity

(1) Historical background: Most of Asian and African less
developed countries have been the colonies of Bdglarance,
Germany, Spain and Holland etc. The social, ecooomi
educational and institutional structures of theeantries have
been designed by their colonial masters i.e. Casthat were
colonised by British have different political arebal structures
from those colonised by French.

(2) Political structure, power and interest groups:The various
interest and power groups among different segmentshe
populations in a developing country exist as a ltesti their
economic, social, and political history and theyfedi from
country to country in developing world. In Latin Asncan
countries, there have the landowners; Pakistan tles
bureaucrats; there are also the money lendersdia;lthere are
wealthy sheikhs of Gulf-States. These various git@ups play
their role in the politics of their respective ctrigs. While these
groups involved in politics for the sake of prestand power, the
difference in them lies in the fact that they coimgower to get
their various interests promoted. So the part fwegue depends
on their individual personal interests.

3) The ethnic and religious composition:Some countries are
greatly diverse in their religious and ethnic comsipons.
Generally speaking, it is expected that the greaediversity in
a country, the more they are bound to have intestréfle and
political instability and this off course would aft all
developmental efforts. However, some countries Haaen able
to grow despite their differences in political amdligious
compositions, example is Malaysia.

This goes to say that the way and manner countrgesdle their
diversity in ethnic and religious composition drffevhile some will
grow despite the diversities, others would contislp have political,

religious and ethnic crisis which would definiteiyustrate all efforts
geared towards development.

SELF-ASSESSMENT EXERCISE

Explain three Non- economic structural diversitiasless developed
countries

4.0 CONCLUSION

This unit unveils the common characteristics arsw aiversities of less
developed countries. The diversities were furtheiddd into economic
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and non-economic in nature so as to understand sthactural

differences better. From the unit, we learnt thaspite the general
poverty and low per capital income status of thesleleveloped
countries, sweeping generalisations should be adoidecause they
have great differences in their structures and gemeralisation would
be misleading. So therefore, each individual cquniust be considered
in its own right when deciding policies geared tosdgadevelopment.

5.0 SUMMARY

This unit considered the common characteristicthefless developed
countries. The unit revealed that the less devela@oentries are similar
in the areas of low per capita income and geneoakny, they are

deficient in capital equipments because of low rsgwi rate,

unemployment rates and underemployment rates gte aAnd they are
generally backwards in almost everything. Despigsé similarities, we
also learnt that they can be so different from amether in various ways
which we classified under economic and non- econahiersities. In

conclusion, sweeping generalisations should bedadowhen dealing
with less developed countries.

6.0 TUTOR-MARKED ASSIGNMENT

1. Explain what is likely to be the occupational dktition of the
population in less developed countries.

2. Outline and explain the common features of Less elped
Countries.
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1.0 INTRODUCTION

Economic development was defined in the first medas economic
growth plus desirable social changes. The devedppountries of the
world have lots of challenges which have hindetesirtdevelopment.
These factors have over the years militated agéhest development
and are therefore considered as obstacles to geweltt. These
obstacles are usually classified into Economic ahoh-Economic
constraints. In this unit, we shall identify andaliss the constraints to
development extensively.

2.0 OBJECTIVES

At the end of this unit, you should be able to:

o identify the obstacles to development

o differentiate between the economic and non-econaomstraints
of development

. explain the various economic and non-economic caimss of

development.
3.0 MAIN CONTENT

3.1 Major Obstacles to Development

The obstacles to development are the factors tttahs constraints to
development in less developed countries. Theseorfadimpede the
growth and development of these countries and taffexen in different
ways. Recall that we discussed the basic charatibsriand diversities
of the less developed countries in our previous and we found out
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that these countries are similar in certain ways are also diverse in
some ways as well. When looking at the obstaclesang looking at the
various factors that have generally affected thesh to develop. In
essence, what are those constraints that have teske countries to be
“Less developed™? These characteristics from tleipus unit explain
why these countries are poor; a number of theseactaistics are both
the cause and consequences of poverty. In studiigmgonstraints or
obstacles to development, we have the factors yrahadded into two
main groups based on the ways they affect the pgtipéir economic or
social lives) and as such we have the non-econamicthe economic
constraints.

SELF-ASSESSMENT EXERCISE
Explain what you understand by “obstacles to dguwalkent”.
3.2 Economic Constraints

1) Vicious circles of poverty: The greatest obstacle to development
in less developed countries is that of “povertyditigg poverty”.
These countries are poor to start with and becaides poverty,
they are unable to achieve growth because it bratgsit more
poverty. These countries are trapped in circle o¥epty so
difficult to break and as such are vicious in natuifhese
countries are usually plagued with low productivdtye to capital
deficiency, market imperfections, economic backwass and
underdevelopment. These forces act and react uperanother
so that the country is always in a state of poveftye vicious
circle of poverty operates both on the demand agleell as the
supply side as can be seen in the two figures below

On the supply side (Figure 2.1), the low levelinotome leads to a low
level of savings which in turn, leads to a low rateestment, then to
capital deficiency, which would lead to low produity and then back
to low level of income. Also, in figure 2.2, lowevel of real income
means low demand. The low level of demand leadsltav investment
and to deficiency of capital. The deficiency of ikalpwill in turn lead to

a low level of productivity and back to low inconihese circles go on
and on creating vicious circles of poverty anddhscious effort is not
taking to break these cycles, development will ndesachieved. Main
points of vicious circles of poverty are: Low réatome (Poverty), low
productivity, low demand (consumption)/ low savingsv investment,

lack of capital, then back to low productivity apolverty.
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These diagrams are showing the vicious circleowépy.

P ey’
Low Income

Productivity
Capizal e
Deficiency Low Savings
Lows
Investment

Source: Jhingan M.L. (2007)
Fig. 2.1: The Vicious Cycle of Poverty (Supply side)

Low @
Low Income

Froductivity

Capital [ ow
Deliciency Derrand

Low
Investment

Source: Jhingan M.L. (2007)
Fig. 2.2: The Vicious Cycle of Poverty (Demand sige

2) Low rate of capital formation: A second obstacle to economic

development is the low capital formation which ssaresult of
low income level causing low savings and

55



ECO 347 DEVELOPMENT ECONOMICSI

3)

4)

(5)

56

then low investment as discussed above. Povelbptis a cause
and a consequence of a country’s low rate of cafotanation.
Capital here is both human and physical capitdlysial capital
includes all those durable goods used for prodnatxcept land
while human capital refers to investment in humamd e.g.
education, training and health care, which makeshbman a
more productive factor of production. In most deypahg
countries, the labour force consist of mostly ults#ti and
illiterate workers who use substandard and ineffititools,
equipments and machineries to work, resulting imeewely low
marginal productivity of labour.

High population growth rate: Most LDC’s have a very high
rate of population and coupled with this is alshigh rate of
illiteracy making the majority of the population skiled.
Population growth can present an advantage of sirfgbour
supply but this advantage becomes a disadvantags \ange
portion of them are unskilled and also, when the & capital
formation does not keep up with the pace of thipyteation
growth. When population growth is rapid and capamation is
not, the per capita income becomes really low, comption
declines and poverty becomes very unavoidableeifpibpulation
growth rate is not checked.

Emphasis on more capital utilisation: Developing countries,
because of their rapid population growth, havergelasupply of
labour force and with their characterised low lewélcapital
formation, the best and most forward looking apphoao
development would therefore be to employ labouensive
methods of production rather than capital intensmethods.
When emphasis is placed on capital utilisation likes done in
the developed world (because they have it in alnrelaelative
to the developing country), then our surplus labbacomes a
liability to us instead of an asset.

Agricultural constraint: The developed countries of the world
have a small percentage of its population engagekjriculture
compared to the developing countries. Despite thigy
(Developed countries) have been able to producagimfood to
meet the requirement of their citizens and alsan dareign
exchange through the use of advanced technologyheir
agricultural sector, thereby avoiding the predictmf Reverend
Thomas Malthus who said that, food was growing at a
arithmetic progression while population at geonegprogression.
Sadly however, this prediction holds true for maddC’s
especially those situated in the tropical and sapital regions
where climate conditions are unfavorable for adnice. The
environmental factors coupled with non-mechanisecing and
high population growth rate are great impediments t
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development. The result of this is a falling outpat person and
a slow economic growth. The rapid population growth
developing countries is a major obstacle to economi
development.

SELF-ASSESSMENT EXERCISE

With diagrams, explain the vicious circles of payer
3.3  Non-Economic Constraints

1) Socio-cultural constraints

The socio-cultural constraints were emphasised tk$¢ who said that
economic development has much to do with humanwenumts, social
attitudes, political conditions and historical amdent. Economic
factors e.g. Capital are necessary but not sufficieondition for

development. The traditional values, customs, fsebéthe people have
ways of affecting their development activities. titugional factors

characterised by rigid stratification of occupasiptribalism, Nepotism,
bribery, wrong attitude towards education (whererghis usually a
hunger for certification rather than knowledge)png attitude towards
work, religious dogmas (over sentimentality in they religion is

handled thereby negating any development plans) att of these
factors work together to inhibit progress by preiren the political,

economic and social institutions of an economy ramgform for the
better.

2) Nature of relationship

The relationship between the developed and thedeasloped countries
have a way of hindering development because in passs there exist a
master / slave relationship.

The developed countries which are the feudal latdte centre usually
dictate and control the development pattern whetusually to their
benefits and to the detriment of the developing ntoeis. The
consequence of this pattern of relationship is that poor countries
have been made so vulnerable and very dependeheaith countries.

3) Political instability
When a country’s political institution is immaturaere is bound to be
political crisis as this is a part of the learnpprpcess and it is usual for

problems to crop up in the learning process. Mestloping countries
are politically undeveloped and this could be seethe non-existence
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of political democratisation, promotion of rulelafv, honesty and good
leadership. No meaningful development can takeeplglcen a country
Is politically undeveloped as this gives rise tditmal instability. Apart
from the political instability posing an obstacke development, most
developing countries are faced with the problerbaxf leadership. Over
the years, most countries in the developed cowntréase continuously
had to endure under the leadership of greedy, destp corrupt and
incompetent leaders who have done nothing but tstevthe scarce
resources of these nations, causing more harmgthaah.

SELF-ASSESMET EXERCISE

List and explain two non-economic obstacles to tgpraent.
4.0 CONCLUSION

From what we have learnt so far about the obstdcldevelopment, we
can say that economic development is a completeepsowhich is

directly influenced by economic, social, culturaldministrative and
political factors. As Ragnar Nurkse, a renowrtgtbnomics Professor
rightly said, "Economic development has much to wdlith human

endowments, social attitudes, political conditiomsid historical

antecedent. Clearly, capital is necessary but miffcient condition of

progress, for of what use is capital and techncklgadvancement when
there is constant political, religious and ethmisis?

For an economy to develop, the obstacles of dewedmt which
sometimes present themselves as both causes audselif poverty
have to be tackled consciously as failure to dovsaold deepen the
effect of poverty in an economy

5.0 SUMMARY

This unit has highlighted the major obstacles tonecnic development
and these obstacles were grouped based on ecoaathiton-economic
constraints. From the unit, you have learnt thatous cycle of poverty
which is an economic constraint to developmentoiscalled because
ones the forces of poverty set in, it goes on anduntil there is a
conscious effort to break this cycle. You also m¢athat the other
economic factors are low capital formation, higlpgplation growth rate,
agricultural constraints, and emphasis on moretaapiilisation. While
the non-economic factors from what you have learet socio-cultural
constraint which talks about beliefs, culture,tatte etc. The second is
the Nature of the relationship between the develo@ad the
undeveloped countries which is usually a masterestalationship and
the finally, the third is political instability.
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6.0 TUTOR- MARKED ASSIGNMENT

1. List and explain the economic and non-econotoigstraint to
economic development.
2. Mention and explain two obstacles to develepinin Nigeria.

7.0 REFERENCES/FURTHER READING
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1.0 INTRODUCTION

The development of the advanced countries of Wasbite, the United
States, Canada and Australia is termed modern edongrowth. This

concept of modern economic growth hinges majorlytio® work of

Nobel laureate Professor Simon Kuznets who gotNbbel Prize in

economics in 1971 for his pioneering work on theasugement and
analysis of the historical growth of National Inoenm Developed

Countries. In his Nobel Memorial Lecture, Kuznetfiged economic
growth and in his definition, three distinctive gqooments of economic
growth can be highlighted. He also pointed out ttiere are six
characteristics features manifested in the growblegss of almost every
Developed Countries. These components of econonoiwty and the

six characteristics of modern economic growth wodoédexplained to
you in this unit.

2.0 OBJECTIVES

At the end of this unit, you should be able to:

. define Modern Economic growth

o list the fundamental issues raised by Kuznets sndeifinition of
modern economic growth

o outline and explain Kuznets’ six characteristics midern

economic growth.
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3.0 MAIN CONTENT

3.1  Meaning of Modern Economic Growth

In discussing modern economic growth, the piongerimork of

Professor Simon Kuznets in his “Measurement and lysma of

Historical growth of National income”, comes intactis. Analysing the
historical growth of national income of the deveddrountries, Kuznets
defined economic growth as a “long term rise inagdy to supply

increasingly diverse economic goods to its popaimtithe growing
capacity based on advancing technology and thatutishal and

ideological adjustments that it demands”. Moderar®mic growth is
in a way different from traditional economic growththe sense that it
deals with advancements as a means of increasiniprtly term supply
of different economic goods- advancements in teldgy institution

and ideology. While the traditional economic growdbals with the
increase in output without necessarily emphagisin technological
progress.

SELF-ASSESSMENT EXERCISE
What do you understand by the term Modern econgnue/th?
3.2 The Fundamental Points in Modern Economic fdwth

From the definition by Kuznets, three fundamensslues can be pin
pointed and these are:

1) Sustained increase in the supply and in theetyaof goods
which indicate economic growth and maturity.

2) Technological advancement is seen as the kelyument for
countries economic growth.

3) To benefit from this advancement in technoldipgre has to be
an institutional, attitudinal and ideological adeament.
Technological advancement will lead to economiceatigyment if
an only if positive institution, attitudinal andedlogical changes
are made. The three components of the definitioa alt
important and work hand in hand to achieve groviAalem the
definition, you can deduce that the sustainedingbe supply of
goods is the result of economic growth, and advanci
technology is identified as the engine or sourceecbnomic
growth. However, technological advancement is bpbeential,
for it is only a necessary and not a sufficient diban for
growth. If technology is to be used efficiently asffiectively for
growth, other factors like institutional and idegical
adjustments must be put in place as this wouldrerthe proper
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use of innovations/ideas generated by the advansiogk of
human knowledge.

In line with these three fundamental issues raise€uznets definition,
six characteristics of modern economic growth areerg and these
characteristics are present in almost every conbeanp development
economy.

The six characteristics are discussed below.
SELF-ASSESSMENT EXERCISE

Explain the fundamental terms in modern econonuevijt

3.3 Kuznets's Six Characteristics of Modern Econom
Growth

In his pioneering work ” the measurent and analggishe historical
growth of national incomes in developed economieKlznets
empirically identified six characteristics feautsifgresent in the growth
process of every developed nation and they are.

1 High rates of growth of per capita output and popuétion

Modern economic growth of developed countries isuallg
accompanied by high rate of increase in per capitput accompanied
by a substantial rate of population growth. Althbugpme countries
Like the United States and Canada do not have pbipol growth
accompanying their increased rate of per capitgputubut for the
majority of other countries that achieved developmior example
China, this characteristics holds true for thenmcadnh therefore be said
that the high rates of growth of per capita ougnud population implies
high rates of increase in total output

2. The rise in productivity

With modern economic growth, one is expected toeegpce a high
rate of output per unit of all inputs as a restlefficiency. Efficiency
here means that input yields more output due tdnlogical
advancement or progress and the upgrading of egigihysical and
human resources.

3. High rates of structural transformation

The rate of structural transformation of the ecopam the form of
growing sectoral shares of manufacturing industsgrvice and
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entertainment industry usually rises, while thei@dtural and rural-
based activities experience continual fall in the@ctoral shares of
national output and employment. For example the tddniStates
agricultural sector’s share of national output \&bmsost 50% in 1879 by
1950 it was less than 7%. Also, there are growththe rates of urban
industrial complexes, large business concernsppesed to small scale
enterprises and informal activities. Finally, shift several other aspects
of economic structure can be experienced (liketsimf the structure of
consumption, in the relative shares of domestic famdign supplies,
etc.).

4. High rates of social and ideological transformizon

The high rates of social and ideological transfmion, comes in the
form of changes in attitude, evolution from supéwsis beliefs to

rationality and scientific explanations of evengseater social justice
and equalisation of economic opportunities, growedgcation, literacy,
and skills development, etc. This process is thelermusation process
which signifies the moving away from traditional ygaof doing things
to a modernised approach to life which brings abdddanisation and
secularisation which are the key components of mskgtion process.

5. High rates of international economic outreach

The economically developed countries, by meanhefricreased power
of technology, particularly in transport and comication, have the
propensity to reach out to the rest of the worlgeeglly the developing
countries to source for cheap raw materials anduabfor their
industries and also market their expensive finislpedducts. This
international outreach has really gone a long waypening up the
world, making it a global village and as such drepmore development
opportunities for both the developed and the dearetpcountries. There
is therefore interdependency in the world seenha growth of trade
(specifically import of raw materials and exportrodnufactures). This
is to say that there is a growing participatiomniternational markets.

6. Limited spread of economic growth

There is limited spread of growth and developmerdrtly a third of the
world population, signifying that in spite of trentous growth in the
world economy, a lot of third world countries couldt benefit or be
carried along. Like was said about vicious cycl@aoverty, there is also
the virtuous cycle of wealth, where wealth begaaltheand even more
wealth. So the more these developed countries gitmeviore they are
likely going to keep growing (ceteris paribus).
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Sadly though, as the developed countries experiemae growth, the
less developed countries plunge deeper and desfjoepoverty and are
cut off from the whole development process thertisther promoting
the gap between the rich developed countries amgdor developing
ones. The characteristics of modern economic gr@athbe said to be
interrelated because each one links to the other ¢ontinuous circle.
Thus Kuznets economic growth can be summarisedlésnt: High
rates of per capita output growth is as a resuligh rates of labour
productivity which leads to high rates of per cambnsumption, which
will in turn lead to high rate of socio-politicalahsformation , then this
already transformed countries would be able tohtmt achieve
economic growth by having a high rate of internagio economic
outreach at the expense of the poor countries nadioout of the
development process and hence, there is limitednational economic
growth. On and on it goes in a circle as can ba sethis figure .

Hich Eate of Hizh Rate
Fer Capita -2 A
at T.abow

Oulprul L
o mlvtll Productivity

Limited

Internativral
Economic
grovith Hizh Rate of
Consmmpion
Hizh Eate of

%ﬁ?:g;lgb TransLfornal on
Fig. 2.3: The Circular Flow in Modern Economic Sysem
Source: Olajide (2004)

SELF-ASSESSMENT EXERCISE

Explain the characteristics of modern economic dgnoas given by
Kuznets.
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4.0 CONCLUSION

The basic feature of modern economic growth, as ledserved in the
more developed countries, is that the rise in @gita output or per
worker product was largely associated with extendpglication of a
growing stock of useful knowledge, in technologicadovations in their
production process, coupled with the right insimioél, attitudinal and
ideological adjustments. Their growth process iatlis the existence of
a technological backlog, which has generated aatel@ advancement.
The characteristics of modern economic growth heeeffore important
in helping the LDCs to know the growth pattern bk tdeveloped
countries, and this will enable them to have am iolethe different types
of breakthrough that can be initiated that will d@e to sustain a high
rate of growth in the LDC’s. One lesson to be ledrom the growth
process of the advanced countries is that despée technological
advancement brought about growth in these economtiese countries
achieved growth because they had the right ingtitg; attitude and
ideologies which made the advancements in techgojogld positive
results. For advancement in technology is a nepesbat not a
sufficient condition for growth. For according toodaro & Smith
(2006), “Technological innovation without concommtato social
innovation is like a light bulb without electricjtyhe potential exists but
without the complementary inputs nothing will happe

5.0 SUMMARY

In this chapter you were taught the meaning of eooa growth as
given by Simon Kuznets in his work on the measurdgraad analysis of
the historical growth of national income in deveddpeconomies. From
his definition, three distinctive components of gtle were highlighted
and then we moved on to listing and explainingsixecharacteristics of
modern economic growth as given by Kuznets.

6.0 TUTOR-MARKED ASSIGNMENT

1. Explain the circular flow of modern economiogth (Include
diagram).
2. In your opinion, why do you think Nigeria hast achieved

economic growth given the three components in Ietzn
definition of growth?
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UNIT 1 ADAM SMITH’S THEORY
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1.0 INTRODUCTION

Adam Smith, the father of Economics is regardedhas pioneer of
classical economics and in his book “An Enquiryoithe Nature and
Causes of the Wealth of Nations” published in177&used on
economic development. Although he failed to givewall defined
theory, his work was clearly constructed by latey deconomist to
formulate a development theory. Generally speakithg classical
theorists mainly focused on the ways market ecoasmunction and
their studies are mostly on the dynamics of econognowth. Apart
from Adam Smith, other classical theorists are DaRicardo and
Thomas Malthus. In this unit, the work of Adam smiin the theory of
Economic development would be treated in detail.
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2.0 OBJECTIVES
At the end of this unit, you should be able to:

explain Adam Smith’s Theory of economic development
state the growth agents and growth process of tieer}

list the weaknesses of the theory

enumerate and explain the theory’s applicabilitydeveloping
countries

o explain the main ideas surrounding the classicaomh of
development.

3.0 MAIN CONTENT
3.1 The Theory

In explaining Adam Smith’s theory of economic dephent, the
concepts of Laissez-faire, division of labour, aragbital accumulation
are important and they are discussed below.

Laissez —faire

Adam Smith’s theory is based on the principle fdaz-faire, where the
economy is free from government intervention ara ‘thvisible hand”
guides the market mechanism. According to Smitlopfeeare the best
judge when it comes to pursuing their self intexeand allowing each
individual to pursue his/her own interest, they am achieving the
aggregate interest of the society. That is to &ach person’s self-
interest leads him/her to serve the wants of Hisvieman. For example,
a food seller does not sell food because she &sarikind hearted, but
she does so because of her self- interest (prolglohg to earn a living)
and in so doing, she satisfies the wants of hetoouss leaving
everyone better off. In Smith’s opinion people dddoe left to pursue
their own interests without any interference frdma government as the
invisible hand is there to automatically regulabe tactivities of the
perfectly competitive markets in the overall insreof the whole
economy.

Division of Labour

In Adam Smith’s book (The Wealth of Nations), foauas laid on the
concept of economic growth and this growth, aceggdio Smith, is
rooted in increasinglivision of labour. According to him, it is division
of labour that results in the greatest improvemeanthe productive
power of labour. Stating further, he noted thatghmductive capacity of
labour increases as a result of improved craftshmpref workers which
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saves time and labour as there is also the invemtidarge number of
labour-saving machines.

Division of labour is brought about by the humanuna that tends to
make people want to exchange one thing for anathdrit depends on
the size of the market. So when market increasss division of labour
would increase. Productive capacity rests on thesidn of labour and
the accumulation of capital that it makes possiblevision of labour

means that people cooperate to do different woskthase works are
broken down into small parts, each undertaken tigrént workers. By

cooperating with each other, craftsmanship is ptiitte is saved more
goods are produced, people have enough to consimmeyation is

promoted, market is enlarged; income increaseslrkdese would give
rise to increase in productivity. Division of lalrdn reality can be seen
as the reason why humans form societies becausaduiman nature
compels man to constantly want to exchange ong tlinanother and
from one another as social beings. However, dimismf labour

according to smith depends on the size of the nhavké&ch depends on
the population.

Capital Accumulation

Smith viewed capital accumulation as a necessamdition for
economic development. He reasoned that the alwfitgeople to save
and invest (more) would lead to economic develogm8avings leads
to investment and with higher savings comes highgestment. In
Smith’s theory, only the capitalist and the landnewvs could afford to
save because of the investment capital or renaiod they posses, while
the labourers on the other hand are unable to bavause they earn
wages only enough for consumption i.e. subsistevage. This idea is
based on the belief of “Iron law of wage” (Thatwages tend toward a
level sufficient only to maintain a substance staddof living). Smith
noted that at any point, when total wages by warkacrease, more
labour will be supplied to the market and compatitior employment
will become tense and keener, this will therefareé wages down to its
subsistence level making the workers unable to sadethis according
to Smith is what happens in the stationary stataitiSbelieved that in
periods of rapid capital accumulation, wage rate® rabove the
subsistence level however the rate at which thesy wiill depend on the
population growth and on the rate of accumulation.

Adam Smith also described the relationship thastexbetween wage
and profit. According to him, profits fall as wagese when an
economy progresses. When the rate of capital adetion increases,
increasing competition among capitalists raises esagnd tends to
lower profits. The increasing difficulty in findinghew profitable

69



ECO 347 DEVELOPMENT ECONOMICSI

investment outlets is actually responsible for faisin profits because
the economy becomes stagnant as profit is pull@edhdo

SELF-ASSESSMENT EXERCISE
Explain the underlying concepts of Adam Smith’scitye

3.2 The Agents and Process of Growth in Adam Siins’s
Theory

The theory identifies the farmers, producers andifassmen as the
agents of economic progress. Smith noted that tinetibns of these
agents are interrelated, as the development ofvamédd lead to the
development of others. He posited that it was frade, the enterprise
nature, and competition of these three agentsléhds to development.
In the growth process, institutional, political andtional factors are
considered to remain unchanged and the growth gsaseseen by smith
as steady and continuous because one developnagd leads to the
other. Each situation grows out of the preceding @m a uniquely

determined manner with each individual agent ofwghoperforming

their own bit in the process. According to Smithe growth process is
thus cumulative. The good performance of the adftical sector,

commerce, industrial and manufacturing sectors,ldvéead to capital

accumulation, technical progress, population iasee expansion of
market, division of labour and a continuous risgiafit and hence the
wealth of the nation.

Note that all these will happen in Adam Smith’sgressive state where
institutional, political and natural factors ar&ea for granted. In reality
however, we know that there is limited supply ofunal resources and
the scarcity of this will eventually stop growthetkby leading the
economy to a stationary state which is the endagfitalism. In the
stationary state, the competition for employmenuldoeduce wages to
subsistence level and competition among businesswaund bring
profits as low as possible and investment will aldecline. The
following are experienced as a result of stationatgte: Capital
accumulation stops, population becomes stationprgfit is at the
lowest; wages are at the subsistence level; pramuend per capital
income remain stationary and then also the econeaghes stagnation.
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In figure 3.1, the horizontal axis is taken as ti(i@ and the rate of
capital accumulation

Over time dk/dt is on the vertical axis. From thagdam, the economy
is seen to grow from K to S during the time patlarnid after wards it

reaches the stationary state S where further groés not take place
because wages rise so high that profits become trese is little or no

investment, and capital accumulation stops.

SELF-ASSESSMENT EXERCISE
Explain the growth process as explained in AdamtiSstheory.
3.3 Weaknesses of the Theory

1) Erroneous notion of the role of wages and préfccording to
the theory with rise in wage, profit goes down swbnomy
stagnates and wages will fall to subsistence ldw&m what we
can see around us, we can say this is not trua foeveloped
economy as wages and profits have been known teadse
simultaneously.

2) The theory recognised technology but its imgmace was not
stressed. The theory failed to see the role of neldgy in
falsifying the stagnation stage of the classicatey.

3) In real life situation, growth process is nota®th as the theory
would have us believe. Development is never smoo#ieady.
4) It assumes the existence of a rigid divisiosafiety between the

rich capitalist and the poor labourers. In the thethe middle
class was not considered and that is not whatteirwdble in our
societies.

5) Smith’s theory focuses on the principles otdaz-faire where
there is perfect competition. This is not foundaity economy as
there is nowhere in the world where a form of fe8tm is not
imposed.

6) According to the theory, only the rich capsaland landlords
save because they have the capital to do so. Fhi®ot true
because in modern society as we have today, ther maijirce of
savings is usually from the income earners andhwtapitalists
who are always looking for opportunities to borrand invest in
one business or the other.

Despite all these criticisms, the theory can s#llcredited with having
been able to make some good points as far as grawgh economy is
concerned. For example, it emphasised on the impoet of savings to
capital accumulation; importance of division ofdab and expansion of
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markets in production. It also stressed on the mapce of balanced
growth in the process of growth.

SELF-ASSESSMENT EXERCISE

What are the criticisms of Adam Smith’s theory?

3.4 The Relevance of the Theory to the Less Devedu
Countries

The following are the applicability of the theorg the developing
countries:

1) The economies of the LDCs are characterisedofyincome,
low savings, low investment and a high propensitycénsume
(every increase in income is consumed). All thiskesathe
market remain small and hence impede the growthivigion of
labour and further expansion of market for develepin

2) Political, social and institution assumptionsderlying Smith’s
theory are not applicable in underdeveloped coestrAlso the
principle of laissez-faire cannot be effective llo@ating scarce
resources because exploitation of the masses @ithé other of
the day. So therefore for development to take placa less
developed country, government intervention is vergessary.

Despite all these, the theory can still be saithdarelevant to the less
developed countries because Smith gave some keyspibiat can help
any economy to achieve growth and examples aradbats of growth
mentioned in the model, the promotion of balancedwth in an
economy, and the emphasis laid on savings.

SELF-ASSESSMENT EXERCISE

Can Adam Smith’s theory be applicable in NigeriaveGreasons for
your answer.

3.5 Brief Summary of the Classical Theory

Adam Smith, David Ricardo, Thomas Malthus and Jstuarts Mill are
all proponents of the classical theory of developnaad their works put
together can be briefly summarised as follows.

1) Laissez-faire policy- Free market perfectly gatitive economy

devoid from any government intervention where thwisible
hand’ guides the market mechanisms.
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2) Capital is a key to economic progress- Theyesel that capital
is the key to progress and as such emphasis isolaithrger
savings as it is believed that it would bring abaatpital
accumulation.

3) Profits as an Incentive to investment-The dtatist believed
also that profits induce investment. The greater pinofit the
greater the capital accumulation and investment.

4) According to the classicalist, there is a temyefor profits to
decline when there is an increase in competitioridi@er capital
accumulation among capitalist.

5) Lastly, the classicalist all agree upon thet fdat there is a
stationary state which is the end of the processcajjital
accumulation. According to them, as profits stagtlohing, it
continues to do so until it gets to zero, popufatamnd capital
accumulation stop increasing and the wage rate getthe
subsistence level.

SELF-ASSESSMENT EXERCISE

What are the basic points raised in the classat®d of thought?

4.0 CONCLUSION

Adam Smith’s theory is built majorly on the prinlgp of laissez —faire
where there is perfect completion and people @& tio pursue their self
interest without government interference. The tieoas it that with
division of labour, productivity will be enhanceditbthis division of
labour comes about as a result of the market gils® Smith believed
that for an economy to progress there should b&atagccumulation
which he believed is brought about by savings wharh its own
promotes investment. According to him, the farmgmducers and
businessmen are the agent of progress and devetpakes a smooth
and steady pace which is cumulative as one stagks l® the other until
it gets to a stationary state where growth ceaseause wages rise so
high bringing profits to zero and thereby stoppoagital accumulation.
The theory has lots of criticisms; however, itldtihs some key points
that can guide a developing country on the patteotlopment.

5.0 SUMMARY

In this unit, the theory of development as givedam Smith’s Wealth
of a Nation was studied. We studied the theory imanain concepts,
learned about the growth agents and process, ifi@stns were listed
out, we looked at the applicability to the less eleped countries and
then we went ahead to study the general underlggsymptions of the
classical growth theory of which the Smith theoeydmg.
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6.0 TUTOR-MARKED ASSIGNMENT

1. With the aid of a diagram, explain the statignstate in Adam
Smith’s theory

2. Explain what is meant by the growth agents #rel growth
process in the theory
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1.0 INTRODUCTION

Using an historical approach, Professor Walt WhitrRestow in 1960
explained the process of growth of developed camtiThough it is not
the only historical theory on economic developmeathave, it is today
seen as a major work in that field in thé"2@ntury. Like Adam Smith,
Rostow was an advocate of free market, and in ¢k b*The stages of
economic growth” posited that all countries pas®ugh a series of
stages of development as their economies grow. teleeds that the
advanced countries at a point in time passed thrdbhgse series of
stages before they became what they are. AccotdirRpstow, there
are five stages countries pass through and theegsas linear in nature
as one stage leads to the other without a retutinetgrevious, that is to
say the stages are not cyclical. He argued thaetts¢ages follow a
logical sequence; each stage could only be readhesugh the

completion of the previous stage. Some other sthgery economists
are Fredrick List and Hilderbrand.

2.0 OBJECTIVES
At the end of this unit, you should be able to:

explain W.W. Rostow Theory of economic growth

state and explain the five stages of economic drowt

list the weaknesses of the theory

discuss the applicability and limitations of th&ea off stage in
developing countries.
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3.0 MAIN CONTENT
3.1 The Model

The theory as formulated by Walt W. Rostow in 1963 five stages
which he believed the advanced countries passedighrbefore they
got to the stage of development. According to Rastibansition from
underdevelopment to development starts from thditioamal society to
precondition for take-off, then take off stage @hen drive to maturity
and eventually to the age of high mass consumptioich is the final
stage.

The five stages are explained below.
1) The Traditional Society Stage

The traditional society stage is characterisechieyfdllowing:

Changes are actually very slow; the economy isregraas over 75%
percent of the working population is involved inrfoglture; the method
of production is crude and as such there is low gagrita output and
barter system of exchange; the people have a c@isar disposition
towards the outside world and hence their sociblthainfluence their
development; the society has a social structure ithaierarchical in
nature, mostly based on family and clan connectant finally; it is a
population that does not understand or exploiersm and technology.

2) The Pre-Conditions for Take-off Stage

Pre-condition for take-off stage is a period ohsigion geared towards
creating an enabling environment for a self sustigrowth. The
traditional society’s rigidity is broken with theedelopment of
education; an improvement of science and its agipdo to
communication, agriculture and transportation; tamergence of
entrepreneurs and a simple banking system, anceh#sing savings at
this stage. This broken down rigidity which is usuérought about by
external forces also allows for mobility of labowr take place in the
society. People become aware that economic proggssssible and as
such entrepreneurs are ready to take risks in puoduprofits to
modernisation.

According to Rostow, this stage has usually regureslical changes in
three non-industrial sectors and they are:

1) The transportation system is overhauled torgalthe market and
make productive exploration of raw materials andvaleffective
and efficient ruling of state.
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2) Agricultural sector is revolutionalised to irasse output in order
to take care of the growing urban population.

3) An expansion of imports, including capital innizoin financed by
efficient production and marketing of natural reses for
exports.

By and large, a prerequisite for the preconditiontéke-off is industrial
revolution.

3) Take-Off Stage

This stage is characterised by rapid, self-sustagr@wth where the
traditional institutions and habits do not havensdigant influence on
individuals and the society is driven more by ecoimoprocesses. At
this stage, economic growth becomes a nation’s rgkcmture and
shared goal.

According to Rostow there are three main requirdmér a country to
successfully take-off and they are:

1) A rise in the rate of productive investment fr&% or less to

over 10% of national income or net nationaldorct.
2) The development of one or more leadirgjose with a high rate
of growth

3) The existence or quick emergence of a poljtisacial and
institutional framework which exploits the impulgesexpansion
in the modern sector and the potential externalceffof the take-
off gives rise to growth as an ongoing character.

A country in the take-off stage needs (a) a lamg sufficient amount of
loanable funds for expansion of industrial sectsually gotten from
fiscal measures e.g. tax and also reinvestmentwadits earned from
foreign trade and (b) a group of innovative entegeurs in the society.
Nations at this stage depend on- existence of omaooe key sectors,
existence of an increased and sustained effecéweadd for the product
of the key sectors, introduction of new productieehnologies and
techniques in these sectors, the ability of theie$pdo increasingly
generate enough capital to complete the take-affestand the existence
of strong linkage effect of key sector(s) with otlsectors which will
constitute a strong inducement to their expansion.

4) Drive to Maturity Stage
According to Rostow, it takes approximately sixtgays to get to this

stage from the take —off staght this stage, 10-20% of national income
is steadily invest, output outstrip population, tmakeup of economy
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changes as technology improves rapidly, and nelusinies accelerate
taking the place of old ones. The society expesena structural
transformation because (1) it is less agrarianrdg about 20% of the
working population is in the agricultural sectorag@posed to over 75%
in the traditional sectors. At this stage the wdwkce is skilled and
prefer to live in the cities as against stayingha villages (2) There is
great professionalism introduced in the industassrugged and hard
working masters give way to polished and politecesht managers and
(3) Bored of what has been achieved, the peopleeager for new
things and this leads to further change.

In the drive to maturity stage there is great réidudn poverty because
the economy has the capacity to produce anythingaiits to and the
welfare of the people is expected to improve gyeatl

5) Age of High Mass Consumption

This stage has been characterised by (1) Migratianties (2) extensive
use of automobiles, durable consumer goods andremc gadgets (3)
attention shifts from supply to demand, and fronobtems of

production to problems of consumption (4) ther@asonal policy that

guarantees welfare packages for people (5) cosnatighis stage can
also pursue external power and influence. Hereplpeare comfortable
because they have enough to consume, employméuit end there is

increasing sense of security. A country experiandhese features
usually has a growth in population.

From historical facts, the first country to reatiststage is the United
States and it was attained in the 1920’'s, GreatalBriwas next and
achieved theirs in the 1930’s

SELF-ASSESSMENT EXERCISE
Briefly explain the stages in Rostow’s Theory ofelepment
3.2 Criticisms of the Stages of Economic Growth

1) Rostow’s model is historical because the emdltas known at
the outset and is derived from the historical gepgy of a
developed, bureaucratic society.

2) His model is based on American and Europeatorlyisand as
such it is based on the prevailing conditions @&sthdeveloped
countries. These conditions are however peculiathean and
therefore the theory cannot be said to be reletarthe less
developed countries of Africa and Asia.
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3) The stages cannot be properly identified asctmlitions of the
take-off and the pre-take-off stage are very sinalad overlap.

4) In Rostow’s model, he asserted that growth s automatic
by the time it reaches the maturity stage but abogr to
Kuznets, no growth is automatic because therewsys a need
for push.

5) According to Rostow, countries must start fréme traditional
society. This is not always true because some degnlike the
United States and Canada were born free of tragitisocieties
and they derived the precondition from Britain.

6) As regards the stage of high mass consumpsieame countries
enter into this stage before reaching maturity Augtralia.

SELF-ASSESSMENT EXERCISE

Discuss the shortcomings that characterised Rostostages of
economic growth.

3.3 Importance of the Take-Off Stage for a Develapg
Country like Nigeria

From the take-off stage, a developing country canugeful ideas for
industrialisation (most especially from the firgtot conditions Rostow
stated as necessary for Take-off). As for the fomtdition, which is
capital formation of over 10% of national incomége tdeveloping
countries can achieve this and so also can thendemandition which is
the development of one or more leading sectorshe dconomy be
achieved if it is adjusted to suit the conditiongitable in the particular
country because each country/nation has sectoh@jenits strength lies.
For example a country rich in large arable land Nigeria can develop
its agricultural sector for exporting of raw madériand exporting
manufactured goods using raw materials from thecalgural sector.

SELF-ASSESSMENT EXERCISE

What development lesson(s) can an underdevelopaaktrgolearn from
the take-off stage?

3.3.1 Limitations

The take-off has the following limitations as redgmrthe developing
countries.

Capital-Output ratio is not constant in developoogintries because they
are majorly into subsistence farming and given rthenchanged
technology and increasing population, their nattgaburces give rise to
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a condition of diminishing return to scale and wonstant return to
scale of the advanced countries. Take-off stagesgan assumption of
spontaneous economic development. This is not sause a take-off
can never be instantaneous.

SELF-ASSESSMENT EXERCISE

Is Take-off stage realistic in an underdevelopedntry? Give reasons
for your answer.

4.0 CONCLUSION

In 1960 W.W. Rostow using an historical approactiimed five linear
stages which countries must pass through beforedanf development.
The Model asserts that all countries exist someglaar this linear
spectrum, and climb upward through each stage éndévelopment
process. Despite its popularity, the model has loe#inised by scholars
and one of the criticisms is that it was developased on the conditions
prevailing in the developed societies and as sashno relevance to the
less developed countries of Africa and Asia. Bet tha it may, the
theory’s Take —off stage can serve as a guide t€4.h their bid to
achieve industrialisation.

5.0 SUMMARY

In this unit, you have learnt W.W. Rostow’s develfwgnt theory. The

five stages of the theory were discussed extensivet also looked at
the criticisms of the theory, the importance amaititions of the Take-
off stage (which is the Industrialisation stage) tttee developing

countries and then we concluded by agreeing thapitke the theory

being designed after the prevailing conditionshef developed countries
of Europe and America, it can be used as a guidleeinndustrialisation

process of the underdeveloped countries.

6.0 TUTOR-MARKED ASSIGNMENT

Discuss Rostow’s stages of growth and its critigism
Based on the theory, what stage do you think Nagisf? Give reason(s)
for your answer.
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1.0 INTRODUCTION

Karl Marx, a German economist and political scigntiontributed to the
theory of economic development in three respecasnaty, in broad
respect of providing an economic interpretation hagtory, in the
narrower respect of specifying the motivating fercef capitalist
development, and in the final respect of suggestmglternative-path of
planned economic development. Marx work can be seea way of
trying to explain how a society functions, why brst has unfolded, and
it especially gives us an account of the natureagitalism. While the
classicalist believed in capitalism, Karl Marx dmetother hand was
strongly against it and was bent on getting ridt@hrough revolution.
In his book ‘Das Capital’ published in 1867, Mamegicted the fall of
capitalism and movement of society toward communismvhich “the
people” (that is the workers) own the means of potidn and thus have
no need to exploit labour for profit. Clearly, thimate goal Marxists
aim at is a classless society, i.e., a society mckv all enjoy equal
wealth and power. This unit focuses on the contigims of Karl Marx
to the theory of development.

2.0 OBJECTIVES

At the end of this unit, you should be able to:

o explain Karl Marx theory of development
o state the weaknesses of the theory
o mention Karl Marx contribution to the developinguodries.
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3.0 MAIN CONTENT

3.1 The Theory

In discussing the contribution of Karl Marx to ttieeory of economic
development, the following salient points are rdjs@) Materialistic
interpretation of history (b) Surplus value and@apital Accumulation.

(@) Materialistic Interpretation of History

According to Marx, all the historical invents happd because of a
continuous economic struggle between differentsgasand groups in
the society and this is basically what the matestial interpretation of
history is all about.

Marx believed that this struggle between the ckssanajorly caused
by the conflict between the ‘mode of productiondathe ‘relations of
production’.

Mode of production refers to a particular arrangenad production in a

society that determines the entire social, politarad religious way of

living, while the relations of production relatettee class structure of a
society and he believed that every society clasgtsire is made of the
haves and have-nots.

Marx stated further that since the mode of produnctis subject to
change, a stage comes in the evolution of a sowregn the forces of
production come into clash with the society’s clssacture and the end
result is a class struggle between the propertnedthe non-propertied
or the rich capitalists and the poor workers anig #struggle will
ultimately breakdown the entire social system.

(b)  Surplus Value

In Capitalism, we have the capitalist and the woikethe system. The
workers are those who sell their labour power aalae for what it is
worth in the labour market and the capitalist & dwners of means of
production. It is assumed that when people worly #harn wages based
on the value attached to their level of producivithe extra labour that
a labourer puts in and for which he does not gat far is surplus
labour to the worker, and surplus value to thetedipt which goes into
his pocket as net profits, rent and interest, awb@ing to the theory,
the capitalist main preoccupation is to increagesitrplus value which
results in creating an increase in his profit.
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(c)  Capital Accumulation

According to Marx, the development of a capitaBsbnomy is as a
result of high capital accumulation by the capstaliThe capitalist get
their profit for capital accumulation majorly by cmeasing the
productivity of labour through reinvestment in largtock of capital
from the surplus value gotten from labour. Pradite determined by the
amount of capital and the higher the capital tlgéi the profit.

Note that the surplus value goes a long way ineiasing the capital of
the capitalist. But the rate of surplus value whehlefined as the ratio
of surplus value to variable capital (s/v) or whaan also be regarded as
the ratio of profits to wages is referred to asdbgree of exploitation.

In his work, capital is divided into constant capifc) which includes
capital invested in stocks or raw materials or pougnt which directly
assists the productivity of labour and variableitedv) which is the
capital used for the purchase of labour power & fhrm of wages or
direct subsistence. The organic composition of tehps the ratio of
constant capital to variable capital (c/v)

Karl Marx further explained that, the rate of ptofi) is an inverse
function of the organic composition of capital (OGQvhich is defined
as the ratio of constant capital to variable capitds), and a direct
function of the rate of surplus values (s/v).

Thus Marx represents profit as:
R= S = sv
ctv cv+1

This is to say that the rate of profit rises with iacrease in rate of
surplus value and reduces with the organic comiposaf capital. The

more the organic composition of capital in the eouog, the more

people are out of jobs because men have been egpbgcmachines, and
the more the capitalist embark on labour saving aaost reducing

strategies in the economy, the more labour is dtgad meaning more
people are unemployed, consumption reduces, defadiadand profits

decline (as the capitalist would not get market lia@ over produced
commodities), prices fall and the capitalist maycide to reduce
production and this will cause more people to benyloyed and so on
it goes in a circle. The circularity of this sitisat in the capitalist

economy is what Karl Marx termed the CAPITALIST (GRS.

Marx proffered a solution to this crisis which aatiag to him leads to

the oppression of the working poor and also a pe#aof the economy
by the capitalist. According to him, the solutiaSocialism, a system
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where each individual gets to contribute to natiameome according to
his abilities and receives according to his needs.

SELF-ASSESSMENT EXERCISE

Describe the capitalist crisis as explained inNfagxian theory.

3.2 Weakness of the Theory

The Marxian theory despite its acceptability by hasge followers
(some of who saw him as a Prophet) was criticisgdhib opponents.
Some of these criticisms are as follows:

1)

2)

3)

4)

5)

6)

Marx was proved to be a false prophet as degiitsountries have
over the years emerged to be richer and recordicrgasing rates
of real wages of worker compared to all the commsiustates.
Also in the capitalist state, the middle class haweertime
emerged as a dominant class instead of disappelkadiarx
stated.

Marx’s cyclical theory which he explained asitation where
capital accumulation leads to a reduction in tleenand for
consumption of goods and falling profits is wrongchuse with
economic development the share of wages in aggragabme
and the demand for consumer goods do not havdlto fa

The theory failed to see that political demagrdnas built-in
structures that keep capitalism growing strongewilt&n
structures like social security measures and ami-faws all go
a long way to preserve capitalism.

Marx was also wrong about increasing techneklgprogress
causing an expansion in the industrial reserve afnse in
unemployment). This assertion cannot be said totdially
correct because the long run effect of technoldgioagress is to
create more employment opportunity by raising agate
demand and income.

In the theory, Marx explained that as developimeacreases,
there is an increase in the organic compositiosagital which
brings about a decline in the rates of profit, butreal life,
technological innovations could be capital savingich gives
rise to a fall in the capital output ratio by makircost of
production cheaper, output increases also andtpniil increase
along with wages.

Marx theory is mainly built around the theorly surplus value
but in real world, what matters is not value bualréangible
prices. This shortcoming, gives his theory an alostrand
unrealistic edge making the understanding of thekimg of
capitalism difficult to understand.
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SELF-ASSESSMENT EXERCISE

What are the criticisms of the Marxian Theory?
3.3 Karl Marx and the Developing Countries

Despite the criticisms mentioned above, the thestill has some
important qualities and these qualities have mattebe seen today as a
relevant growth theory. For one, Marx was able twows that
development does not come smoothly like Adam Sstdked, but that it
comes in “fits and starts”, recognising that thesiBass cycles are
unavoidable. Also, he recognised the importanaeapital accumulation
to economic growth and noted that wage rates shtub@ too high or
too low in relation to total output as this can acbely affect investment.

Generally speaking, a casual observer could cordluat Marx’s theory
does not address the situations of developing cesnas his theory is
concerned mainly with the problems related with tdevelopment of
capitalism in the western world. For example, amrds the developing
countries, Marx failed to recognise the existenicpapulation pressures
in these countries, and this makes his theory naalde for most of
these overpopulated countries. However, taking csecl look at the
model, you would notice that some of the variabiesis analysis do
exist in the less developed economies. E.qg. theisigince wage level in
his model is quite common in most LDCs and becaakethis
subsistence wage, the poverty level is high, aelgpportion of the
population is extremely poor and the wealth of ¢haations is in the
hands a few. The existence of such social dualigth &nd poor class)
can and do lead to “class struggle”, where you hdigeatorship and
proletariat.

Also, Marx opinion of planned development can hbd sabe applicable
in the dualistic economy of the LDCs which conswtgapitalist sector
and a subsistence agricultural and small scal®isegith the capitalist
sector making higher economic impact. Rapid econodeivelopment
can be achieved in such an economy by recognisidgeapanding the
capitalist sector to absorb the subsistence sewtarder to increase
economic surplus through deliberate planning falustrialisation and
increase in supply of agricultural commodities teaithe expanding
demand of the capitalist sector.

SELF-ASSESSMENT EXERCISE

Is Marxian theory applicable to the less developedntries? State
reason(s) for your answer.
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4.0 CONCLUSION

Karl Marx contributed immensely to the theory of oromic

development in three ways namely, in broad respégiroviding an

economic interpretation of history, in the narrowespect of specifying
the motivating forces of capitalist development am the final respect
of suggesting an alternative path of planned econdevelopment.

According to Marx, every society's class structwansists of the
propertied and the non-propertied classes and thess struggle’
between these two groups under capitalism is thelusivalue in the
hands of the few propertied. He argued that thennam of the

capitalist is to keep increasing the surplus vadne this makes the
working class earn subsistence wage rate which sntdlem poor and
oppressed. But according to Marx, there comes @ timmen the
capitalist encounters problems because as the ddtecapital

accumulation rises, people will be displaced by imraes,

unemployment becomes the order of the day, andtaofioother

economic problems follow suit. This goes on in aclei and the
circularity of this situation in the capitalist emmy is what Karl Marx
termed the capitalist crisis. With Marx predictiohthe capitalism fall
came his solution which is a movement of the sgcigward

communism, where “the people” i.e. the workers oivea means of
production and thus have no need to exploit latf@uprofit.

Marx theory though accepted greatly by his follosydnas over time
been subjected to criticism by some scholars andngnthe criticisms
raised is that it is not suitable for the economiésthe developing
countries as he was concerned with the problemshefadvanced
capitalist states. However, despite these critisissome key points
raised by Karl Marx in his theory are still quitelevant to us and in a
way can be said to recognise some of the issuesranh in these
economies.

5.0 SUMMARY

In this unit, we discussed yet another developrieary developed by
Karl Marx. We started off by explaining the theotg. doing this, the
salient features of the theory were discussed faildeWe went further
to look at its weaknesses, its relevance to theldping countries and
then we came to the conclusion that the theorygh@een by critics as
being irrelevant to the underdeveloped countrias, dome relevance to
their growth and development process.
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6.0 TUTOR-MARKED ASSIGNMENT

Discuss the Marxian theory while taking note ofkiéy concepts
What is the relevance of this theory to a courgy Nigeria?

7.0 REFERENCES/FURTHER READING

Jhingan, M. L. (2007)The Economics of Development and Planning.
(39" ed.). Delhi:

Vrinda Publications (P) Ltd.

Olajide, O. T. (2004)Theories of Economic Development and Planning.
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1.0 INTRODUCTION

The theory of unlimited supplies of labour is ctedito the Nobel
Laureate, Sir W. Arthur who initially presented theal-sector model
which he later enumerated in his article entitle@Ecdnomic

Development with Unlimited Supplies of Labor" weitt in 1954. The
model sought to give solution to the developmembfms of over
populated agricultural economies of the develogogntries and Arthur
believes that economic development could be acti¢wough the use
of available surplus labour in the rural developmggions. By surplus
labour, he means that part of manpower which eventihdrawn from

the process of production, will bring about no fall the amount of
output.

Arthur Lewis gave some assumptions in his theong of them is the
“dual economy assumption”. This assumption hakat the economies
of the less developed countries are characterisedhé traditional,

overpopulated rural subsistence sector and the gmgghuctivity modern

urban industrial sector with low level of labouipgly. According to the
theory, by transforming surplus labour in the ruagticultural areas to
the modern urban industrial sector, development el achieved in
these less developed countries.

In this unit, the theory of unlimited supplies bhbour as given by
Arthur Lewis will be discussed.
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2.0 OBJECTIVES
At the end of this unit, you should be able to:

o explain the theory of unlimited supplies of labdoy Arthur

Lewis
o state the assumptions of the Model
o critically appraise the theory.

3.0 MAIN CONTENT
3.1 The Lewis Theory

The theory of unlimited supplies of labour by Psesier W. Arthur

Lewis is a systematic classical theory of econod&gelopment which
is based on the existence of two sectors in theaoy of developing

countries- the modern and the traditional sectdoh& modern sector is
small and uses considerable amounts of capitallewhie traditional

sector is the large labour surplus rural agricaltgector, with little

amount of capital.

The argument is that poor countries have two secitine rural

agricultural or subsistence sector and the modwetuastrial or capitalist
sector) and that the wage level in the sector withmited supply of

labour (rural sector) is at its subsistence. Initewd to that, it is also

believed that the marginal productivity of thisgus labour is zero and
as such the economy is backward. Lewis argues ithiis surplus

labour can be transferred to the sector that haddbour supplies (the
modern sector), the productivity level in the agitgral sector would

not experience any noticeable reduction but ratheconomic

development would take place because labour woaildub to good use
bringing about a chain of productive reactions.h@rtin his article on

“Economic Development with unlimited supplies dbdaur” has a model
called the dual sector- model enumerated in ittaednodel was named
in Lewis's honor. To understand the theory bettee underlining

assumptions of the model will be discussed in @ Bection.

SELF-ASSESSMENT EXERCISE

Briefly explain thetheory of unlimited supplies of labour.
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3.2 The Assumptions of the Model
The following are the assumptions of the model:

(1) Existence of dual Economy: There exist a tgztor economy
characterised by a traditional, over-populated cadparal rural
subsistence sector with zero Marginal Productivitgf
Labour(MPL), and the ‘capitalist’ sector which iBe high
productive modern industrial sector represented thg
manufacturing, mining activities.

(i)  Elasticity of Labour: According to Arthurhé supply of labour is
perfectly elastic. In other words, the supply dédar is greater
than demand for labour in the agricultural sectut therefore the
capitalist sector can have as much labour as uires| and will
continue to absorb this surplus from the agricaltwector until
there is no longer surplus labour left.

(i) Reproducible Capital: The subsistence sedimes not make use
of 'Reproducible Capital', while the modern sectmes the
produced means of capital. As a result of the neage of
reproducible capital in the subsistence sectopuiuper head is
lower than in the capitalist sector.

(iv) The model also assumes that the wages inntaaufacturing
sector are higher than those of the subsistendersaud are also
more or less fixed.

(v)  Entrepreneurs in the manufacturing sector enpkofit because
they charge a price above the fixed wage rate

(vi)  There is the willingness of the capitalistreinvest the profit in
the business and this is done in the form of figaplital.

The main people/sources from which workers wouldcbening for

employment at the subsistence wage as economidog@vent proceeds
are “the farmers, the casual workers, small scalfermal sector
participants, women in the household, and popuiagi@wth.

SELF-ASSESSMENT EXERCISE

List three assumptions of Arthur Lewis’ dual-sectmdel.
3.3 Basic Thesis of the Lewis Model

The Lewis model is a classical type model basetherassumption of a
dual sector economy which are the capitalist seatol the subsistence
sector. The subsistence sector is that part of@ognwhich does not
use reproducible capital and therefore, the oypputhead is lower than
in the capitalist sector. Also there is perfectlgséic supply of labour at
the subsistence sector in many underdeveloped resifitut not in the

91



ECO 347 DEVELOPMENT ECONOMICSI

modern sector. Lewis is of the opinion that theustdal and advanced
modern sector can be developed and made to baosintire economy,
this according to him, can be done by transfertimg surplus labour
from traditional sector to the modern sector. Fribms surplus labour
now in the modern sector, new industries will sprip and existing
ones would grow. However, the capitalist sectounes skilled labour
and this stands as a stumbling block to the devednp process as the
surplus labour from the subsistence sector arelynasiskilled. This
problem can be eliminated by providing trainingiliies to unskilled
workers. So in essence, the absence of skilledutalmothis sector is a
temporary problem which can be solved through imgin

Lewis says that the wages in industrial sector rersigghtly higher than

that of the agricultural sector. Consequently, tabwill be attracted to

the modern sector because of the higher wage inesréind as a result
of this, the capitalists will earn surplus from therease in productivity
brought about by the surplus labour transferre¢hSwrplus will be re-

invested in the modern sector leading thereby tthéu increase in the
productivity of this sector. In this way, the swpllabour or the labour
which were prey to disguised unemployment will getbe employed

into productive activities. Thus both the labouansfer and modern
sector employment growth are brought about by duggpansion in the
modern sector. The speed with which this expanstmeurs is

determined by the rate of industrial investment eapital accumulation
in the modern sector. Here is a diagrammatical aation of Lewis

Model

Y axis
A
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= M2
&
g M
<
S b NN\ - w
Pl P4 P3
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1 2 |3

Fig. 3.2: Dia jramatic %%Ur%smtion of Lewis Model

In this diagram, the horizontal axis (x) represehgs quantity of labour
employed, while the vertical axis (y) represents Wage rate/Marginal
Productivity of Labour. Also in the diagram, OS megent average
subsistence wage in the agricultural sector, andti@Acapitalist wage,
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the supply of labour is unlimited and this is sholn the horizontal
supply curves of labour AW and Sw. The analysissgtais: The
marginal productivity of labour in the industry M1P1, with Ol
labour employed , OAKLwage rate is paid from the total product of
OM;KL 4, giving the capitalist a profit of AMK. With the reinvestment
of this profit, the marginal productivity of labowf labour increases
from M,P, and then further reinvestment brings it tgRfyland so on. As
the capitalist continues to reinvestment his prdfis surplus continues
to grow.

Overtime, as the transition continues and the ahgiit continues to
reinvest surplus derived from the use of surplusols from the
subsistence sector, the capital stock increasegntrginal productivity
of workers in the manufacturing sectors will bevdrn up by capital
formation. Capital formation resulting from thiscrease in investment
leads to quicker utilisation of surplus labour. Asre labour is supplied,
the marginal productivity falls, and in the longrihe wage rates of the
agricultural and manufacturing sectors will equalsecause as workers
leave the agricultural sector for the manufactusegtor, they increase
marginal productivity and wages in agricultural teeavhile reducing
them in manufacturing. The process of modern sgdtasning growth
and employment expansion will continue till all therplus rural labour
is absorbed in the new industrial sector. Thereaédditional workers
can be withdrawn from agricultural sector only dtigher cost of lost of
food production because this will decrease thedabo land ratios. In
this way, the MPL will no more be zero and the labsupply curve will
become positively sloped along with the growth afdern sector.

SELF-ASSESSMENT EXERCISE
With the aid of a diagram, explain the Lewis model.
3.4 Criticisms of the Theory

Despite the theory’s huge success in identifyirg ttho key sectors in
the developing countries and stating how growth banachieved in
these usually over populated countries, most otltkery’s assumptions
do not fit into the institutional and economic rge$ of the Developing
countries and as such can be said to be irreleieatiiese countries.
Below are some of the flaws of the theory.

(1) The industrial real wage continues to rise @aot constant as
Lewis assumes

(i)  There is the likelihood of the capitalistimeesting in labour
saving techniques like investments in machinemesthis would
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reduce the amount of Ilabour needed causing urban

unemployment.

(i)  Lewis ignored the balanced growth betweagri@ultural sector
and industrial sector. But we know that there, tsx& linkage
between agricultural growth and industrial expansio poor
countries. If a part of profits made by capitalistsiot devoted to
agricultural sector, the process of industrial@matiwvould be
jeopardised (perhaps, due to reduced supply ofmaterial).

(iv) Lewis model underestimates the full impaottbe poor economy
of a rapidly growing population, i.e., its effeacin the capitalist
profit share, wage rates and overall employmenbdppities.

(vi) Lewis has ignored the role which the leakages day m the
economy. As Lewis assumed that all increases itfitprare
diverted into savings. It means that the savinggprofiucers is
equal to 1. But, this is unrealistic as the inceeasprofits may
accompany an increase in consumption.

(vii) Lewis assumed that the transfer of unskilled labfstam the
subsistence agricultural sector to the industeats is regarded
as almost smooth and costless. The model howeisridatake
account of the cost of educating and training ruvatkers for
urban employment and also, there is also otherrentlicost
associated with rural-urban migration. Amongst ¢hase: a lack
of sufficient housing, leading to the developmentsquatter
townships or shanty towns, pressure on socialsirnature such
as schools and hospitals, increases in diseasdodaelack of
clean water and sanitation.

SELF-ASSESSMENT EXERCISE
List and discuss five flaws in Lewis theory.
4.0 CONCLUSION

Arthur Lewis theory of economic development is eucural change
theory which explains the mechanism of changingucstire of
underdeveloped economies from the subsistencesec#br to a modern
urbanised one. According to the theory, the ecomemdf most
developing countries are made up of two key sectibies subsistence
agricultural sector and the modern capitalist gectewis is of the
opinion that economic development occurs when tapitalist gets
labour from the unlimited supply of labour in thebsistence sector,
which it uses to set up new industries and alsagmisting ones. The
capitalist gets profit from the activities of therglus labour and
according to Lewis, the capitalist reinvests thisfips and this sets off a
growth process that continues until there is n@ésrsurplus labour to
be absorbed. The theory was criticised by somelahand one major
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criticism raised is that the transition from russctor to urban sector
does not come without cost like the theory woute lis to.

However, despite the criticisms, the theory stdlgs to point us to the
reality of the existence of the overpopulated sibsice agricultural
sector and a modern capitalist sector in most wiekeloped countries.
The way we go about developing these sectors tewaeha balanced
growth in the economy (which the theory was ciséd for not doing)
was latter addressed by Fei-Ranis.

5.0 SUMMARY

In this unit, the Lewis theory of unlimited supmief labour was
discussed. We studied the model, its assumptiorss the basic
explanation of how the model works to bring abotdwgh in a two
sector economy and finally the criticisms of thedelowvere stated.

6.0 TUTOR-MARKED ASSIGNMENT

1. According to Arthur Lewis’s model, how can grémde achieved
in a dual sector economy?

2. The Lewis model can be said to be relevant ¢oettonomies of
the developing countries, True or False? Give m@$dor your
answer.
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1.0 INTRODUCTION

Achieving economic growth has been approached tigrent scholars
in their different ways with each one providing @usion to how best
they feel the vicious circles of poverty can bekiam for growth to take
place. In this unit, we would be discussing two @gfe ideas to
achieving growth and they are (a) the balanced tjraweory, which
emphasises on the simultaneous development of upplys and the
demand sides of an economy i.e. an all round graptiroach and (b)
the unbalanced growth theory which has it thatnalpallance rather than
a balance among the different sectors of the ecgnosti lead to
economic growth. In this unit, the two approachel ke studied to
enable you appreciate their opposing arguments.

2.0 OBJECTIVES

At the end of this unit, you should be able to:

. explain the balanced and unbalanced growth theories

o state the criticisms of the theories

. identify the differences between the balance antalamced
theories.
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3.0 MAIN CONTENT

3.1 The Balanced Growth Theory

There is no consensus as to the meaning of theepbraf balanced
growth. It could mean different things to differeauthors. Within the
context of our study, the theory of balanced grosthtes that there
should be simultaneous and harmonious developméntifterent
sectors of the economy so that the sectors grounison. To get the
unified growth, the development of the demand amgbly side of the
economy has to be balanced. The demand side ha® twith the
provision for large employment opportunities ancr@asing incomes so
that there will be increase in the demand for goaas services in the
economy, while the supply side emphasises on thmeul&neous
development of all the interrelated sectors whielphn increasing the
supply of goods. In sum, when there is increasedathel backed by
increase in supply of goods and services, andoaltlg and services are
sold off at the end of the day, then we can sasetigbalanced growth
in such an economy.

The theory of balanced growth was first propoundydRosenstein
Rodan in 1943, although he did not specifically tiseword “Balanced
growth” in his article written in titled, “ .... Prdédms of
Industrialisation of Eastern and South- Easterrogeff his work is still
regarded as the pioneer work which was later dpeeland elaborated
by Ragnar Nurkse in his book “Problems of Capitatrfation in the
Underdeveloped Countries”.

The doctrine of Balance growth as formulated bydRstein—Rodan and
Nurske is explained below.

According to Rosenstein —Rodan, for an economy¢éavgthe whole of
the industry to be created in eastern and soutlereaBurope should be
treated and planned like one huge firm or trust. géented out that
“Often Social Marginal Product (SMP) of an investines different
from its Private Marginal Product (PMP) and thatewha group of
industries is planned together in accordance wvgir ISMPs; the rate of
growth of the economy is greater than it would hbeen otherwise”.
This is so because an individual entrepreneur wbkddly be interested
only in the Private Marginal Product of his investihand is likely not
going to have an accurate assessment of its SM&plaining his idea,
Rodan gave an example of a shoe factory, which @mph particular
amount of workers in the region it is establishAdcording to him,
workers will create a market for shoes if all th@icome was spent on
shoes, but this is not practical as workers caspend all their income
on shoes. So therefore, if a whole series of intasstvere started which
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produce the consumption goods on which workers evepend all their
incomes on, all the industries would expand togethe

This idea of expansion of all industries was elabtext by Nurkse who
stated that the vicious circles of poverty (bothtbe demand and the
supply sides) are at work in the underdevelopedntteas and are
responsible for the retard in their economic dewelent. He reasoned
that if this circles are broken economic develophvati take place and

the only way to break these circles is by invesim@ wide range of
industries which will eventually lead to - both tieal and horizontal

integration of industries, a division of labourcammon pool of raw

materials and technical skill, an expansion ofdize of the market and
better utilisation of social and economic overhezgital. Nurkse

emphasised the need for a simultaneous investnrenpraductive

equipments and in human capital development sirgdbat it would be

a waste of resources to spend heavily on equipmérikere are no

healthy and educated people to operate them.

Nurkse advocated for a balance in the agricultun@ iadustrial sector
because according to him, they complement eachr gthd also he
advocated a balance between the domestic and thie gector for he
believed not in autarky but in international traake according to him,
export revenue is an important source of financamestic trade.

For an economy to grow therefore, Nurkse recommenitat the
different sectors of the economy should be simeltaisly developed i.e.
investment in one should not be carried out ad#teément of the other.

SELF-ASSESSMENT EXERCISE

Explain the doctrine of the balanced growth themsypropounded by R.
Nurkse.

3.2  Criticisms of the Balanced Growth Theory

The balanced growth theory has been criticiseddty éf economists
especially the unbalanced growth theorists likeeflD. Hirschman and
Hans W. Singer. Some of the criticisms they raeedgiven below.

1) Shortage of resources The theory does not address the
problems of shortage of resources because it isdbars Say’s
Law which has it that supply creates its own demdrfds is a
wrong notion because supply of goods refers toddgmaand for
factors especially capital which does not creaeown supply.
With simultaneous investment carried out in différenew
industries, there is bound to be competition in deenand for
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2)

3)

4)

5)

6)

7)

factors. In Less developed countries, Factor sugplynited and
as such, there exist a competitive rather than raptmentary
relationship between industries.

Rise in costs A simultaneous establishment of industries in an
economy will likely raise money and real costs obduction
which will in the long-run make those investmentsmomically
unprofitable in an environment characterised byd@&wate and
insufficient capital equipment, skills, cheap seurcf power,
infrastructure and other necessary resources thaildwaid
growth.

Reduction in costs According to Kindleberger, Nurkse theory
should have addressed the issue of reducing ttie cbgxisting
industries rather than starting new ones.

Beyond the capabilities of developing countries In
Hirschman'’s view, the developing countries areated because
they face a lack of resources (human and capgaltherefore it
is unrealistic for the balanced growth theory toeldeocating for
a large investment in many industries in a develgmountry

Not a growth theory. Again according to Hirschman, the
balance growth theory is not a growth theory beeaonomic
growth is supposed to be a gradual transformati@naconomy
from one stage to the next. That is to say, an @ognis
supposed to grow from infancy to maturity. But thectrine of
balanced growth involves the superimposition ofand new self
sufficient modern industrial economy upon the stagnand
equally self sufficient traditional economy.

Does not solve the problem of vicious cycle of pawg: Singer
asserted that the theory is more applicable inisglthe problem
of cyclical downswing rather than that of vicioygle of poverty
faced by underdeveloped countries.

Scarcities and bottlenecks promote growthAccording to Paul
Streeeten, going by the historical facts, it waaradtes and
bottlenecks that provided stimulus to the invergiothat
revolutionalised England’s and the world’s econosystem and
not balanced growth. He believed that scarcities lawttlenecks
promote/encourage incentives for discoveries.

SELF-ASSESSMENT EXERCISE

Identify four criticisms of the balanced growth ding.

3.3 The Concept of Unbalanced Growth

Based on the criticisms of the balanced growth rthethe theory of
unbalanced growth was propounded as a strateggw#labment to be
used by the underdeveloped countries and the piafethis theory is
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Professor Hirschman. Other economists belonginght® school of

thought are Rostow, Flemming and Singer. The poiecbehind this

theory is that for growth to take place in an ecopdhere is a need for
investment to be carried out in strategic sectérh@® economy rather
than for all the sectors to be simultaneously.

invested on. The unbalanced growth economistss&tdethe need for an
unbalanced approach to development rather thanaamdsl approach
like Nurkse and Rosenstein.

Hirschman argued that creating imbalances in tlsteay is the best
strategy for growth. Stating further, he explaitiedt owing to the lack
of availability of resources in the less developedntries, the little that
is available must be efficiently used. If investmencarried out in the
key sectors of the economy, the other sectors weauitbmatically
develop through what is known as “Linkage effect”.

By promoting growth through the investment in adieg sector, the
other sectors grow through (1) Externalities effeahd (2)
Complimentary effect which may bring about econan@ scale.
Hirschman classified investment into Social ovedcheapital (SOC) and
Direct productive activities (DPA). SOC are investits on social
infrastructure usually done by the government axeth®ple are capital
on schools, hospitals, roads etc, while DPA arestments done by the
private entrepreneur which adds to the flow of lfigaods and services,
and example is the investment in an industry. iflkestment on SOC
creates more economies and is thus called divergentes of
investment. As for the DPA, they are called coneatgservices because
they appropriate more economies than they haveette@he strategy of
unbalance growth suggests that since the undew®e@!countries
cannot pursue a simultaneous investment in both &@MDPA due to a
general lack of resources so therefore they shaddording to
Hirschman (a) unbalance the economy for overalWwginahrough SOC,
as this would stimulate investment in DPA e.g. vatmstant electricity
and good roads, there would be growth of smallesgalustries and (b)
unbalance the economy for growth with DPA as thsult press for
investment in SOC. That is to say, demand for goads transportation
system, schools and hospitals would increase witkstment in DPA.
The SOC creates external economies while the DPproppates
external economies. In the unbalanced growth matled, through the
effects of linkages that the economy will grow.
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The relationship between SOC and DPA is presemtédte production
function diagram presented.

Figure 3.3
UNBALANCED GROWTH
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Fig. 3.3: Unbalanced Growth via DPA

DPA investments are measured along the vertical amd SOC on the
horizontal axis. The curves a,b,c are isoquantswslgp various
combinations of DPA and SOC which will give the sagross national
product (GNP) at any point. As we move to a highewe, it represents
a higher GNP, so that G¥P GNP,> GNP, The curves are so drawn
that the 45 line through the origin connects the optimal peiA, B,
C) on the different curves. This line shows theahaéd growth of DPA
to SOC. The path of economic development could thgesl in two
ways (1) by expanding SOC which Hirschman calledettgpment via
excess capacity of SOC and (2) by investing in DRAich he called
development via shortage of SOC.

If the path to development is pursued via excegaaty of SOC, the
economy will follow the dotted line AA2BB2C. Wheiea economy
increases SOC from A to Al, it induces DPA untildoge is restored at
B, where the whole economy is on a higher levebwput. The higher
gross national product thus achieved induces gowvenh to increase
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SOC further from B to B2, DPA is also inducedrtorease to point C.
If on the other hand the path to development viartslge of SOC is
followed, the economy moves along the thick line 8&81C. When
DPA is increased from A to B1, then to B, and wh3PA is further
increased to C1, SOC has to move to C in ordezdtore balance.

In the unbalanced growth approach, the selectioth®fleading sector
that would make the most positive impact in thenecoy is important,
therefore the linkage effects of the leading industight to be carefully
identified. An investment may have both forwardkége and backward
linkage effects.

Backward Linkages | Leading Forward Linkages
«— Industry —

Fig. 3.4: Forward and Backward Linkags

Backward Linkages: The growth of leading industgds to the growth
of the industries that supply inputs to it. For myde growth of textile
industry would lead to the growth of cotton prodioict

Forward Linkages: The products of the leading imdless are used as
inputs for other industries. Example: Rubber asaalpct of the leading
industry can serves as input to a whole lot of oth@ustries.

Be it the SOC or DPA investment pattern used, therowill be induced
and development will be achieved but care shoultaken to invest in
the leading sector with the highest linkage pognti
SELF-ASSESSMENT EXERCISE

Explain the theory of unbalanced growth.

3.4 Criticisms of Unbalanced Growth

The followings are some of the criticisms raisecchtics of the theory:

1. No mention of obstaclesAccording to Paul Streeten, the theory
mentions the establishing of leading sectors. Wdwer fails to
mention the possible difficulties in establishingese leading

sectors. In reality, it is not easy to establisadiag industries
right at the beginning of a development programme.
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Neglect of the degree of imbalaneeHow much to imbalance
and where to imbalance are not known by the theoty
unbalanced growth. It only tells of the need to afalnce.

Lack of basic facilities ‘Unbalanced Growth Theory’ assumes
the availability of certain basic facilities in tes of necessary
raw materials, technical knowhow and developed meah
transport. However in less developed countries ethese
insufficient.

Linkages effects are not based on empirical dat Prof.
Hirschman advocated to start only those industtieg have
maximum linkages effect. But these effects are lpeded on
statistical data pertaining to the less develomaeahtries.
Unbalance is not necessaryCritics are of the opinion that
deliberately introducing imbalances in the systesmot so much
needed in the less develop countries. These imtedamre
caused on their own due technical indivisibilitydanncertain
behaviour of demand and supply forces.

SELF- ASSESSMENT EXERCISE

Critically appraise the concept of unbalanced ghowt

3.5 Balanced and Unbalanced Growth

Dissimilarities between balanced theory and unbalased theory

1)

2)

3)

The theory of balanced growth promotes the kanaous growth
of all sectors of the economy while the theory obalanced
growth, on the other hand, focuses on the growsoaie leading
sectors of the economy.

Balanced growth doctrine seeks to promote tlosvth process
through simultaneous investment across all sectursthe
economy. Unbalanced growth however, seeks to prniod
growth process through imbalances in the system.

Size of the market is the principal limitingtar according to the
balanced growth theory. But according to the unizdd growth
theory, it is decision making and entrepreneukifils

Similarities between balanced growth and unbalancedrowth

Both focus on economic growth; approaches are basedeveloping
countries; they focus on importance of investmemig finally, both
ignore the role of supply limitations.
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SELF-ASSESSMENT  EXERCISE

In tabular form, differentiate between the balargrewth and the
unbalanced growth theory.

4.0 CONCLUSION

The ways development can be achieved by underds@loountries
have beerapproached differently by development economiststone.
While some economists like Rosenstein Rodan, W. iseand R.
Nurkse reasoned that development should be apprddmhinvesting in
all the sectors of the economy thereby creatinganzed growth,
Hirschman, Singer and Fleming however are of thaiop that growth
and hence development should take an unbalancetbaabp with
investments made in leading or key sectors of tt@nemy. In the
opinion of the unbalanced growth theorist, the udeeeloped countries
lack resources (human and capital) and as suchlableiscarce
resources should not be wasted on sectors thatdwmatl be able to
move the economy forward rather resources shoul¢Hamneled to
sectors which have the greatest linkage effecteagvestment in these
sectors would generate growth in the other sed¢twmigh externalities
and complimentary effects. Despite the fact thatttieories are opposite
in nature, they have few similarities among whislthat they both lay
emphasis on investment as a means of growth. Th¢ros@rsies
between the two theories have however been ovetcked and as a
result, they no longer hold water. The truth of thmatter is that
whichever path a developing nation may want to towernal issues
such as inflation control, adverse balance of paymand also the
availability of resources (especially humans) a&irtllisposal should be
put into consideration.

5.0 SUMMARY

In this unit, we studied the Balancadd Unbalanced growth theories as
growth strategies of breaking the vicious cycle poiverty in Less
Developed Countries. We looked at their differenguanents, criticisms
and we also tried to see how different and simitey are and we
concluded by saying the growth path pursed by aldging country
should be based on what their internal conditions a

6.0 TUTOR-MARKED ASSIGNMENT
1. With the knowledge of the balanced and unbalancexvity

theories you have, give two advantages and twaldasdages of
each of the theories. In your opinion, which ofrthdo you think
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IS most suitable for a country like Nigeria? Giveason(s) for
your answer.

2. With the aid of a diagram explain the processumbalanced
growth.
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MODULE 4 SOME SELECTED ECONOMIC GROWTH
MODELS

Unit 1 Harrod-Domar Growth Model
Unit 2 The Solow Model
Unit 3 The New Endogenous Growth Theory

UNIT1 HARROD-DOMAR GROWTH MODELS
CONTENTS

1.0 Introduction
2.0 Objectives
3.0 Main Content
3.1 Harrod-Domar Models
3.2 Assumptions of the Model
3.3 The Domar Model
3.4 The Harrod Model
3.5 Criticisms of the Models
3.6 The Importance and LimitatiaidHarrod-Domar Models
to the Underdeveloped Countries
4.0 Conclusion
5.0 Summary
6.0 Tutor-Marked Assignment
7.0 References/Further Reading

1.0 INTRODUCTION

The Harrod-Domar model is an early model of ecomagnowth used in
the field of development economics to explain anneeny’s growth
rate in terms of level of saving and productiviycapital. The model
which was developed independently by Sir Roy Harewdl Evsey
Domar, started in the late 1930’s with Harrod exjyag upon the work
done by earlier theorist especially John Maynardyes. At about the
same time, Domar also came up with a closely relatedel.

The Harrod-Domar growth model is based on the espees of
advanced capitalist countries and is intereste@niowing the rate of
income growth that would bring about smooth andasnsd growth of
the economy. It assumes that funding for capitastment comes from
money that has been saved, rather than spent, hatdthe rate of
economic growth depends upon the level of this rgpvand the
productivity of investment i.e. the capital outpatio. It is believed that
investment creates income because productivitynfsaeced from the
savings invested, and eventually this brings alouincrease in capital
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stock of the nation. According to the theory, tleg ko economic growth
is expansion of investment levels in the econonmy.this unit, you
would study the theory of growth as propounded layrétd and Domar
i.e. The Harrod-Domar growth theory.

2.0 OBJECTIVES
At the end of this unit, you should be able to:

discuss the Harrod-Domar growth models

state the basic assumption underlying the models
explain the mathematical representation of the risode
list the weaknesses of the model

analyse the relevance of the model to the less lolese
countries.

3.0 MAIN CONTENT

3.1 The Harrod-Domar Models

The Harrod- Domar models attempt to analyse theiremqent of a
steady growth in the advanced economies. They waterested in
discovering the rate of income growth necessaryafemooth working
of an economy and as such, believed that investplags a key role in
the process of economic growth. Investment accgrtbnthe models is
divided into two, based on its ability to:

(a) create income, which is the demand effecheéstment and

(b) augmenting the productive capacity of the eoaoy by increasing
capital stock, this is the supply effect of investrh Expansion of
net investment would result in increase in reabme and output
in the economy and if this expansion is stoppedpnme and
employment will fall, thereby moving the economyf dhe
equilibrium path of steady growth. For net investng® grow
however, the real income is required to also grontiauously at
a rate sufficient enough to ensure capacity usgraving stock
of capital. The real income growth rate requirecehe called the
full capacity growth rate or the warranted rategawth.

SELF-ASSESSMENT EXERCISE

According to the Harrod-Domar model, what is thejanafactor
necessary for economic growth to be achieved? kExpla
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3.2 Assumptions of the Model

The following are the assumptions of the models:

1. There is an initial full employment equilibrium kelvof income

2. There is an absence of government interferencettaanodels
operate in a closed economy which has no foregptetr

3. The average propensity to save is equal to the inmarg

propensity to save and marginal propensity to seamains
constant for the period

4. There are no changes in interest rates

5. There is a fixed proportion of capital and labauthe productive
process

6. The general price level is constant i.e. nominal eral incomes
are the same

7. There is no separation between fixed and circigatapital.
They are both lumped together under capital

8. There is no depreciation of capital goods, whiah @assumed to
possess infinite life

9. The above are the assumptions of the Model. Lebusexamine

each of the models independently.
SELF-ASSESSMENT EXERCISE

List eight assumptions of the Harrod-Domar model
3.3 The Domar Model

Domar builds his model based on a self asked aquesthich goes thus
“since investment generates income on the one ot increases
productive capacity on the other, at what rate Ehmvestment increase
in order to make the increase in income equal ® iticrease in
productive capacity, so that full employment is mtained?”

In answering the question, Domar forged a link leetw aggregate
supply and aggregate demand through investmenth®msupply side,
starting from the increase in productive capa@atyual investment rate
is taken to be (1), and the annual productive cépaer dollar of newly
created capital on the average equals to (s) asddpresents the ratio
of increase in real income or output to an incraeaseapital or is the
reciprocal of the accelerator or the marginal eymttput ratio. So the
productive capacity of | dollar invested will bes Idollars per day.
However, some new investment will be at the expeokéhe old
because the new investment will bring about a caitipe, for available
factors of production and competition in the labmarket which brings
about a reduction in the old plants output andathieual increase in the
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economy i.e. the productive capacity of the econawillybe less than
I.s. This can be represented as Wherec (sigma) stands for the net
potential social average productivity of investmémyY/l). Note that
lo is less than I.s, and it is the total net potdnticrease in output of
the economy known as the sigma effect of the sugde of the
economic system. To explain the demand side, tha&san multiplier
was used. Here, the annual increase in income motelé by AY,
increase in investment ad and the propensity to sawe (alpha) is
(AS/AY).

Increase in income will therefore be 1 whichaiso the multiplier
effect 14.
1-MPC

Note that 1-MPC = MPS. Where MPC and MR§ ére marginal
propensity to consume and marginal propensity tee saspectively.
Increase in income would be equals to the multigliéa) multiplied by
the increase in investment, which iSAY =Al. /o

........................................ (1)

For full employment equilibrium level of income tme maintained
aggregate demand should be equal to aggregateysuph will bring
the equation to,

ALL O T ] Ot e e (2)

Equation (2) is the fundamental equation of the @hod

To solve the equation, divide the two sides byd amultiply by 6, we
would have,
FA 1 e o P

(3)

Equation (3) shows that to maintain full employmehée growth rate of
net autonomous investmemti{l) must be equal to the product of MPS
and capital productivityo( 6).This is the rate at which investment must

grow to ensure the usage of potential capacityrdento maintain a
steady growth rate of the economy at full employmen

SELF-ASSESSMENT EXERCISE
Succinctly analyse Domar’s model.
3.4 The Harrod Model

The Harrod model like that of Domar, examines tbsspbility of steady
growth. Harrod made efforts to show how economy ltave a steady
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growth path and if by any chance this steady grawtimterrupted, the
economy falls into disequilibrium and cumulativerdes prolong the
divergence from the ‘golden path’ which eventuadikads to either
secular deflation or secular inflation, showingtttie process of steady
growth is never smooth. Harrod developed his madelthree basic
concepts of rates of growth, and they are (1) &cgrawth, (2)
warranted growth and (3) natural growth.

(1) The actual rate of growth which is given asissgetermined by the
saving ratio indicated by s and the incrementalitakputput ratio

indicated by C. It shows a short run cyclical viwias in the rate of
growth; (2) Warranted rate of growth represented3y is taken to be
the full capacity growth rate of income in an eaoo It is the rate of
growth required for the full utilisation of a grawg stock of capital. The
warranted growth rate can therefore be said tohleegrowth rate at
which all saving is absorbed into investment. Temdnd at this growth
rate is high enough for businessmen to sell whay timave produced.
And (3) the natural growth rate represented by (G#)the rate of
advancement which the increase in population archntogical

improvements allow. This growth rate depends oniabées like

technology, population and natural resources. Ttaral growth rate is
therefore the rate required to maintain full empbeynt. If the labour
force grows at 3 percent per year, then to mairftdiremployment, the
economy’s annual growth rate must be 3 percentifaisg no growth in
productivity).

According to Harrod, Warranted growth rate Gw se#-sustaining rate
of growth and if the economy continues to grow las trate, it will

follow the equilibrium path. He asserted that ofolag run basis, the
actual growth rate (G) should be equal to warraggeavth rate (Gw).
For full employment growth realisation, actual ¢apgoods (C) must
equal required capital goods C(r) if not, the ecopowould be in

disequilibrium. Equation for full employment growBn =Gw= G.

The full employment equilibrium is difficult to amve and any
divergent would lead to disequilibrium either inrfo of secular
stagnation or inflationary conditions in an econondarrod model
presents a situation where savings is a virtue where is inflationary
gap and a vice when there is deflationary gaperetonomy.

This model therefore would enable policy makersam advanced
country to use savings adjustments to correcttiofieor deflation in the
economy.

SELF-ASSESSMENT EXERCISE

Explain briefly the three components in Harrod’sd®lo
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3.5 Ciriticisms of the Models
Some of the criticisms of the models are as foltows

Harrod -Domar model was formulated primarily to teat the
developed countries from chronic unemployment, \aad not meant for
developing countries.

Most less developed countries lack sound finanggstem and
therefore, increased saving by households does@oessarily mean
there will be greater funds available for firmstarrow for invest.

Improving capital/output ratio is difficult to a&ve in developing
countries this is

often due to a poorly educated work force. New tehpis often
inefficiently used by labour.

Increasing the savings ratio in developing coustrgenot always easy.
Majority of these developing countries have low giaal propensities
to save and low income.

Research and Development needed to improve th&atlaptput ratio is
often underfunded in developing countries.

The model fails to address the nature of unemploymaich exists in
different countries. In developed countries, theeraployment is
‘cyclical unemployment’, which is due to insufficieeffective demand;
whereas in developing countries, there is high llese ‘disguised
unemployment’ in the urban informal sector and Iruagricultural
sector.

Finally, the model failed to recognise the effecgovernment programs
on economic growth.

SELF-ASSESSMENT EXERCISE
What are the criticisms of the Harrod- Domar Model?

3.6 The Importance and Limitations of the Models to
Underdeveloped Countries

The Harrod-Domar model like we have been taught feesulated to
maintain the steady growth rate in developed eceos®mf the world
and not to address the problem of vicious cycledday the developing
countries. Be that as it may, the model could &l used to aid in
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analysing the growth process in less developed tdesn The
importance of this model to the developing coustrseexplained below.
The Harrods-Domar models are based on three pahcigncepts: the
saving function, autonomous vs. induced investmeand the
productivity of capital. These concepts were pritgadeveloped in
order to illuminate secular stagnation that wasdtening the advanced
economies in the post-war period. The models shothe rate at which
the economy must grow if it is to make full usetloé capacity created
by new investment and it gave a projection of eutput ratio of
between 2.5 and 5, this rate can also be applietksa developed
countries.

Harrod in his Second Essay on Dynamic Theory whiehtagged
“natural rate of interest”, tried to make his modebre applicable to
underdeveloped countries. He carefully elaboratedstipply side of his
fundamental equation by introducing the role oferast rate in
determining the supply of savings and the demandsévings. He
observed a significant influence between interest growth rate of
income and defined the natural rate of interest &nthe ratio of the
natural growth rate of per capita output (Pc) dreratural growth rate
of income (Gn) to the elasticity of diminishinglityi of income (e). So
we have: rn/e = Pc.Gn.

Taking the values of Pc and Gn as given, the niatata of interest
depends on the value of e which is assumed to dsethan Unity (1),
meaning that rn and e are inversely related to edlsbr. When e is
small, rn is high and vice versa.

Harrod, recognising the fact that the less develammintries have low
savings, high level of investment and chronic indka, suggests the
financing of large investments through the expamsibbank credit. But
there are no organised capital markets in such cen@s, therefore,
expansion of bank credit is the only way to finamceestments and
generate economic growth. Low savings in an undeidped country
is responsible for the low rate of growth and théstence of mass
unemployment and underemployment.

SELF-ASSESSMENT EXERCISE

Is the Harrod- Domar model important to the deviglgpcountries?
Give reason(s)

4.0 CONCLUSION

Harrod-Domar models are models developed indepéelydey Sir Roy
Harrod and Evsey Domar. The models explain econgrawth rate in
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terms of level of saving and productivity of capifBhe Harrod -Domar
growth model is based on the experiences of addaruapitalist
countries and is interested in knowing the ratencbme growth that
would bring about smooth and sustained growth ef ébonomy. The
model has it that growth depends on the quantitialodur and capital,
noting that more investment leads to capital acdatin which brings
about the growth in an economy. The model's implicafor the less
developed country is that because labour is in ssxcgupply and
physical capital is not, the LDC's do not have ®uight average
incomes to enable high rates of saving which thelehdelieves is
necessary for the accumulation of capital stocker&ftore these
countries have low rate of investment caused by $awings rate. For
economic growth to be achieved in these countrielicips geared
towards increasing investment through increasedngavshould be
pursued and also the savings can be used by polakers to correct
inflation or deflation as the case may be.

5.0 SUMMARY

In this unit, the models as propounded by Harrod Bromar were
presented. We learnt about the assumptions of tlelein their
individual ideas, we also saw the criticisms of thdel and its
relevance to the less developed countries.

6.0 TUTOR-MARKED ASSIGNMENT

1. Using the concept of the Harrod- Domar modebplar the
barriers to growth that may be faced by develogmgntries.
2. From your knowledge of the two models, whatyda think are

their similarities?
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1.0 INTRODUCTION

The Solow growth model is a neoclassical model kbpesl by

Professor Robert M. Solow. The model has thre&lsmsirces of gross
domestic product (GNP) and they are Labour (L)crease in quality
and quantity of labour through population growtld @ducation; Capital
(K) - increases in capital through saving and itwent and;

improvements in technology (A). The model is a dengrowth model

which shows how saving, population growth and tezdinprogress
affect the level of a country’'s GNP and growth dwee. Solow in

developing his model builds upon the Harrod—Domavdeh but

eliminated the assumption of fixed proportions ime tproduction
function and rather postulates a continuous proolidunction linking

output to the inputs of capita and labour whichoadmg to him are
substitutable. Solow won a Nobel Prize in 1987 Hr contribution to
the growth theory and the model stands as a basicdiation which
helps us to understand more complex growth models.

In this unit, we would study the Solow’s model, @&ssumptions, basic
ideas and the criticisms.

2.0 OBJECTIVES
At the end of this unit, you should be able to:

intelligently discuss the Solow model

state the basic assumption underlying the model
list the weaknesses of the model

explain the implications of the model.
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3.0 MAIN CONTENT
3.1 The Solow’s Model

The Solow’s modelis a simple framework designed to analyse the
proximate causes of economic growth and cross-cpuiicome
differences. The Solow model expands on the wotkatod-Domar by
adding Labour and an independent variable — Teodgyolto the growth
equation. While Harrod-Domar assumed a fixed-coeffit, constant-
returns-to-scale, the Solow’'s neoclassical growtlmdeh exhibits
diminishing returns to labour and capital sepayatid then constant
returns to both of them put together. The Solowctessical growth
model has technological progress as the residu#brfaxplaining the
growth in an economy in the long-run and this fad® determined
exogenously, that is to say, it is determined detsthe model
independent of all other factors. The model assuirmseconomies will
conditionally converge to the same level of incagneen that they have
the same rates of savings, depreciation, laboucefagrowth, and
productivity growth.

Solow began with a production function of the Cdbduglas type
which is a standard neoclassical function.

Y=K*AL Y 1)
where Y= Gross Domestic Product

K= Stock of Capital (which may include Human capaad Physical
capital) L= Labour and

A= The productivity of labour which grows at an geoous rate and
can also be called technical pragires

a is a parameter measuring the output elasticityapital , and it is less
than 1 i.e. Ox<1oro+ (1-a) = 1, indicating constant
returns to scale.

The Solow Model focuses on four variables: outpdt Capital K),
labour (), and (A) measures level of technology.

Diminishing returns to scale with respect to eagiut:a < 1 and 1a <
1, means that successive increase in K (or in &) l® smaller and
smaller increases in Y.

Technically, the same can be expressed by saymigtlhie first partial
derivative of Y (with respect to L or to K) is ptge, while the second
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is negative diminishing returns implying that atr&opoint, the amount
of new capital produced is only just enough to magefor the amount
of existing capital lost due to depreciation.

Due to the assumption of constant return to sc@RTS) of the
production function Y =f (K,L), multiplying each jput by some factor
means output changes by a multiple of that sameorfad@herefore
output and inputs increase by same amount. In quaten, anything
done to the left hand side of the equation shoeldlbne to the right
hand side. To simplify the equation so as to enabldeal with just one
argument in the production function we can dectmtltiply each side
(left and right) byy which can be said to assume any positive real
number.

We will now have:ryY = F (YK, YL) .o
(2)

To analyse the implications of the model, we canysel/L so that we
can eliminate L, this would give us: Y/L= f(K/L,l)or vy

And using the Cobb-Douglas production function aedthe per capita
form rewritten as, y= AK ¢

Where y=Y/L which is output per worker and
k =K/L which is equal capital per worker.

This gives it a per head or per worker considenatio

From equation (4), we can see that output per wodkpends on the
amount of capital per worker and this is so becabhsemore capital a
worker has to work with, the more the worker ilkgoing to produce,
ceteris paribus. According to the model, Laboucéogrows at a rate n
per year and for capital stock K to grow, the sgvimate should be
greater than depreciation. But the capital per work grows when
savings are also greater than what is needed ip egw workers with
the same amount of capital as existing workers .h&ce growth of
capital stock and capital per worker require sawimhgit at different
levels. The growth of k is known as capital deepgrand it depends on
savings [sf(k)] after allowing for capital requireto service
depreciationgk and after capital widening (amount needed to fegei
new workers with same amount of capital as existuogkers i.e. nk) .
So we have the equation as:

Ak = sf(k) - ok + nk = sfk) - § + nk
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From the model, a state will be reached where tihek0f capital is just
sufficient enough for investment (savings) and defation to offset
each other. This state is referred to as the stetatg level of capital
stock, and once this steady state is reached, rinetly of per-capita
income can come only from technical progress wiscixogenous and
un-explainable by the model. So holding technicabpess (A) constant
in our model, the steady state is said to be rehelieen output per
worker (y) and capital per worker (k) are no longeanging.

To find the steady state, we assumek = 0.
Then, sf (k*) = 6 + n) k *

Where k* represents the level of capital per woikesteady state which
is called the stable equilibrium. k* therefore regents the steady state
as can be seen in figure 4.1 Note that ones theoetp reaches the
stable equilibrium state k* and for any reasorsitrade to move away
from this state, it returns back to this state. Example, if k is lower
than k* as can be seen in the figure 4.1, wherd&*and the § + n) k
curve is below the sf (k) curve. When presentedh wiich a case, from
our equation (5), we can see this &s (1) k < sf (k) and as suchk #0
butA k > 0.There is growth in k and from the figure, ean see that the
k will tend till it gets to k*. The same reasonigges for a situation of k
being > than k*.

Q FIGURE 4.1 EQUILIBRIUM IN THE
\;/,‘\\ SOLOW GROWTH MODEL

L7 (n+d)k
7 / sf(k)
// //

K
Fig. 4.1 Equilibrium in the Solow Growth Model
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You should note that, in the above figure, the potidn curve f(k)
assumes diminishing returns to capital in the maoalad it is denoted by
the slope .

When there is an increase in savings rate whatdreg® When there is
an increase in k as a result of increase in th@ngs rate (s), the rate of
output will increase temporarily. The economy veiill later return to
the steady state growth rate, but it does so alehlevel of output per
worker (y) in each later year. The implication bistis that an increase
in (s) will not increase growth in the long-runwitll only increase the
equilibrium k* i.e. capital-output ratio increasassd output-labour ratio
(y) also does but the rate of growth does not. Meathat the increase
in ‘s’ raises equilibrium output per person but tioeg equilibrium rate of
growth.

SELF-ASSESSMENT EXERCISE

Graphically explain what happens when stable dopiuim capital per
worker k* is (1) less and (2) greater than the tzper worker k.

3.2  Assumptions of the Model

The following are some of the underlying assumgiohthe model:

1. Single good produced with a constant technolegth no
government’s presence
2. All factors of production are fully employed carthe model

assumes constant return to scale with respeabtmul and capital

3. Technical progress is an exogenous factor

4. Labour growth depends on population growth

5. Investment or growth in capital stock is finedout of national
income

6. Labour growth and technical progress are whaterchine

economic growth

7. Once the steady state is reached, the growmperetapita income
can come only from technical progress which is exogs and
un-explainable by the model. That is in the long its only
technical progress that determines growth.

8. Saving rate has no effect on the long run dgnorate per capita
but it affects the level of per capita income igasty state.

SELF-ASSESSMENT EXERCISE

List seven assumptions of the Solow’s model.
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3.3 Criticisms of the Model

The Solow model is a simple growth model whicheasrsas a building

block for most of the new growtimodel as it helps in giving an insight
into what causes growth in an economy. Howeverntbdel has been

criticised by various scholars over time and sofnd® criticisms are as

follows:

1) The model fails to take account of entrepresi@prwhich may
be the catalyst an economy needs to grow.

2) The model does not explain the why and how @thhological
progress. It assumes it to be exogenously detethand as such
IS not explained in the model. However, accordmghte model,
growth in the long-run is determined by technicadgoess, so it
means that the model does not explain the mecharttsah bring
about Long-run growth.

3) Also, because capital exhibits diminishing n@agreturns in the
production process, this prevents the model frooviding an
explanation for the wide and persistent variatiaci®ss countries
in growth rates. The new growth literature whichuywould be
taught in the next chapter, addresses these liontatof the
neoclassical model by proposing a variety of chenti@ough
which steady-state growth arises endogenously.

SELF-ASSESSMENT EXERCISE

What are the downsides of the Solow’s model?
3.4 Implications of the Model

One of the most important predictions of the nessitaal growth model
is the Convergence hypothesis. The Solow growthainpcedicts that
economies with similar rates of saving, populatignowth, and
technological progress will converge over time.

The model implies that countries with similar protion technologies
as well as comparable saving and population grovaties should
converge to similar steady —state levels of periteajncome. This
convergence property has it that poor countriesisgawith a relatively
low standard of living and a lower capital/labotioawill grow faster
during the transition as they catch up with thehrimountries, but
ultimately both groups will arrive at the same levkEper capita income.
The convergence hypothesis can help to explain wdwyntries with
similar population growth rates can converge toghme growth rates.
Then, for the long run implication of the Solow negdchanges in total
output are dependent upon changes in population tandnology
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growth. Changes in output per person are solelyemggnt upon
changes in technology, implying that technologalgress is the only
variable that improves standard of living in thendorun and that
countries with lower population growth rates exeece higher income
per person. The steady state condition informs @namy as to its
correct level of saving/investment.

However, a model that places its long-run growtregagenous factors,
has few policy implications because according tomBo(an endogenous
theorist), “In models with exogenous technical @demnd exogenous
population growth, it never really mattered wha government did.”

SELF-ASSESSMENT EXERCISE

What do you think is the implication of Solow’s nedor a country
like Nigeria?

4.0 CONCLUSION

In this unit, you were taught the Solow’s modekobnomic growth and
you were taught that the model is a well known $empeoclassical
growth model that tries to explain what causes enva growth in the
long-run. The model for which Solow won a Nobelzerfor in 1987 is a
model that serves as a foundation for understanatingr more complex
growth models. It is an extension of the Harrordsiao model which is
characterised by a stable equilibrium. The modet lsame key
assumptions, one of which is that Technical pragissan exogenous
factor explained outside the model. The model waticised for not
being able to explain how and why this technoldgpragress happens
and as such, it failed to explain the long termnecoic growth of an
economy. The model shows that economic growth easulstained only
if technological progress continues to offset dishimg returns to
investment. Without technological change, growtbpst It concludes
that there are fundamental differences between agomn growth
generated by factor accumulation and growth geeeéray technological
change, with only the latter capable of sustaigrayvth indefinitely.

5.0 SUMMARY

In this unit, the Solow’s growth model was discuks&tensively and a
graphical representation was presented. The vaassamptions were
given, and we looked at the criticisms of the moddto, the models
implication was explained to you and finally we clhuded by saying
that technological progress is the key factor nemgsfor a long run
economic growth.
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6.0 TUTOR-MARKED ASSIGNMENT

1. What are the basic features of the Solo’s ntbdel
2. How does the Solow model differ from the Hariodmar
model?
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UNIT 3  THE NEW ENDOGENOUS GROWTH THEORY
CONTENTS

1.0  Introduction
2.0  Objectives
3.0 Main Content
3.1 The Endogenous Growth Theory
3.2  Assumptions of the Model
3.3 The Lucas Model: A Human Capipproach
3.4 Romer Model of Growth: The Proilon of Knowledge
3.5 Ciriticisms of the New Endogen@rswth Theory
3.6 Implications of the Theory faetDeveloping Countries
4.0 Conclusion
5.0 Summary
6.0  Tutor-Marked Assignment
7.0 References/Further Reading

1.0 INTRODUCTION

In the previous unit, we learnt about the Solow'sdel which is an
exogenous growth model. From what we learnt in tirat, the main
variable which gives rise to the long run growthtire economy is
technological progress and it is exogenously datexdhi.e. determined
outside the model. This model was criticised fot being able to
explain the long run growth in an economy and assalt, new growth
theories which came up in the mid-1980 were designeendogenise
the variables causing long-run growth in the econohthe new growth
theorists built on the ideas of the neoclassicabtists by introducing
endogenous technical progress in the model, andgemising technical
progress, opens the possibility for continuous tedgiccumulation and
unlimited growth in per-capita income.

In studying the endogenous growth theory, we wdaddstudying the
AK model, Paul M. Romer Model and Robert E. Lucasnddel, with

an aim of exposing learners to the various slightiferent arguments
they represent.

2.0 OBJECTIVES

At end of this unit, you should be able to:

o explain the endogenous growth theory
o state the assumptions of the model
o list and explain the criticisms of the theory
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o analyse the implications of the theory for devatgpcountries
like Nigeria.

3.0 MAIN CONTENT

3.1 The Endogenous Growth Theory (“Endogenising” the
growth rate)

In the endogenous growth theory also known as tee growth
theories, two broad approaches were used to rékevxassumption of
diminishing returns to capital imposed by the nassical growth model
and the approaches are:

a) Viewing all productive inputs as some form of rejuoible
capital (human capital is also considered) and

b) Introducing spillover effects or externalities imet growth
process.

c) Productive inputs as reproducible capitalirAge growth model
along this line is the AK(Still remains the simglésrm of the
endogenous growth theory) model which results fsattinga as
1 in the cobb-Douglas production function therelmynd away
with the diminishing marginal returns assumptiontiod Solow
model studied in the previous unit. We then have:
Y=AK. oo (1)

The key property of AK endogenous-growth modelhe absence of
diminishing returns to capital. The model usesrnedr model where
output is a linear function of capital.

The capital stock (K) in this model representsraall measure of
capital comprising physical and human capital stdokhis model, the
steady-state growth rate depends positively on sdmngs rate and
negatively on the depreciation rate, neither ofakhhas any effect on
long-run growth in the Solow’'s model. In additionrea again in
contrast with the neoclassical growth model, whichdicts that poor
countries would grow faster than rich countries—Ae model implies
that poor nations whose production process is ckeniaed by the same
degree of technological sophistication as othelonat always grow at
the same rate as rich countries, regardless ohitfe level of income.

The AK model thus does nptedict convergence even if countries share

the same technology and are characterised by the pattern of saving,
a result that seems to accord well with empiriegdence.
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The model in essence proves that endogenous stéatdyis achieved if
a core or capital good is produced according tet@om-returns-to-scale
technology and without the use of no reproduciat#drs.

b) The second approach is the introduction otrenlities which
relaxes the assumption of diminishing returns fwiteé The idea
is that when a firm increases its investment initegpthis not
only increases its own production, but also thedpotion of
neighboring firms. In most models, externalitielsetéahe form of
technological advancement that is available to fafhs for
improved production process but it can also take fhrm of
public learning (human capital formation) or puldmending.

The presences of externalities can be viewed asingedhe same as
increasing return to scale in the production fuorctbut they are not the
exactly the same because sustained growth does resilt in
externalities but rather from the assumption ofstant return to scale.
An example of model developed along this reasonsnghe Romer
model.

SELF-ASSESSMENT EXERCISE

How is the assumption of diminishing returns toipmposed by the
neoclassical growth model relaxed in the endogegousth theory?

3.2 Assumptions of the Model

The following are some of the assumptions of tke®ii:

. Technological advance comes from things people.€ofiom
creation of new ideas

o The following are some of the underlying assumiarf the
endogenous theory:

o There are many firms in the market

. Knowledge or technological advancement is a noatgood

o Many individuals and firm have market power andnegrofits

from their discoveries. This arises from increasnmegurns to
scale in production that leads to imperfect contioeti

. These assumptions are required for a model to hedcan
endogenous growth model.

3.3 The Lucas Model: A Human Capital Approach

Human capital accumulation as a source of exté¢ieslhas been really
explored in recent times. Lucas provides one obi®s known attempts
to incorporate spillover effects of human capitacwamulation in a
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model. The model builds upon the idea that indiglduorkers are more
productive, regardless of their skill level, if ethworkers have more
human capital. One assumption of the model is theban capital is
accumulated through explicit production- a part tbé individuals’

working time is devoted to accumulation of skillsdaaccumulation
raises the productivity of both labour and physt=glital.

Lucas used a growth model developed by Uzawa andhtidel is based
on investment in human capital. Lucas posited thaestment on
education leads to the production of human capiaich is the key
determinant in the growth process. He identified tiypes of human
capital effects and they are the external effectsthe internal effects.

According to him, the internal effects has to dahwa situation where
the individual worker undergoing the training be@snmore productive
and the external effects which is the spilloveeetfffwhich increases the
productivity of capital of other workers in the @oony. Lucas reasoned
that the spillover effects of investment in humaapital rather than

physical capital is what is responsible for inceeas the level of

technology.

The representation of the model in equation form is

Yi=A(K) (H). H

Where

A = technical coefficient

Ki = inputs of physical capital

Hi = inputs of human capital

Yi = goods produced

H = economy’s average level of human capital

e = the strength of the external effects from humepital to each firms
productivity.

In this model, each firm faces constant returnss¢ale while the
economy has increasing returns to scale. The irmpbimplication of
the external effect captured in the model presetmged.ucas is that
under a purely competitive equilibrium its preseneads to an
underinvestment in human capital because privagntagdo not take
into account the external benefits of human capitcalmulation.

SELF-ASSESSMENT EXERCISE

Explain the Lucas model and give its representaitiorquation form
model.
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3.4 Romer Model of Growth: The Production of Krowledge

The Romer model is based on the belief that a relsesector which is
specialised in production of ideas is the key tonetnic growth. Romer
argued that ideas and not natural resources arentjer engine of
growth; he buttressed his point by using Japan.

as an example saying that Japan’s economic growthhsought about
not by natural resources (of which they have littfe but by openness
to western ideas and technology.

According to the model, the research sector inwlheman capital
along with the existing stock of knowledge and tinesv knowledge can
enter into the production process in three waysivhre:

1) A new design is used in the intermediate goseisor for the
production of a new intermediate input

2) A new design is used in the final sector alap capital and
available producer durables produce the final pcbdud finally,

3) A new design increases the total stock of keogé which
increases the productivity of human capital usehim research
sector.

The Romer model is based on certain assumptiongheydare listed
below:

a) Economic growth comes from technological change

b) Technological change is endogenous

C) Market incentives play important roles in makitechnological
changes available to the economy

d) Invention of a new design requires a speciéietbunt of human
capital

e) The aggregate supply of human capital is fixed

f) Knowledge or new design is assumed to be plrtexcludable

and retainable by the firm which invented it. Thissumption
means that the developer of an idea has monopghysrito the
use of the idea implying that the developer canrgdha price
above marginal cost for the use of his or her iddee resulting
profits provide the incentive for research and dgvaent.

0) Technology is non-rival input- Is used by onenfdoes not
prevent another from using it.

h) The new design can be used by firms and irewdifft periods
without additional costs and without reducing tredue of the
input.
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i) When firms make investments on research aneldpment and
invent a new design, there are externalities thatiternalised
by private agreements.

)] It is also assumed that the low cost of usingeaisting design
reduces the cost of creating new designs.

The model can be explained with the following tembgical production
function:

AA = F(KA, HA, A)

WhereAA = increasing technology

Ka = amount of capital invested

Ha = amount of human capital (labour) employed in aesle and
development of new design

A = existing technology

F = production function for technology.

From the model, we can see that the productiontimmchows that
technology is endogenous.

Technology increase\f\), when more human capital is employed for
research and development of new designs; If mopéatas invested in
research laboratories and equipment to invest resigd and also, when
existing technology A leads to the production ofvnechnology i.e.
AA.

Since technology is assumed to be non-rival inpotl gartially
excludable, there are positive spillover effectsemhnology which can
be used by other firms. Romer was able to showabt@atomic growth is
no longer captive to the saving ratio or to exogesntiechnology but can
indeed be directly influenced by a conscious patitinvestment in new
designs and, more generally, in knowledge-geneayatntivities. In
summary, the Romer model shows that ideas candreased through
the use physical and human capital and existingnaogy.

SELF-ASSESSMENT EXERCISE

List at least seven assumptions of the Romer model.

3.5 Criticisms of the New Enogenous Growth Thegr

The new growth theory was developed to addresm#jer shortcoming
of the neoclassical growth theory which is, explanthe cause of

growth in the model. However, the model still hissdownsides. A few
of the criticisms raised by some renowned econanaist given below.
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1) The different versions of the new growth thedrig not make
clear whether it is the physical or human caphal is the major
driving force in the models.

2) Mankiw, Romer and Weil countered the assumptibphysical
and human capital accumulation leading to perpegraivth
when they carried out their research using secgndahool
enrollment as proxy for human capital in their gsl.

SELF-ASSESSMENT EXERCISE

What are the shortfalls of the Endogenous Theory?

3.6 Implications of the Theory for Developing Contries

The new growth theory has the following policy imsptions for LDCs:

1) The theory suggests openness where new knoejlégichnology,
research and development, from development cognté@m be
gained by developing countries.

2) It also shows that the private firms have hugles to play in
investing in technology/ research and developmieut,because
the private firms cannot effectively incorporatetezralities in
their accounts, Lucas in his analysis suggeststhigatvay out is
for government to provide subsidies (for exampledncation) in
developing countries and also provide incentivedinms that
invest in research and development of new techmesdog

SELF-ASSESSMENT EXERCISE

What are the implications of the New Growth thefmy a country like
Nigeria?

4.0 CONCLUSION

The Traditional neoclassical approaches, whichibatie growth to
exogenous technological progress, are incapabéxmghining the wide
disparities in the pace of economic growth acrassties, as the key
factor that they attributed to the growth proce$saccountry is not
determined in the model. This major shortfall of timeoclassical
exogenous model brought about the birth of the “NEmdogenous
growth” approaches which explain the mechanismisfdsier economic
growth endogenously, i.e. in the model. While vasioversions of the
Endogenous model have their slightly different egetwusly
determined causes of growth, they all boil downthte fact that the
assumption of diminishing marginal returns to capdoes not hold.
Reason for this is, (a) assumption that all préslacinputs are some
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form of reproducible capital (including human capitand (b) the
introduction of spillover effects or externalitigs the growth process.
Despite the theory’s endogensing growth processag still criticised

by some scholars and one of the criticisms raisethat it failed to

differentiate properly what capital actually bringbout the long run
growth-whether it is physical or human capital. Theory’s implication

for developing country is that these countries &hguomote research
and development to obtain new ideas and also prisattor should be
given incentives to encourage them to embrace m&seand

development.

5.0 SUMMARY

In this unit, you learnt the Endogenous growth tiied ou were taught
that this theory is different from the neoclassigabwth theory you
learnt in the previous unit because the factorslthag about the long-
run growth process is explained in the model anslak it addresses the
major shortcoming of the neoclassical theory. Ftbi® unit, you got to
know the underlying assumptions of the endogenoowth theory, and
some few models that endogenised the growth pragessexplained to
you. The criticisms of the theory were listed anel nodel’s implication
for a developing country like Nigeria was made kndw you.

6.0 TUTOR-MARKED ASSIGNMENT
1. What is the key difference between the endogerand the
exogenous models?

2. How can new knowledge enter the productiongssdn Romer’s
Model?
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